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Questions 1 to 10 carry 1 mark each. Questions 11 to 15 carry 2 marks each.

For each question, four options are given. One of them is the correct answer.
Make your choics (1, 2, 3 or 4) and shade your answer (1, 2, 3 or 4) on the
Optical Answer Sheet (OAS). (20 marks)

1. Round off 314 878 to the nearest thousand

1) 314060
2) 314680
3) 314700
4y 315000

9
2. Express 2;-;5- as a decimal.

1) 2.35
2} 26
3) 29
4) 2915

3. Part of a scale is shown below. What is the most likely value of the
reading at X?

1) 8.02
2) 8.04
3) 8.2
4) 84



Which of the following fractions is the largest?

y 2
z)g
3)%
5 =

Which one of the following would be the most likely height of the
cailing of your classroom?

1 3m

2) 3cm
3) 30m
4) 30cm

Which of the following is the same as 6.07 kg?

1) 6kg7g

2) 6kg70g
3) €60kg7g
4) ©60kg70g

A3



The average of 5 numbers is 30. 4 of the numbers has a total of 96.
What is the fifth number?

1) 30
2) 44
3) 54
4) 66

The bar graph below shows the number of four types of muffins sold
by a shop in a day.

Number of
muffins sold

A B C D

Which table best represent the information in the table?

1)

3)

Muffins

Number
Sold

80

100

60

(Wil iy

100

Muffins

Number
Sold

100

80

60

(Wil@]les]h-4

80

A4

2)

Muffins

Number
Sold

60

80

100

OO >

80

4)

Muffins

Number
Sold

100

60

80

[ iiedived b

60




9. Which pair of lines in the square grid is parallel?

R

/ |\

1) AE//CD
2) AF//BC
3) AB//FE
4 ABJED

10.  The figure below shows ™ squares. What is the smallest number of
squares that must be added so that the line XY becomes a line of
symmetry?

Y

/

/

1)
2)
3)
4)

£ 7% B % T §

A5



11.

At a concenrt, the ratio 6f the number cf boys to the number
of girls is 3 : 4. The ratio of the number of children to the number of
adults is 1 : 2. What is the ratio of the number of giris to the number

of adults?

1) 2:1
2) :
3)
4)

12. In the figure below, PQRS is a rectangle. RTS is a right-angled

triangle of sides measuring 6 cm, 8 cm and 10 cm. The perimeter of
the shaded part is 56 cm. Find the area of rectangle PQRS.

10 em

1) 110 cm?
2) 160cm?
3) 210cm?
4) 320 cm?

A6



Mrs Samy travelled 10.8 km in a taxi from home to the shopping
mall. Her taxi fare was based on the charges shown below.

First km | $3.70
Every additional 500 m or part thereof $0.30

How much was her {axi fare?

1) $6.40
2) $6.70
3) $9.40
4) $9.70

In the figure below, ABCD is trapezium. AD is parallel to BC and
BC = EC. £BEC =72 and 2ADC = 65°. Find 2 ECD.

A E B
720
650

D C
1) 36°
2)  43°
3) 720
4) 79°

A7



2 ‘
Suresh used 5 of his money to buy 4 pens and 9 rulers. The cost of

2 pens was the same as that of 3 rulers. What was the greatest
number of rulers that Suresh could buy with the money he had left?

1) 15
2) 21
3) 22
4) 30

End of Booklet A
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Questions 18 to 20 carry 1 mark each. Write your answers in the spaces
provided. For questions which require units, give your answers to the units
siated. (5 marks)

16. Findthevalueof 8 x3—(6 +4)+ 2.

4
17. Find the value of 7 + 8.
Express your answer as a fraction in its simplest form.

Ans

18. A bottle contains 1.25 litres of juice. Arshad poured 400 mi of juice
from it into a glass. How many litres of juice was left in the bottle?

Ans: 4

B2 Sub-Total :




18,  The timetable bslow shows the time a bus leaves the bus interchange

for the airpori.
Bus leaves interchange Bus arrives at airport
8.20 am. 9.05 a.m.
8.40 am. 9.25 am.
8.15 am. 10.00 a.m.
8.45a.m. 10.30 a.m.

Gracie wants to catch the bus that leaves at 8.20 a.m. but she is
45 minutes late. What is the earliest time Gracie can arrive at the airport

by bus?

Ans: am.

20. Measure the length BC in the triangle below.
B

Ans: . cm

B3 Sub-Total :




Questions 21 to 30 carry 2 marks each. Show your working clearly and write
your answers in the spaces provided. For questions which require units, give
your answers in the units stated. (20 marks)

21.  Write down all the common factors of 18 and 48

Ans :

22.  Find the value of each of the expressions when k=7,

(a) If.’k-fgf

(b) k-13+2k

Ans: (a)

(b)

B4 Sub-Total ;




23.  Mr Siah had 80 wallets for sale. The graph below shows the number of
wallets he had left at the end of each day from Monday to Friday.

80 e ]
S
60 \\
v ~

Number of - N
Wallets left AN 4

40 -

o~
S
20
0
Mon Tue Wed Thu Fri

(a) On which day did Mr Siah sell the greatest number of wallets?

(b) Find the difference between the number of wallets sold on Monday
and Friday.

Ans: (a)

(b)

B5 Sub-Total :




The table below shows the amount of money Tem saved from January
to May. What was the percentage increase in his saving in May as
compared to February?

Month Jan Feb Mar April May
Amount of 54 48 50 36 60
Savings (3)

Ans: %

in the figure, ABCD is a rectangle, ECFG is a square. <ECD = 70°
Find 2y.

c Y

70°

Ans: o

B6 Sub-Total :




26. The graph below shows the number of footballs sold by 4 shops in a
week. The number of footbails sold is not shown on the scale.

Number of
footballs
sold

Name of Shop

The average number of footballs sold by the 4 shops was 40. How many
footballs did Shop Y sell?

Ans:

4
5

1 ;
r of it to bake some cookies. How much flour did he have left? Give
your answer as a fraction in kilograms.

10 . 1
27. James bought = kg of fjour. He used > kg of it to bake some cakes and

Ans: kg

B7 Sub-Total :




28.

20..

The square grid shows the positions of points A, B, C, D, E, F, G
and H.

Bl P

»° 1o Ir

He

(a) Seo Jun walked directly from point F to point B in a straight line.
In which direction did Seo Jun walk?

(b)  Min Yang stood at cne of the points facing G. After she turned
45° anti-clockwise, she faced E. At which point was Min Yang?

Ans: {a)

Ans: (b) Point :

May and Nancy have equal number of pieces of ribbon. They each have
a mix of long and short ribbons. The length of each piece of short ribbon
is 40 cm and each pieee of long rbban is 70 cm. May has 7 pieces of
short ribbon and Nancy has 18 pieces of long ribbon. The total length of
May'’s ribbons was 2.4 m Jonger than the total length of Nancy’s ribbons.
How many pieces of ribbon does May have?

Ans:

B8 Sub-Total :




30.

In the square grid, a triangle ABC has been drawn.

(2)

(b)

AC also forms one side of an isosceles triangle ACD in which

" ABC and ACD have the same area. Complete the drawing of

triangle ACD in the square grid.

in the square grid, draw a parallelogram with the same
perimeter as triangle ABC.

Label the parallelogram, P.

End of Booklet B

B9 | SubjTotal :
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Questions 1 to 5 carmry 2 marks each. Show your working clearly and wiite your
answers in the spaces provided. For questions which require units, give your answers
in the units stated. , {10 marks)

1. The graph shows the number of mobile phones sold in a shop from June to
October. The bars for the months of September and October have hot been

drawn.

Number of 120
Mabile 100
Phonss Sold 80

Oct

The average number of mobile phones sold from June to Qctober was 160.
Find the largest possible number of mobile phones sold in October given that
the number of mobile phones sold each month is a 3-digit number.

Ans:

2 Sub-Total :




1
2. A cubical tank with a square base was ?ﬂlied with water. Tap A can fill the

tank with water at a rate of 3 litres per minute. How long does it take for the
tank to be filled to the brim? Leave your answer in minutes.

Tap A

Ans: rin

3. A rectangular piece of paper ABCD is folded along AE as shown below.
LAEF = 67° Find 2x.

A B
g
-
Ay
)
-
-
“'-b
-
LY
)
-
-~
-
"1E

Ans: °

3 Sub-Total ;




2
Owen had somse fifty-cent and one-dollar coins. 7 of his coins were fifty-cents

cpins. His mother gave him 10 one-dollar coins and five-dollars’ worth of
fifty-cent coins. In the end, he had twice as many one-dollar coins as fifty-gent
coins. How many coins did Owen have at first?

At a sale, a shop was offering a 20% discount for a pair of shoes. Customers
can purchase a second pair of shoes at 50% discount. Scott paid $156 for 2
identical pairs of shoes. How much did each pair of shoes cost before the
discount?

Ans: %

4 Sub-Total




For questions 6 to 17, show your working clearly and write your answers in the
spaces provided. The number of marks available is shown in brackets [ ] at the end

of each guestion or part-question. (45 marks)

6. The figure is made up of rectangle PQTU and square QRST. UT =3y cm,

TS =12 cm.
P Q R
U 3ycm T12¢em S

The perimeter of the figure PRSU is 84 cm. Find the value of y.

Ans: [31

7. Jonathan has some lollipops and he wants to put them into boxes. When he
puts 4 lollipops into each box, he has 32 lollipops left over. When he puls 7
lollipops into each box, the last box had only 3 lollipops. How many lollipops
does Jonathan have?

Ans : (3]

5 Sub-Total ;




8. The graph below shows the number of different coloured whiteboard markers
-Mr Chen bought for his class.

Purple F
Green N
I

Yellow ;!55
S

Pyt

A

Blue
I

Red S
[

0 10 20 30 40 50 60

Number of M-rkers

(a) How many whiteboard markers did Mr Chen buy?

{b) Mr Chen gave away all his markers to 35 students in the class. Each
student received either five or six whiteboard markers from Mr Chen.
How many students received five whiteboard markers?

Ans: (a) [1]

(b) [2]

6 Sub-Total :




8. In the figure below, ABCD is a parallslogram and DEF is a triangle. ADE and .
FDB are straight lines. <FED =40° 2CDB =40° and «DCB = 83°. '

(a) Find £DFE.

Ans: (a) [3]

@ Each of the statements below is either true, false or not possible to tell
from the information given.
For each statement, put a tick { ¥ ) to indicate your answer.

Not possible to

Statement | Tme . False tell

FD = DA
DECB is a trapezium.

[2]

7 Sub-Total :




10. The graph below shows the charges of a delivery company for the
first 10 kilograms of parcels.

20
’ /
12
Delivery Charges /
(%) 8 ;
Wl /

0 2 4 6 8 10
Mass (kg)

{a) How much does the company charge for every additional kilogram of a
parcel after the first 2 kilograms?

(b) Mark wants to send a parcel with a mass of 20 kilograms. How much must
he pay for the delivery charges?

Ans : {a) [2]

(b) (2]

8 Sub-Total :




11. Chandra formed the solid shown in the figure using two puzzle piecss.

(a)  Which of the following are the two puzzle pieces?

Top View

(A) (B)

Front View Side View

© (D}

{b)  Draw the top view of the solid on the grid below. (1}

(¢)  Chandra pasted one star sticker on each square face of the solid,
How many star stickers did he use? '

Ans: (a) and [1]

Ans: (c) [1]

9 Sub-Total :




12.

Machine A and Machine B were used to print the same number of cards each.
Machine A took 60 minutes to print the cards. Machine B took 80 minutes to
print the same number of cards. The faster machine printed 8 more cards per
minute than the slower one. What was the total number of cards printed by the

two machines?

Ans: [3]

10 Sub-Total :




13. At a bakery, muffins and donuts were sold at the prices shown below.

Muffin
\LLIf
3for$6 7 for $10
1
Amy had some money. She spent 3 of her money to buy some donuts and the

remaining of her money on some muffins. She bought 54 more donuts than
muffins. How much money did Amy have at first?

Ans; [4]

11 Sub-Total ;




14.

3
Hansel and Sherman had some blue and green stickers. F of Hansel's stickers

2 3
were blue while 3 of Sherman's stickers were blue. Hansel gave P of his blue

7
stickers o Sherman. In the end, — of Sherman’s stickers were blue and Hansel

10
had 165 stickers left.
(a) How many blue stickers did Hansel give Sherman?

(b}  How many stickers did Sherman have in the end?

Ans : (a) [2]

{b). 2]

12 Sub-Total :




15. OPQRS is part of a circle of diameter 40 cm. OPQR and OQRS are semi-
circles. The area of the shaded part OQR is 420 cm? and the perimeter of the
shaded part OQR is 78 cm.

R

P

(a)  Find the area of the figure OPQRS.
{¢) Find the perimeter of the figure OPQRS.

Take 7w =3.14.

Ans: (a) 2]

(b) 2]

13 : Sub-Total :




16.

The ratio of the number of marbles Ryan had to the number of marbles Audrey
had at first was 2 : 7. After Ryan bought another 20 marbles and Audrey gave
away 80 marbles, the ratio of the number of marbles Ryan had to the number
of marbles Audrey had became 1 : 3. How many marbles did Audrey have at

first?

Ans: [4]

14 Sub-Total :




17. The figure below shows a rectangular field with a perimeter of 48 m. A
footpath cuts through the field as shown below. The footpath is tiled with#s
identical circular concréte tiles. Each tile is in contact with the ones next to if.

el RN - 48
............

qd Vv ~v
G G , vV
M\,wvv\vvv\v\v

Vo v v
QJ\V\\/\\"%VM\\/{/\V\‘VQ/ % \‘v\y\\/
Yy v v v ¥ v ¥ \7

fmma‘“wvwvv\vvv\v

{a) What is the diameter of each concrete circular tile?

(b} Find the area ofthe field not covered by the footpath.

Ans: (a) 2

(b) [3]

End of Paper 2

15 Sub-Total :




SCHOOL 3103 CHINESE SCHOOL
LEVEL : IMARY 6

SUBJECT wATH

TERM 21 SA2

FAPER 1 BO

Q5 | Q@6 | Q7 | Q8 | Q9 | Q10
1 2 3 3 4 3
Q15
3

“™T8) 0.85 |
5) 10.00
ﬁzzo) 6.9cm

Pg 1




s D
~
A C
r}
PAPER 2
Q1) 160x5 =800
800 - 180 — 120 - 150 = 350
350 - 100 = 250
Q2) 30 x30x60=254000
54000 + 4 = 13500
54000 — 13500 = 40500
40500 + 3000 = 13.5min
Q3) 44°
Q4) 70
Q5) $120
Q6) 84-12-12-12-12=36
36 +6=6cm
Q7) 32+4=36
36+3=12
(12 x4)+32=80
Q8) a) 24 +40 + 36 +48 =180
b) 30
Q9) a) 83°
b) Not possible to tell
True
Q10) a) 16-4=12
12+4=3
12+8=1.5
b) 1.5x10=15
15+ 10 =31
Q11) a) BandC

Pg2




b) 36
Q12) 10x8=80
80 x 36 = 2880
Q13) 21-15=6
54 +6=9
(9x21)-(9x15)=54
9x21=189
189 +21=9
9x30=270
270x2 =540
Q14) a) 135
b) 1350
Q15) a) 836cm?
b) 127.6cm
Q16) 60+ 80=140
140 x 7 = 980
Q17) a) 20+12=232
48 +32=1.5
b) 1.5x4=6
6x15=9
1.6x6=9
9x15=135
45x1.5=6.75
3x1.5=45
45+6.75+13.5+9=3375
1.5x6=9
1.5x10=15
9x15=135

135 — 33.75 = 101.25

Pg3
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Paper 1

Booklst A —

Questions 1 to 10 carry 1 mark each. Questions 11 fo 15 carry 2 marks each.

For each question, four options are given. One of them is the correct answer,

Make your choice {1, 2, 3 or 4). Shade the oval (1, 2, 3 or 4) on the Optical

Answer Sheet, (20 marks)

1 What is two million six hundred and four thousand in numerals?

(1) 2004600
2) 2084 000
(3) 2600400
@) 260000

2 Whatisthevalueof 78 + (19 -17)x 3 ~2 + 97

(1) 20
2y 2
(3) 108
4y 124

3 Which of the following is the likely capacity of a water bottle?

(1)  65m =
) 65ml

(3)  650ml

@) 6500 mi

- 2021 P8 Prelim Math Paper 1 Booklet A



4 A box contained a fotal of w red and yellow beads. There were 24 more yellow
beads than red beads. How many red beads were there in the box?

w
(M G-29)

@ G+29)

w24
@ o)
w24
4) )

5  Four boys shared 3 similar pizzas equally. What fraction of a pizza did each boy
get?

(1)

S
Al Wl MG W

6 Inthe number line, which number ig represented by A?

(1) 10.03
(2)  10.06
(3) 103
(4) 108
2

2021 P8 Pralim Math Paper 1 Booklet A



7 The average of three numbers is 17. When a fourth number is added, the average
of the four numbers becomes 21. What is the fourth number?

(1) 33
2) 28
(3) 51
(4) 84

8  The diagram shows three points P, Q and R on a square grid.

In which direction is R from Q7

(1) East
(2) West
(3) South-East
{4) South-West

9  Abank gives 0.5% interest per year. Mrs Ang deposits $3000 in the bank.
How much interest will she receive at the end of one year?

(1)  $150
2)  $15

3)  $1.50
4)  $0.15

2021 P6 Pralim Math Paper 1 Booklet A



10 A group of students were surveyed on their favourite sport. The table below shows
the number of students who chose each sport as their favourite sport. Each student
could only choose one sport.

Favourite Sport Number of students
Volleyball (V) 4
Badminton (B) 10

Tennis (T) 2
Soccer (8) 24

Which of the graphs shows the correct representation of the students’ favourite
sport?

@ &
8 5.

2 3

w o
st B

5 S
8 2

: 3

P =

T S T
(M (2)

5] 0

z - E

3 g

= =

2] (/3]

B bS]

& o

o D

E &=

]
T
(3) (4)
4

2021 PS Pralim Math Paper 1 Booklet A



11 The solid below was made up of four cubes joined together. Raja painted the
whole solid, including the base. Then, he separated the four cubes. What was
the total number of the faces that were painted?

1y 18
2y 19
(3) 20
@) 21

12 The figure below is made up of a semicircle and 2 squares.
The length of XY is 10 cm and the length of the larger square is 6 cm,
Find the perimeter of the figure. Give your answer in terms of 7.

-F"

6 om

P T

o e e o

-< P R

4} (5m+20)cm
2) (5m+22)em
(3) (107 +20)cm
4) {(10m+22)em

2021 P8 Pralim Math Paper 1 Booklet A



13 YiYang had 3 empty containers X, Y and Z. He poured an equal amount of water

1 1
into each of them. After that, — of X was filled with water, yy of Y was filled with water

3

2
and ~ of Z was filled with water. What was the ratio of the capacity of container X

to container Y to container Z7

(1)
(2)
3)
(4)

1:1:2
3:4:5
4:5:7
6:8:5

14 In the diagram, PQRS is a trapezium. PQ// SR. PR and Q8 are straight lines.
ZPQ8 = 27°, ZPSR = 59° and /PRS = 38°. Find ZSTR.

(1)
(2)
(3

104°
115°
121°
126°

2021 PB Prelim Math Paper 1 Booklet A



15 Sandra took three tests. She scored 60 marks in the first test. Her score increased
by 25% in the second test. In her third test, her score reduced by 20% from the
second test. How many marks did she score in {otal for the three tests?

1y 213 .
2y 210
(3) 195
@) 190
7

2021 P8 Prelim Math Paper 1 Booklet A
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Paper 1

Booklet B —
Questions 16 to 20 carry 1 mark each. Write your answers in the spaces provided. | Do notwrite
For questions which require units, give your answers in the units stated. in this space

{5 marks)

16  Find the value of 45.1 5 12.28.

Ans:

17 In the square grid, line WX is drawn. Lines WX and XY are of the same

length. XY is perpendicular to WX. Draw and label XY in the square grid.

2021 PB Prelim Math Paper 1 BooKklel B



18 Findthevalueof86+3y+5—-ywheny=7.

Ans:

Do not write in
this space

19 The figure below is made up of identical squares, Shade two more squares
so that the figure has a line of symmetry.

20 The figure below is made up of straight lines. QR is the base of
Triangle PQR. Name the height of Triangle PQR.

P o , U

Ans:

2021 P8 Prelim Math Paper 1 Booklet B




Quaestions 21 o 30 carry 2 marks each. Show your workingTlearly and write your

Do not write in
answers in the spaces provided. For questions which require units, give your | s space
answers in the units stated. (20 marks)
21 The table shows the cost of renting a bicycle.
Bicycles For Rent
First hour $7 |
Every additional % hour b4
Joseph has $20. What is the longest duration he can rent the bicycle for?

22

Ans: h
In the figure, ABC and ADE are triangles. Find Zp
B
/ p L’L
D / \
g3° \
\ z
A £ c
Ans:
. 3
2021 P6 Prelim Math Paper 1 Booklet B




23  The bar graph shows the number of coins Jimmy saved.

10

i ‘ ' i

Number of
coins

10¢  20¢ 50¢

(&) How many coins did Jimmy save?
(b) What fraction of the coins were 50¢ coins?

Ans: {a)

(b)

24  The average of 5 consecutive odd numbers is 27.
What is the smallest number?

Ans:

Do notwite in
this space

2021 P8 Prelim Math Paper 1 Booklet B



25  The solid below is made up of 11 unit cubes.

Top view

° l

/

Front view

Draw the top view and side view of the solid on the grids below.

L] * ¢ L] e - »
. - i L] ~ - -
Top View

+— Side view

* » & 1]
* * ] L3
- L i - »
* £ # »
Side View

Do nol write
in this space-

2021 P6 Prelim Math Paper 1 Booklet B



26

A rectangular piece of paper ABCD is pasted on a rectangular cardboard
WXYZ, leaving a border of width r cm around it AB = 12 cmand AD =8 cm.
The perimeter of the cardboard WXYZ is 64 cm. Find the value of r,

W - SE— ¢

Ans:

i

Do not write in
this spacs

27

The figure is made up of four squares A, B, C and D. Find the ratio pf the
area of Square A to the total area of the figure, Express your answer in the
simplest form.

Ans:

2021 P& Prelim Math Paper 1 Booklet B



28

In the figure below, ABDE is a square. ABC, BCD, DEF and AEF are
triangles. Line FGC is a straight line parallel to line AB.

2
The length of GD is z the length of BD.

Each statement below is either true, false or not possible to tell from the
information given. For each statement, put a tick (v) in the correct column.

Statement True False Not
Possible
To Tell

... | The total area of the shaded . ,
(a) | triangles ABC and DEF is equal | - ]
o the area of square ABDE.

The ratio of the area of Triangle
(b) | DEF to the area of Triangle ABC
is2:3

{

Do notwrite in
this space
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A group of students participated in a paper crane folding competition.
The table below shows the number of paper cranes each student folded in
the first round of the competition.

Number of paper cranes folded

1 2 3 4 5 6

Number of students

4 8 11 9 7 2

(a)
(b)

How many students folded more than 3 paper cranes?
Students who did not fold enough paper cranes in the first round

could not participate in the second round. 9 students could not
participate in the second round. What was the least number of
paper cranes a student had to fold in order to participate in the
second round?

Ans: {a)

Do not write in
{his space

(b)

30

The first 15 numbers of a number pattern are given below. The pattern has

633 numbers. How many “0” are there in the pattern?

Ans:

End of Paper 1
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Questions 1 to 5 carry 2 marks each. Show your working clearly and write your
—answers in the spaces provided. For questions which require units, give your
answers in the units stated. (10 marks)

1 The bar graph below represents the amount of flour Mrs Tang used from
Monday to Thursday.

1500

1200

Amount of 800
flour used

(g) 500 T - SN .- ... SO . . - E—

Monday Tuesday Wednesday Thursday

What is the average amount of flour Mrs Tang used per day?

Ans: , g

Do not write
In this space
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Do not write
2 James filled half a rectangular tank measuring 3.2 mby 1.5 mby 2.86 m __ | nthis space
with water. Find the volume of water in the tank.

Give your answer correct to the nearest cubic metre.

]

2.86m

3.2m

Ans: m?

3 Inthe figure, XY is a straight line.
Find the sumof La, £b, Lc, Ldand Le.

Ans:

2021 PG Prelim Math Paper 2



. poqct write
4 In the figure below, PQRS and QUTS are rectangles. in this space
PQ =30 cm, P8 =40 cm and QS = 50 cm.
Find the length of ST.
Q U
30 cm
P
5Q cm
R
40 cm
S ? T
Ans: cm
3

2021 P6 Prelim Math Paper 2



, | Do not write
5 The figure shows an equilateral triangle, P. | inthis space

By joining dots on the grid with straight lines, draw a rhombus with the same
perimeter as P.

o
* 1] - » » * > « » »
» » . » » - » * * » »
» * * - o
" » » . - « *
L] - » - -
» - . - » » -
. » . 3 -
» - " “ . * -
» > - % *
» L » * L - -
+ » » » *
» - . * - » -
- - * * -
* » » - ] 3 »
* » » - -
* » » - - - - » » - Ed
E s - » » - L * » » L
* »- - - » » » * « ¥ -
» » - E * 4 * » » -
. - » = 4 - * » » - "
. # * * " + * . » *
» +* » » - . 4 » » « +
+ w * » ] Y » * “ *
- 'l - - - . - - - » a
» - » * » » . L] - -
* » . * » 2 - * - * L]
- % B} ” * * » - - - 4
» . » + * + “ » - * »
» +* + » * . » * - »
. * » . . . » v * - .
- » * » » L » L] » -
» » » - » - * - » » -
- - - - - - * » L -
* # - » 4+ » ) I3 - - »
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For questions 6 to 17, show your working clearly and write youranswers in the | Do notwrite
spaces provided. The number of marks available is shown in bracket [ ] at the | ! 1is space
end of each question or part-question. For questions which require units, give
your answers in the units stated. (45 marks)

G Kumar receives the same amount of pocket money from his father every
month from March to July. He spent some of his pocket money and
saved the rest. The line graph befow shows the amount of pocket
mioney Kurrar spent from March to July.

60

40 _—
Amount /’//\ Sy _
spent | 7 NS—1
$) i ,

20

March  April May June  July

{a) Kumar saved $14 in April. How much pocket money does he
receive from his father each month?

{b) What is the percentage increase in the amount of money Kumar
saved from May to June?--

Ans: (a) [1]

2021 P6 Prelim Math Paper 2



Do not write
7 The figure is made up of two quarter circles and a rectangle overlapping | 'n this space

one another. The radius of the iargér quarter circle is the same as the
length of the rectangle. The length of the rectangle is 42 m and its

breadth is 21 m. Find the sum of the perimeters of the two shaded parts
Xand. s

21m

Y

42 m

~Ans: [3]

2021 P8 Prelim Math Paper 2



Donotwrite
8 In the figure below, ABCG is a thombus. EFG and DAF are triangles. in this space
GE = GF. ZLEGF=28°and ZABC =114° Find ZCDE.

Ans: [3]

2021 P8 Prelim Math Paper 2



Do notwrite

9 Bookshop A and Bookshop B sold erasers in packs of 5 and pens in n this space

packs of 8. The two bookshops sold a total of 1596 erasers and pens.
Bookshop A sold twice as many packs of erasers as pens while
Bookshop B sold twice as many packs of pens as erasers.

The number of pens sold in both bookshops was the same.

How many packs of erasers did both bookshops sell altogether?

/~ ERASERS \ PENS

Ans: } 13]

2021 PB6 Prelira Math Paper 2



10 Mr Tan used two different printers for a printing job. The graph below
shows the number of pages printed by Printer A in a given period of

time.
Printer A
120 + ‘ /
80
Number of
pages
printed
40
0

0 0.5 1 15 2 2.5 3
Time {mnutes)

Mr Tan started printing on both printers at 10 30. He turned off Printer B

at 10 45, Printer A was turned off at 10 48, He printed 1880 pages

altegether. Printer B printed an equal number of pages every minute.

How many pages did Printer B print in one minute?

Ans:

[3]

Do not write
in this space
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1 Do not write
11 Ben earned $2.50 for delivering a small parcel and eamed more for in this space
delivering a big parcel. He delivered 3 times as many small parcels as
big parcels and earned a total of $156.80. He eamed $53.20 less for
delivering all the big parcels than all the small parcels.
How many big parcels did Ben deliver?

Ans: [3]

10
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4 2
12 Mrs Tan bought £ @s many pears as apples and 5 as many oranges as

apples. She paid a total of $150 for all the fruits. The ratio of the
amount of money she spent on the pears to the amount she spent on
the apples was 2 : 3. The ratio of the amount of money she spent on
the pears to the amount of money she spent on the oranges was 1: 5.

Each apple cost $0.50. Find the total number of fruits Mrs Tan bought.

Ans:

Do not write
in this space

11
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| Do not write
13  Figure 1 shows two identical large semicircles and two identical small | In this space
semicircles overlapping within a square tile. The length of the square :

tite is 40 cm. The diameter of the small semicircle is 20 cm. x
1

Figure 1

(a) What is the area of the shaded parts within each tile?

{b) Figure 2 shows part of a path completely covered with such tiles.
The path is 48 m long and 40 ¢cm wide. Find the area of the
unshaded path.

Take 1t = 3.14.

Ansi(a) (1]

(b) (3l

12
2021 P8 Prelim Math Paper 2



—_ ' Do not write
14  Jane folded two comers of a triangular piece of paper as shown inthe | n this space
figure below.
83°
YK \130°
%
86°
(&) Find Zx.
(b)  Find L.
Ans: {a) __ {2]
(b [3]
13
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15 Al a paint shop, there were some identical pails. 60% of the pails were

1
completely filled with paint. 32% of the pails were 3 filled with paint.

The remaining 20 pails were empty. The total amount of paint in the
apaiis was 1590 L

(&) How many pails were completely filled with paint?
(b} What was the amount of paint in one full pail?

Ans: {(a)

(b)

| Do nol write
{ in this space

(2]

(2]

14
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Do not write
16  Roger took part in a shoofiig game. He had to collect points by j in this space
shooting gold and silver stars. He scored 8 points for each gold star ‘
shot and 3 points for each silver star shot.
At the end of the game, he scored 730 points less from shooting silver
stars than gold stars. Roger shot 35 fewer silver stars than goid stars.
How many stars did Roger shoot altogether?

1 Gold 1 Silver

)% ¢ )i g

8 points | 3 points

Ans: [5]

15
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Do not wiite

17  Keh had 2 boxes of beads. Box A had 60 more beads than Box B at in this space
1
first. Ken then moved :E of the beads from Box A to Box B.

2 .
Next, he moved r of the beads from Box B back into Box A,

Ken then added another 87 beads to Box A. In the end, the number of
beads in Box A was twice the number it contained at first.

(a) How many beads from Box B were moved back into Box A?
(b) How many beads were there in Box A in the end?

Ans: (a) [3]:
(b) [2]
END OF PAPER

'CHECK YOUR WORK CAREFULLY !
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Questions 1 o & cany 2 marks each. Show your working clearly and write your

answers in the spaces provided, For quastions which require unils, give your
answers in the units stated.

{10 marks)
1 The bar graph below represents the amount of flour Mrs Tang used from
Monday to Thursday.
1506

1200

Amount of 900 .
fiour used

; o)

600 |[—f

Monday - Tuesday Wodnesday Thursday

1% 1350 1200 §75

What is tha'qyerage amount of Rour Mrs Tang used per day?
Total = 475+(350+(200 1825
= 4360
by - 4350 5%
= 10875

Ans: 10815 q’

PUR—

B s i T 1 T e

2021 PS Prolim Math Paper 2

iy
2 Jame(ﬁiied halla rectangular tank measuring 3.2 mby 1.5 m by 2.88m

with walér. Find the f water in the tank,
Give your answer{coirect 1o the nearas miatre. »

&

M
~%| 286 m

- Ut not writs
 thit apacs

3 Inthe figure, XY i a straight ling,
Find the sumof <a, £b, ~¢, ~dand Le.
Q0. Ant AP
1Y & -
180" 4180
X m’; 1 ¥ 33&; O"‘ )
e 3000 V4G
= 157
3 . -~
L. SQum =180+ 215

= 395"

e 345

2021 P Prelim Math Papar 2
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4 in the figure below, PQRS and QUTS are rectangles.
P = 30 om, PS5 = 40 cm and QS = 50 em.

Find the length of ST.
Q U
30em
=)
50 em

R

40 cm

b 7 T
s

ABES

= 1200
8T = (200550

14

it

USSR RV—

}i‘f\fajre'
oo
Afult Ak

= AQRS

cm

2021 P8 Prefitn Malh Paper

Do notwrita
i this space

T

5 The figure shows an equilateral triangle, P.

By joining dots on the grid with straight lines, draw “mombus with the sama
perimster as P.

- ¥ y
PN
» Kl » -
x * .
»
- . »
» .
* .
.
- B + 1 - *
.
. - .
- - -

+ .
. ‘ .
v
B
.
.
3
“ . . » *
» .
N *
. .
. a
* ¥ ]
. * . .
. .
.
.
. 0
.
. ”
,
+ .
- -
" * . +
* .
-
* - *

1

TVl i.agml 5ok
' R

2

e

Do not write
in Ihig space

s ¥
> L

U

4
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Forquestions 6 1o 17, show your working cleady and wiite your ahiswers in the i
spaces provided. The number of marks avallabig is shown in bracket [ ] at the |
ond of aach question or part-question. For questions which require units, give
YOUr answers in the uniis stated, {45 marks)}

¥

6 Kumnar recetves the same amount of packet money from his father every

: month fram March to July. He'spent 30@%{_&2&_&*;&&21{5&[1&)(_55@ ‘
saved the rast. The line graph below shows the amount of pockel
mioney Kumar spent from March to July, :

50

40 -
Amount N

£y N
20 -

He
15 %
T ¥
{i.v
¥ G

March  Apnil May June July
24 3k o 28 32

(8} Kumar saved $14 in April. How much pocket money doas he
from His father each month?

I ;
b}  Whatis th@gﬂmﬁ the amounlt of money Kumar ‘
m Maz to June?

Soved + Sfenéa - Pocot B
4+ 36 = 50 (&)

M Co0)e)

Soved =50~ Y

=10
Ans: {;
jum ) \{\ 9310 s: {a)

£50

Soved = 50 -28 7 =g
=22

Do not wotite:
1 LS S1pCe

(&) (20 ?"’ {2]

A 1T 000 120 (b
R - QOLL)

7 The figure is ado up of two quartet circles and o reciangle ovarlapping
sne another. The radius of the larger quatier circle i the same as the
length of the rectanglo. The length of thg reglangle is 42 m and it
braadth is 21 m. Find the sum of the'Perimetersif the two shaded parts

42m

/{Lff’“") 3

Ansg:

Lo ot write

¥ g spce

x5 st 7ot 4 v e S S e BRI T BRSSP 8 g
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o T — B et weile : | Dot wite
8 In tha figure below,s a rhombus. EFG and DAF are triangles. in this space g Bookshop A and Bookshop B sold erasers In packs of & and pens in g i this space
GE s GF. ZEGF = 28° and £ABC = 114°, Find < CDE. packs of 8. The two bookshops $old 3 folal of 1586 erasers and pens.

Bookshop A sold twice as many packs of erasers as pens while
Bookshop B sold twice as many packs of pans as erasers.
The number of pens sold in both bookshops was the same.

QU ¥ Lb _ How many packs of erasers did both bookshops self altogether?
fgU—- =

- ERASERS / Pens )\
bl =33 ~ v

’ K N
SHoP A
e e 0 L E P

@v}\a gl:llu

bod

g
Total 10w |(Bu) i T Ko i(ibe
CJalwt b = ® VAU

2 : “7\L/
4
0p 1

bp = 57p

20p41bp + 5P+
ST
-39 55T = 2%

1 @ﬁ 2€% 25 =700 W(@Vdél&rg)
Ans: t 3] F ’ O
PO\ C/ké = WIOO '; b - !L‘O Ans: L}L 3]
7 R : |
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10 Mr Tan used two different printers for a printing job. The graph below
shows the number of pages printed by Printer A in a given period of

time.

T4
Printer A 32{) !

120
Te$)

20

80
Number of to
pages &0 ,
rinted
i’ 40 i

24

20

0
6 05 (j) 15 2 25 3

Time {minutes)

Mr Tan started printing on both printers at 10 30. He tmed off Printer B

at 10 45. Printer A was tumed off al 10 48, He printed 1880 pagas
altogether, Printer B printed an equal number of pages every minute,
How many pages did Printer B print in ong minute?

inteC B |
=" 40 <
: I (52 e B -
, t&ﬁ‘ﬂn = 40)‘1{ g B ’? }O E
1030 mg% » SAL

% Prtes & 1
S 1%0’72{51
: =170 ,
- W05

i f"‘l‘iﬁ et

Angs .’_Z g

)

1 Do notwiits

i this space

| i‘m{/}

N%
4}»0@5165

i
§

Totah
(340

f:chZS»

11 Ben eama&&fﬁt@r delivering a_small parcel and earmed @f

{3}

2021 P8 Prefim Math Papoe 2

et Valng,
4

1 Tio 5ot werilny
in this spaco

delivering a big parcel. He delivered 3 times gm{gm%wi =3 @-h,&

blg parcels and eamed a fotal of $156.80, He eamed $53,20/1ess for Val

“Tafivering all the big parcels than all the smali parcels. =3 alug
How many big parcels dig Ban deliver? ]  octed

: "gi‘fai Valug

$15(-80

& 0) tu

$ wahd v #5320

Qb‘l = 165..8’0,,63?/{)
= 0369

- la = 103607 2 7
Cmetd = S804+ 6320 = 105
R 3 é;:;{ i} .»633 y
,.&fq:&ﬁ doda ¢ lu |
(Wi 2050 1 2050t p

Tofal 0 T h0u | 260U +lup!
: T {
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8 gpp s arangee as
apples. She pakt a total of 150 for ol the frults—The r&%o of the
amount of money she spent on the pears to the amount she spent on
the apples was 2 : 3. The ratic of the amount of money she spent on
the pears to the amount of money she spent on the oranges was 1 : 5,
Each apple cost $0.50. Find the total number of fruits Mrs Tan bought,

ﬁ%t olut,
O

4

b -

=L \)“")m =

)
N

P A

0
&hﬁ: Ly by 2y

Uwdk Voled 504

(ofal Valug 2{) | ”? G“‘}

$ }O? |
5 =0
430

(5p =

lp =415

2, qxoxiﬁ
C Ppp

‘ Ans: {4

Do not write
in ihis epace

I ]
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13 Figure 1 shows bwo identical large semicircies and two identical small
semicircles overdapping within a square e, The length of the square
tile is 40 cm. The diametar of the small semicirole is 20 em.

f =)

Big . m@.ié b=2Q
D=0 R=20
Ty e xR

= 5oy 20% LO

{aj  Whatis tha@y)f the shaded parts within each tie?

{b} Figure 2 shows part of a path-complately covered with such tiles.

The path is 48 m long and 40 crmowide, Find the araz of the

unshaded path, %

Take 70 = 3.14. 4@ ‘r@‘m el

Figqure 2

& 206w
choded = AL =22 LTiemn” 2

4
et 2}? " | RECT
= O
(nchacted * g00 -1 = 329
QO C{v;t - Rﬁ(,/‘&"
L 80PT2Y

f—»f KOOW’) =

49 ™

Ans: (&)

pLAN: BIG cirele
oot ez

Do nol wiie
in 3his space

R=r10

o xto= 2y

CireAg
=(256-314

=9 *2/(5)

240% 229+ 729 o 5
l (b} PI%GH@OW‘

. 12
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Uwﬁ) 4 7 dow \ o

14 Janawwa corners of aimﬁangufar piacs E:w!’ paper as shown in the
figure below. i ;

() Eind <x
AL J
(b} Find 2y. \%g . o
=yl
T !,{,.7"
- ~°
.
Ans: (a} >0
. <
W 22

@2

Do nol waits
e s 8pGH

&
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15

Unlnt &

k
Uty
pall 5{) % of the pails were

somplately Mm 32% of the palls were 5 filled with paint,

The remaining 20 pails were ompty. Tha total amount of paint in the
pails was 1590 ¢

B e g

" Do At wile
in 3hvs gpace

(a)  How many pails were completely filled with paint? i
(b)  Whatwas the agwfum of paint s; Lormpleie
T o ,;w e | Shikd | Eoy
C;;;;%g 0y %o s2u . | Bu —»20pls
Wit Vit 39 e O 8 ue e
Tokal Vol | (R0 S2uy o MR,
’ o T e
ol 150
@@u?ﬁgﬁu$ = 212 up (&)
212wp = sBCTu -
lup (590 T A~
1 5
(80 wp = TH5x180 = (350
1Ho fc;xéic = 350/;
peu) = 1350 4 160
=
Ans: (3) _ | 5 0 m%
o 14 { |
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Do nat writs ) s —

46 Rages: took part in @ shooting game. He had to collect points by in "‘f-‘ space » 1o m:ox witite
shooling gold and si1vaLsﬁtgr'?; He{ scored 8 ;}o}(r_wt:; foreach gold star) Z Lamt 17 ¥en had 2 boxes of beads. Box A had 60 mom: heads than Box B at in lxs space
shot and 3 paints foxaach silvar starshot, T e ‘ X ; :

Atthe end MQMme;,'Tm;e 30 gointYless from shooting fsaver:g volnt- fiest. Ken than moved 2-0f the beads from Box A to Box 8.
stars than goid stars. Roger shot 35 fewer silver stars thar gold stars. 2 Totnl ,,\;; m 2) f the beads from B ’ B beck into B
How many stars did Roger shoot altogether? A jﬁLA Jalne [ he movedg ! tho beads Trom Bex b back into Box A
by % R  Ken then added another 87 beads 1o Box A, In the eng, the number of
1 Gold 1 Sitver Mthe W@\“} p 5
Vg Y {a)  Howmany beadeﬁmm Box B were moved back into Box Ak fur ) xo
. . {bY How many beads weare there in Box A in the end? XL (/ ‘
8 points | 3 points ; Q
— (\; 2
R : ol A B
{ Siivey ol7h ' i —— v ‘ _
U Ew A mzmr e el GO it \ Yoyl 8 4\2 O
(i F L ze : Tut 35 — . gu“\m?ns* “
) Clut3n Y L ) Ly 460 bu 20 =5u = (20
| . s 7] — — ¢ »
LA o) : =) rO0 1 55 —u -5 ) Yl riby 2
Wit i@&ix‘& 5 3 \ T ig = 2y
T PETEYC S e i [ PYNT %
Totnl Valus !‘a‘m 4 L] 2y " @ lw =
: o H ; 1 .
Cooints ) | ~ /S : e 5 &,: — GLY - a2 +b
L Wk =130 Cut Bl | 3ut 2ule) = 2
IS g ’ : o
ST 4\’%’; ’ ‘ - {8 {10- ﬂx)
C 'J
— ¥ ] 4 . o 4 ~ i S
G | 30 | Gu Do Go ¥ 138 1 Buti o138 (876) 4 138
S :L)J i - -
et =6
130
Su = 130-280D . |
>
= %60 Ans: (a) l % i3]
lw = 450+5 e
00 215 ®) Lo & g
- _Ans: HSS T -
- ; END OF PAPER
CHECK YOUR WORK CAREFULLY |
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CATHOLIC HIGH SCHOOL
PRELIMINARY EXAMINATION (2021)

PRIMARY SIX
MATHEMATICS
PAPER 1
(BOOKLET A)
Name : { )
Class : Primary 6
Date : 20 August 2021

Total time for Booklet A and B : 1 hour
15 questions
20 marks

Parent's signature :

INSTRUCTIONS TO CANDIDATES
Do not turn over this page untit you are told to do so.

Follow all instructions carefully.

Answer all questions.

Shade your answers in the Optical Answer Sheet {OAS) provided.
The use of calculators is NOT allowed.

Booklet A and B consist of 13 printed pages excluding the cover pages,






Questions 1 to 10 carry 1 mark each. Questions 11 to 15 carry 2 marks each. For each
question, four options are given. One of them is the correct answer. Make your choice
(1, 2, 3 or 4). Shade the oval {1, 2, 3 or 4) on the Optical Answer Sheet. All diagrams

are not drawn to scale. (20 marks)
1. Which digit in 6378 is in the tenths place?
(1} 6
) 7
3y 8
4) 9
2. Express 3050 cm in metres.
(1) 35m
(2) 3.05m
(3) 305m
(4) 30.05m
3. Mel paid $2.50 for 50 stickers. How much did each sticker cost?
() 5¢
2y 2¢
3y 20¢
(4) 50¢
4. Which of the following is the likely mass of an oral digital thermometer?
(1) 012g
(2) 12g9
(3) 129
4y 120g

1 {Go on to the next page)



Each figure below is made up of 1 square and 4 identical equilateral triangles.
2 of the triangles in each figure are shaded. Which figure has a line of
symmetry?

(1) (2) (3) (4)

MN is a straight line,

M

Which of the following is true”?

{1y ZLp=xLr
(2) <Zg=4«Ls
(3) JZr+Zg=180°
4y ZLp+ ZLg=180°

2 - {Go onto the next page}



A schedule of an on-line course is as shown. One activity leads to another
without any break in between.

Start Time Activity

230 p.m. , Zoom session

3.50 p.m, Question-and-Answer session
4.25 p.m. Closure

Mrs Lee was 5 minutes late for the Zoom session. She left 10 minutes before
the end of the Question-and-Answer session. How long did Mrs Lee attend
the on-line course?

(1)
(2)
(3)
{4)

65 min
70 min
100 min
105 min

Fann uses the recipe below to make biscuits.

Q@m

{makes 9 pieces)
Flour : 150¢g
Butter: 100g
Sugar: 50g

She has % ko of flour, 420 g of butter and 110 g of sugar.
What is the greatest number of pieces of biscuit she can make?

(1)
2
(3)
4

18
27
36
81

3 {Go onto the next page)



9. At a school, each pupil chose either Sports or Aesthetics as CCA.
Figure 1 and Figure 2 show the pupils’ choice for their CCA.

Figure 1
Aesthetics T Aesthetics 5
0 10 20 30
Number of girls Number of boys

What is the difference in the number of pupils who chose Sports as CCA and
the number of pupils who chose Aesthetics as CCA?

{1) 25
(2 20
3)
4) 4
1C. Which of the following fractions is smaller than '} ?
9
{1 =5
7
2 29
6
3 3z
4
4 &

4 {Go on 1o the next pags)



11.

é RUsic Tickets at $8 each

CONCERT $2 discount for every purchase of 4 tickets

What is the percentage discount for the purchase of 10 tickets?

(1Y 5%
(2) 10%
(3) 20%
(4) 25%
12. At a hawker centre, each table has either 3 or 5 chairs around it. The number
of tables to the number of chairs is 7 : 25. What is the ratio of the number of
{ables with 5 chairs to that with 3 chairs?
() 5:2
2) 2:5
{3) 3:4
4 4.3
13. Gabriel rented a board game set and it was overdue when he returned it.

The payment for the overdue board game set was based on the charges
shown below,

First 7 days 20¢ per day
After the first 7 days 40¢ per day

He paid a total of $3.80. How many days was the board game set overdue?

(1) 6
2 9
(3 13
4 16

5 (Go on to the next page)



14. 25 people were asked to wrap a rice dumpling. The table below shows
the number of people with the following times clocked.
Tirﬁe _
clocked {s) 40 50 55 ’ 60 62 | 70 82
Number of
people 4 2 3 ) 7 3 4 2
The first 8 people who wrapped the rice dumpling the fastest were given a
prize each. Daphne won a prize.
Which of the following statement{s) is/are true?
A. 9 people needed at least 60 s to wrap a rice dumpling.
B. The slowest time that Daphne could have clocked was 70 s.
C, 36% of the people used less than 1 min to wrap a rice dumpling.
{1) Aonly
{2) Conly
(3) AandBonly
{(4) BandConly
15. Felicia drew three circles, A, B and C, to form a figure. The ratio of the area

of circle A to the area of circle Bto the areaof circle Cis 1:9: 4.
—1- of the area of circle A is shaded, What fraction of the figure is shaded?

() %%
@ 23
() e
@ 2

END OF BOOKLET A
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Questions 16 to 20 carry 1 mark each. Write your answers in the spaces Do not write
provided, For questions which require units, give your answers in the units | in this space
stated. All diagrams are not drawn to scale. (5 marks)

186. Measure and write down the size of 2 x in the figure.

Ans: °

17. Find the value of 4 +% .
Give your answer as a mixed number.

Ans:

18. Maureen gave the cashier a $50 note to pay for a T-shirt. The cashier
did not have any coins as small change, 50 Maureen gave her another
30 cents and received a $10 note as change. What was the cost of the

T-shirt?




Refer to the figure below to answer questions 19 and 20. Do not write
in this space
Six roads and three landmarks on a map are shown in the square grid. The
roads are roads A, B, C, D, E and F. The three landmarks are petrof kiosk,
airport, car park.
' 1Road A
of N2\ 1/
el \B\
R, i |
< Lo AL /]
k / '%}
2 %0
e
Landmarks - _
ED petrot Kiosk | M8 Carpark | ¥ Airport
19, Name the two roads that are parallel to each other.
Ans: and
20. Mingfa was at the position marked “*’, After turning 90° anti-clockwise,
he faced the airport. Which landmark was he facing before the tum?
Ans:
5

Total marks for questions 16 to 20

8 {Go on o the naxt pag




Questions 21 to 30 carry 2 marks each. Show your working clearly and write Do not write
your answers in the spaces provided. For questions which require units, give | " this space

your answers in the units stated. All diagrams are not drawn to scale.
{20 marks)

21. Find the value of 2 + 7,
Give your answer as a decimal, correct to 1 decimal place.

Ans:
22. Use all the digits 8, 0, 9, 2 to form the
(a) smallest multiple of 5.
{b)  number closest to 9000,
Ans: (a)
(b)

9 {Go on o the next page)



23.  Some books were shared equally among 40 children at first. When 10 | Do not write
of them gave up their share of the books, the rest received 2 extra in this space
books each, How many books did each child get at first?

Ans:

24. Darryl baked some cookies. He sold % of the cookdes at a fund raising

event and ate% of the remaining cookies. He was left with 35 cookies.
How many cookies did he bake?

Ans:

10 {Go on o the next page)



25, In the square grid below, ABC is a triangle.

(a) Measure the side AB of the triangle and write down its length to the

(b) Draw the corresponding height of the triangle with the side AC as its

nearest cm.

base,

Do not write
in this space

Ans:

26.

The number line below is marked at equal intervals,
What is the value of X7 Give your answer as a fraction in its simplest

form.

Cifmd
-

Ans:

sl L

11

(Go on o tha next page)



27.  Kenneth deposits $8200 in a bank for one year. The interest rate is 2% | Do not write
per year. What is the total amount of money he will have in the bank at | this space
the end of pne year?

Ans: 3

28. White squares and black squares are used to form figures that follow a
pattemn. The first three figures are shown below.

Figure 1 Figure 2 Figure 3

How many white squares are used to form Figure 207

Ans:

12 {Go on to the next page)



29.

Kai glues sixteen 1-cm cubes to form the solid shown.

He puts three such solids into an empty rectangular glass box as shown,
What is the capacity of the glass box?

Ans: cm?

30.

Owen bought some pears, apples and oranges. The ratio of the number

of pears to the number of apples wasg 8 : 11. There were 36 more oranges
than pears and 12 more cranges than apples. How many apples did

Owen buy?

Ans:

Do not write
in this space

Total marks for questions 21 to 30

END OF BOOKLETB
END OF PAPER 1
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Questions 1 to 5 carry 2 marks each. Show your working clearly in the space | Do not write
below each question and write your answers in the spaces provided. For | inthis space
questions which require units, give your answers in the units stated. All diagrams
are not drawn to scale. (10 marks)

1. The square grid shows the position of points A, B, C, D, F and G.

C
O N
¥
D i
~@—
B
O 3
F #G
A
in the square grid,
{(a) point __ is east of point
{b} point is north-west of point

1 (Go on to the next page}



2.

The total cost of 2 pens and a book is $55. The cost of a pen ls% of the
cost of a book. What is the cost of a book?

Ans: $

Do not write
in this space

In the figure, ABCD is a rectangle. DEGH is a square. Point H lies on the
line BC. ZABG =20° and £BHG =17°.

B | H ¢

E

Each of the stafements below is either frue, false or nof possible to telf
from the information given, For each statement, put a tick (V) fo indicate
your answer. »

ZEGD = 45°

BHDG is a trapezium.

ZBHG =ZCDH

2 {Go on to the next page)




During a promotion, a shop gave 6 free stickers for avery 50 stickers
bought. Don bought soms stickers and got 210 stickers altogether. How
many stickers would Don get for the same amount paid without the
promotion?

Ans:

Do not write
in this space

The total volume of grape juice in barrel A and barrel Bis 7.4 £. The total
volume of grape juice in barrel B and barrel. C Is 8.7 £. The volume of
grape juice in barrel C is twice the volume of grape juice in barrel A,
What is the average volume of grape juice in the three barrels?

Ans: £

3 {Go on to the next page)




For questions 6 to 17, show your working clearly in the space provided for each | Do not write
question and write your answers in the spaces provided. The number of marks | " this space
available is shown in brackeis [ ] at the end of each question or part-question.

{45 marks) |
8. Wendy had a sum of money which she spent on transport, clothes, meals
and games. The table shows the percentage of the money spenton each
item.
ltemns Percentage of money spent
Transport 25%
Clothes 20%
Meals | 40%
{ Games 15%

This is also represented by a bar graph but the amount of money spent
for each item is not shown on the scale. The bar for the amount of money
spent on games is also not drawn.

Amount
of money
speni

(%)

e ke ol SR S O RS R S B A e R S R I T
R RN R R X TR S B S N 7 L VIO 2 L TR YN g RS P,

Transport Clothes  Meals Games

{a) What was the ratio of the amount of money spent on fransport to the
amount of money spent on tlothes to the amount of money spent
on meals? Give your answer in the simplest form.

{b) Draw the bar that represents the amount of money Wendy spent on
games.

Ans: (a) []

4 (Go on to the next page)



Jack has $y for pocket money. Krishnan has thrice as much pocket
money as Jack. Latiff has $10 less than Krshnan.

(a) What is the total amount of pocket money the three boys have in
terms of y?

(b} The sum of Latiif's pocket money and Jack’s pocket money is $50.
What is the value of y?

Ans: (a) 1]
(b) [2]

Do not write
in this space

5 (Go on to the next page)




In the figure below, ABC is an equilateral triangle and CDE is an

Do not write

isosceles triangle with DC = DE. Point E lies on the side AB of the | inthis space
equilateral friangle. £ CDE = 36° and £ECB = 321°.
Find ZEFC.
D
Ans: [3]

6 {Go on to the next page)



The figure shows a square ABDE and a right-angled triangle BCD. AFC
is a straight line. DC is twice the length of ED. The area of triangle ABF

is "é the area of the square. The area of triangle BCF is 48 cm2
What is the length of each side of square ABDE?

A B
F
E D C

Ans: [3]

Do not write
in this spacs

7 {Go on to the next page)




10.

A square hall ABCD is fitted with a semi-circle stage as shown. The
shaded stage has the side DC of the hall as its diameter and a perimeter
of 40 m. The perimeter of the unshaded part of the hall is 64 m What is

the area of the shaded stage in terms aof z?

A Hall B

Ans: 3]

B

{Go onto the next page)

Do not write
in this space




11.

: . Do not writ
A box contained apples and pears. % of the fruits were apples and the | i mr:: ;‘;";;

rest were pears. After %’ of the fruits were removed, there were % of

the apples and 30 pears left. How many fruits were there in the box at
first?

Ans: [4]

9 (Go on to the next page)



12. Cayden drained water from Tank A and Tank B using Tap A and Tap B
respectively. For Tank A, he tumed on Tap A partially at 11 00 and then
fully 4 minutes later. For Tank B, he tumed on Tap B fully at 11 04. He
left both taps on until water was completely drained from each tank.

The graphs below show the volume of water left in each tank for the
period from 11 00 to 11 12,

100 Tank A
80 fer—— 1
B Yy ;
Volume S ~—
of water , L e
(D ‘ i -
-
20
0 - : o "
110 1102 1104 1108 1108 11 10 1112
Time
100 — _TankB
80
~
-
y R — —— -
olume
of water \\\
left 40 -+ N
0
<
20 N
0
1100 1102 1104 1106 1108 1110 1112
Time

10 {Go on fo the next page)
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inthis space



{a) Al what time was the volume of water left the same in both the
tanks?

(b) Starting from 11 04, which tank, A or B, had a slower rate of
drainage? How much water was drained from this tank?
Hrom Vot 4 A
(¢) How many minutes did it take for Tank B be completely drained of
water after Tap B was turned on? A

Ans: (a) ‘ 1]

{b) Tank [2]
{c) [1]

11 {Go on fo the next page)




13.

Jeremy had a piece of paper ABCD in the shape of a parallelogram. He
folded it along the line EF as shown below.

A

Before folding

{a) Find Zx.

(b) Find Zy.

B

After folding
Ans: (a) [1]
{b) , [3]

12

{Go on to the next page)

Bo not wiite
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14. Mrs Lim prepared 160 chicken wings and some nuggets for a party. At | Do not write
one point during the party, an equal number of chicken wings and | in this space
nuggets were eaten. 25% of the chicken wings and 20% of the nuggets
were left. She then increased the number of chicken wings. After that,
there was a total of 65 chicken wings.

(a) How many nuggets did Mrs Lim prepare for the party?

(b} What was the percentage increase in the number of chicken wings
after the same number of chicken wings and nuggets were eaten?

Ans: (a) [3]
(b) 2]

13 (Go on to the next page)



15.  Benson uses some wire to make the figure as shown. He made 2 | Do notwrite
identical wire structures and joined them with a piece of wire AB. Each | in this space
wire structure was formed by a large semi-circle, a small semi-circle and |
2 straight lines.

{a) What is the radius of a small semi-circle?

(b) Find the length of wire used to make the figure.
Taken=3.14

Ans: (a) [2]

{b) [2]

14 {Go on to the next page)



16.

Cathy and David each had a piece of dough of the same mass at first. Do not write
Cathy divided her dough inte equal parts of mass 80 g and for each part, | in this space
she used it to bake 2 star-shaped cookies.David also divided his dough
Into equal parts of mass 150 g andfor each parthe used it fo bake 6
heart-shaped cookies, There were 72 more heart-shaped cookies than
star-shaped cookies in the end,

(a) How many cookies did Cathy and David bake altogether?

(b) David packed his cookies into 22 boxes. Some boxes contained 5
cookies while the rest contained 9 cookies. How many boxes
contained 9 cookies?

Ans:{a) __ B

(by —[2

15 {Go on to the next page)



17.

Mr Lee tries to cover a square floor with as many rectangular tiles of the
same size as possible that follow a pattern as shown. The tiles are either
white or grey.

30cm__1, e

460 cm

460 cm

(2) What is the greatest possible number of tites that Mr Les can use to
cover the floor?

(b} Of the greatest possible number of tiles that Mr Lee can use fo
cover the floor, how many of the tiles are grey tiles?

Ans:{a) ) [2]

(b} [2]

END OF PAPER 2

16
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SCHOOL : THOLIC HIGH PRIMARY SCHOOL
LEVEL : IMARY 6
SUBJECT : SATH
TERM :620 PRELIM
| N

Q5 | Q6 Q7 Q8 Q9 | Qto
4 4 3 1 4 2
Q15

50 +4 2 50.30
50.5 .30

eiVed 60 book in total

0
1 childreceived = 60 + 10 = 6 books
_

Pgl




Q24)

5u=35
Mu=356+5=7
24u =7 x 24 = 168 cookies

Q25)

A

LT

A

Q26)

(5-4)+2=05
4+05=45
ﬁ 9

20 40

Qz7)

102 $8000 = 102 x $82
100

=$8364

Q28)

82 white squares

Q29)

1Mcm x 7cm x 6ecm = 11cm x 42cm?2
= 462cm3

Q30)

Orange = 8u + 36 = 11u + 12
8u+36=11u+12

36 -12=11u-38u

3u=24

lu=24+3=8

11u =8 x 11 = 88 apples

PAPER 2

Q1)

a)point G is east of point F
b)point B is north-west of point A

Pg2




Q2)

2pens + 1 book = $55
2
1 pen = > book

2pens=2ux2=4u
4u +7u=11u

11u =55
lu=55+11=5
7Tu=5x7=%35

Q3)

\/
\/

\/

Q4)

1set = 50 +6 = 56 stickers

No.of stes =210+ 56 =3 R 42

No.of stickers (free) =3 x 6 =18

Amt of stickers paid for = 210 - 18 = 192 stickers

Q5)

A+B=74
B+C=97
2A=C
B+C=2A+B
2A+B =97
A=97-74=23
B=74-23=51
C=23x2=46
23+51+4.6 _ 12 _

3 3 -4

Q6)

ajT: C:M
25:20:40
5:4:8

b)

Pg3




Amount

of money

spent

(8)

T
1
1
T
1
I
]
L
1
1
]
LS
i
I
T

[T TR SRR ) P SRV S, (SN SUJR et Uy S S

| 20

2

s
ol

Transpor Clothes  Meals

Games

Q7) | a)Amt Jack has = $y
Amt Krishan has = $(Yx3) = $3y)
Amt Latiff has = $(3y — 10 )
Total Amt = $(y+3y+3y — 10 ) = $(7y — 10)
b)Jack + Latiff = $(y+3y — 10 ) = $(4y — 10)
$(4y — 10) = $50
$4y = $50 + $10 = $60
Y=%60+%4=15
Q8) | £ECB =360°- 321°=39°
<FCE =60° - 39° = 21°
£DEC = (180° — 36°) + 2 = 72°
2¢EFC =180° —72° — 21° = 87°
Q9) |6ux2ux05=1p

Area of triangle ABF = 6u x 2u x 0.5 = 12(u?) + 2 = 6(u?)

1p = 6(u?)

Area of triangle BCF = 2u x 12ux 0.5 =48
2u x 120 x 0.5 = 24(u?) x 0.5 = 12(u?)
12(u?) = 48
U?=48+12=4
U=V4=2
6u=2x6
=12
12cm

Pga




Q10)

Tu=24+2=12
Area of shaded stage = m x 62+ 2
=361 +2

=181

(18 m)m?

Q11)

A:P:T

16:4:20

3 of 200 = 150

200- 150 = 50

(5u) fruits left

(Apples left) = g of 160 = 2u
5u = 2u+30

5u-2u=30

1u =10
Amount of fruits in box at first = 200

Q12)

a) 1110
b) A,61
¢) 10 minutes

Q13)

a) £x=180°-59°.59°=62°

b) 360°-63°-117°-59°=121°
ZGEF=180°-121°=59°
£CGE=360°-117°-59°.59°= 1250
2y =180°-125°=55°

Q14)

a)

b)

12
16

12
cw=—N
15

16u = 160
fu=10
15u = 150 nuggets

1
7 of 160 = 40
65 - 40 =25

25 100% = 62.5%
{00 * 0 =62.5%

Q15)

a)

b)

13-5=8
44-8-5-5_-5=21
Radius of small semi circle =21+ 3 =7cm

44-8
Radius of big semi circle = (—-—3—-—> =12

3.14x12x2=75.36
3.14x7 x2=42.96

7536+ 4296 +5+5+5+5+13
=152.43cm

Pg5




Q16) a) David = 150p

90u = 150p

Cathy baked = 20
David baked = 6p
6p—2u=72
2u=6p-72

90u = 150p

90u = 270p — 3240
150p = 270p — 3240
3240 = 270p — 150p
120p = 3240

1p =27

150p = 4050

90u = 4050

U= 45

2u= 90

6p=27x6

=162

90+162 = 252

b) 22x5=110
162 -110 = 52
9-5=14
52+4=43

Qi17)| a) 30+2=15
460 = 30 = 15R10
15x 2 =30

30 x 15 = 450

b) 450 + 30 = 15
15-1=14
14+2=7
(7x1) + (7x2) + 1 = 22
(7 x 22) + (7 x 15) + 15 = 274

Pgb
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Questions 1 to 10 carry 1 mark each. Questions 11 to 15 carry 2 marks each.
For each question, four options are given. One of them is the correct answer.
Make your choice (1, 2, 3 or 4) and shade your answer in the Optical Answer Sheet.

{20 marks)

1

Round 21.356 to the nearest tenth.

)
(2)
3)
4)

20.0
21.0

213

214

Findthevalueof 8+ 12+ 3 x 2

Which one of the following is closest to the reading shown on the weighing scale

below?

(1

2
(3
(4)

36.6 kg
38.1 kg
38.6 kg

39.4 kg

/

N

)

-

i‘ll

36

|

|

|

Isi.gi%_l!li!!

35 1 P55 3%

40

kg

/

Page 1
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Express 25 seconds as a fraction of 2 minutes.

M g

@ =
@ =
@ =

Which two lines are perpendicular to each other?

A C
1) BE and CD \ T~ -
(2) FA and FD \ i F \\
(3)  FDandBE \ \
\ \ \
(4) FDand FE \ \
\ D
\ \
F

Ravi has 2 as many stamps as Peter. Find the ratio of the number of stamps Peter

has to the total number of stamps the two boys have.

(1) 3:4
2 3:7
3) 4:3
(4) 4:7

Page 2
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ﬂi

Ken cycled along a track from 5.30 p.m. to 6.50 p.m. Lee cycled along the same
track from 5.40 p.m. to 7.20 p:m. How much longer did Lee cycle than Ken?

(1)
(2)
(3)
(4)

10 min
20 min
30 min

40 min

The figure is made up of a quarter circle of radius 8 cm and a semicircle. Find the

area of the semicircle.

(1)
(2)
3
(4)

327 cm?
167 cm?
Bx cm?

47 cm?

Arrange the following distances from the longest to the shortest.

(1)
(2)
3
(4)

3
9.45 km Gkm85m Qg km
Longest Shortest
A .

gg km, 9.45 km, 9kmS5m

gg- km, Skm95 m, 9.45 km
2.45 km, g-g km, Skm95sm

3
S km 95 m, 9.45 kn, gg km
Page 3 ' {Go on to the next page)



Use the information below to answer Questions 10 and 11.

The bar graph below shows the number of computers sold in each month from August to
November. The bar for the number of computers sold in November has not been drawn.

Number of
computers
sold

80

60

20

August September

October November

10 How many computers did the shop sell altogether in August and September?

(1)
(2)
(3)
(4)

80

84

90
96

11 The number of computers sofd in November was a 25% increase from the number
of computers sold in October. How many computers were sold in November?

(1)
(2)
(3)
4

g
27
45

63

Page 4
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- 42

13

14

At first, thers were 60 red apples and 40 green apples in a basket. Mrs Lim then soid
10% of the red apples and 25% of the green apples. What percentage of the apples
in the basket did she have left?

(1)
(2)
(3)
(4)

16%
35%
65%

84%

In the figure below, ABCD is a trapezium where CD is parallel to AB.
Given that AE = DE, find 2EAB.

N
(2)
(3)
4

D
31°
49°
59°
72°
i
A

13°

62°

At first, Alex and Melissa were facing the same direction. Then, Melissa tumed
225° anti-clockwise to face East.and Alex turned 90° clockwise. Which direction did
Alex face in the end?

(1)
(2)
(3)
4)

North-East
North-West
South-East

South-West

Page §
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15

Maliki cut a square piece of paper measuring 12 cm in length into 2 pieces of
squares and 2 pieces of rectangles as shown in Figure 1. He arranged the pieces to
form a big rectangle as shown in Figure 2.

What is the perimeter of the big rectangle in Figure 27

Figure 1 Figure 2
{1) 48 cm
(2) 60 cm
(3) 108 cm
(4) 144 cm

Page 6 {Goon to BOOKLET B}
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Write your answers in this booklet.
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Questions 16 to 20 carry 1 mark each. Write your answers in the spaces provided. | Do notwrite
For questions which require units, give your answers in the units stated. in this space
(5 marks)
16 Jane has five 50-cent coins, three 20-cent coins and seven S-cent coins.
What is the total value of all the coins that Jane has?
Ans: $
" 2
17 Find the value of 24 + 3
Ans:
18 Express 0.019 as a percentage.
Ans: %

Page 1 (Go on to the next page)



19 Shade 3 more squares to form a symmetric figure with AB as the line of Do not write
symmetry. in this space
20 A rectangular tank contains water to a height of 20 cm as shown below.
How much water (in mi) is needed to fill it to the brim?
20 cm | B
Ans: mi
Page 2 {Go on to the next pagé)



Questions 21 to 30 carry 2 marks each. Show your working clearly and write your
answers in the spaces provided. For questions which require units, give your
answers in the units stated.

Do not write
in this space

{20 marks)
21 In the figure below, AOB and DOC are straight lines, FO is perpendicular to
AB and £FOC = 43°. Find 2DOB.
F
A 43° c
D B
Ans: °
22 A photocopier can print 60 copies in 20 seconds. At this rate, how long will

it take the photocopier to print 225 copies?

Ans: 5

Page 3 (Go on to the next page)



23 The figure is made up of a rectangle and a quarter circle. Find the perimeter
of the figure.

(Take ©t = 3.14)
40 cm

v

L.
-

I L AT ™

A

80 cm

Ans: om

Do not write
In this spece

24 Max is 4 years older than Sue. In 8 years’ time, Max will be 22 years old.
What is the ratio of Sue’s age to Max's age now? Express your answer in
the simplest form,

Ans:

Page 4 {Go on to the next page)




25 Joshua had a piecs of wire measuring 14k cmu.in length. He used it to form | Do not write
an equilateral triangle and had 4 cm of wire left, In this space

{a) Find the length of each side of the equilateral triangle in terms of k
in the simplest form.

{b) Find the perimeter of the equilaterai triangle given that k=8

Ans: (a) cm

(b) cm

28 In the figure below, ABCD is a rectangle measuring 30 cm by 20 cm.
Eis a point on DC and DF = FC. Find the total area of the shaded parts.

A 30 cm B
20 cm
D F f' c
Ans: cm?

Page 5 (Go on to the next page)



27 A triangle ABC is drawn on a square grid inside a box. Do not write

in this space
» . » ® » » ) L » s [ )
. L 5 » » » 13
" o » B % » (3
L] » ] » ® ® ®
» ® @ [ - » &
» L : ] ] [ ) L4 b LY » ° ] °
» L] » L4 » L] 9 » » ° » LS
- » ] [ » L ] @ L L * » »
L » - 9 L] » [ ] - s ] & »
» » » » 3 ° - ° s . » -

By joining dots on the grid with straight lines,

{(a) draw another triangle ABX such that the area of triangle ABX is half
the area of triangle ABC.

(b) draw a rhombus BCYZ such that £BCY is less than 90°. Rhombus
BCYZ must not overlap with triangle ABC.

4 1
28 Ali made 5 litres of bandung drink using 2 litres of rose syrup and some
milk. What fraction of the bandung drink was made up of rose syrup?

Ans:

Page 6 {Go on to the next page)
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28 Chocolates are sold at the prices shown below. Do not write

in this space
Type of chocolate Price per packet of chocolates
Dark $2.50
White $2.00
Milk , $1.20

The bar graph shows the number of packets of each type of chocolate that
Neah bought.

20

Find the total amount of money that Noah spent on the chocolates.

Ans: $.

Page 7 (Go on o the next page)



30

At first, chairs in a hall were arranged in rows of 12. Then, 57 more chairs
were brought in and all the chairs were rearranged into rows of 21, In the

end, there were 5 fewer rows. How many rows of chairs were there in the
hall in the end?

Ans:

Do not write
in this space

Papge 8
End of Paper 1
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Questions 1 to 5 carry 2 marks gach. Show your working clearly and write your Do not write
answets in the spaces provided. For questions which reguire units, give your In this space
answers in the units stated.

{10 marks)

1 A bag of 6 pears cost $3w. Damon bought 54 pears and had $42 left. Given
that he had $150 at first, find the value of w.

Ans:

2 The figure shows a parailelogram PQRS and a right-angled triangle PUT.
Given that PUQ and PTS are straight lines and £STU = 137°, find £PQR.

P J Q

L
L

Page 1 {Go on o the next pags)



3

The table below shows the charges for using the facilities in a gym. Do not write
n this space
Duration Charges
1t hour $8.00

2

1
Every additional - hour or less

$3.50

Leroy used the facilities in the gym from 8.30 a.m. to 12.30 p.m. How much

did he pay?

Ans: §

The scores for Jaden’s first three games in Round 1 are shown below.

Round 1
kGame Marks
st 78
2nd 106
3rd 85
4t ?

Jaden will move on to Round 2 if his average score of the four games in
Round 1 is 95 or more. What is the lowest score Jaden must get in the
4% game to move on to Round 27

Ans:

Page 2

{Go on to the next page)




The figure is made up of a right-angled triangle and a semicircle. Given that | Do not wite
AC = 70 cm, AB = 56 cm and BC = 42 cm, find the total area of the shaded | i1 this space
parts of the figure.
Take nt = 2
{Taket = = )
A 70 cm c
Ans: om?

Page 3 {Go on to the next page)



For questions 6 to 17, show your working clearly and write your answers in the Do not write
spaces provided. The number of marks available is shown in the brackets [ ]at | Inthis spacs
the end of each question or part-question.

{45 marks)

é The bar graph shows the number of electronic devices owned by each
student in a school. The bar that shows the number of students who own
2 electronic devices each has not been drawn.

600

400

Number of
students

200

Rl R TS E T RUPAY SR STV ST (ORI S SR N AU S

s S TR R SR RY SR SIS DU v N RN APV IV M U S

0 1 2 3

Number of electronic devices

(a) How many students do not own any electronic devices?

1
(b} Given that " of the students have 2 electronic devices each, find the
total number of students in the school.

Ans: {a) [1]

(b) [2]

Page 4 {Go on to the next page)




7 Cheryl spent $2016 in July. This amount was a 10% decrease from what Do not write
she spent in June. The amount she spent in June was a 20% decrease in this space
from what she spent in May. How much did Cheryl spend in May?

Ans: 13 |

Page 5 {Go on to the next page)



A roll of tape has three types of shapes, J, €3 and o, printed in a repeated
pattern.

VVEVVBBVVRVIDBVVBVVDHO VLT

(o

Meimei cuts a piece of tape from the roll.
in that piece, there are 84 fewer ) than Q).
Find the least possible total number of shapes on that piece of tape.

Ans: i3]

Do notwrite
in this spaca

Page 8 {Go on to the next page)




9 In the figure, ABCO, EFGO and KLMO are squares. Do not write
Given that 2zKNQO = 40°, find 22 in this space

B

Ans: [3]

Page 7 {Go on to the next page)



10

Mrs Tan baked blueberry muffins and cinnamon muffins in the ratio 3 ; 1. Do not write
in this space

5
She sold 50% of all her muffins, 5 of the muffins sold were blueberry

muffins. In the end, she had 36 cinnamon muffins left. How many blueberry

muffins did she have left?

Ans: [3]

Page 8 {Go on 1o the next page)



11 A clothing store offered 120 dresses at a 20% discount during a weekday Do nol write
sale. The line graph shows the number of dresses left unsold at the end of | in this space
each day.

120 Yo
i
e~
100 S
.
.
"
Number \—-‘—‘5__\
of dresses 80 - g
teft unsold R
\\
N
A,
Y
20 Se
Y
¥
0 :
Start of Sale  Monday Tuesday  Wednesday  Thursday Friday

(a) On which day was the most number of dresses sold?

{b) The discounted price of each dress was $60 during the sale. After
the sale, the remaining dresses were sold without discount. What
was the total amount of money collected from selling all
120 dresses?

Ans: (a) M
{b) (3}
Page 8 {Go on o the next pags)
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A triangular piece of paper is folded along the dotted line as shown below. | Do not write

Given that AB = AC, find: in this space
(@  «x
(b) Ly

A

Ans: (a) - 2] 1
(b) __[3

Page 10 {Go on to the next page}




13 The outline of the shaded figure below is formed by quarter circles and Do not write

straight lines. Find the area of the shaded figure.
(Take . = 3.14)

1Y

R .

12¢cm

v o e W o S e WO Wb W e W e e O W W e e

Y

¥ L e e e e o s e B e e o e

Ans:

in this space

[3] |

Page 11
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A cuboid is shown below. The length, breadth and height are whole Do not write
numbers in cm. The area of the face seen from the front view is 126 cmz2. in this space
The area of the face seen from the side view is 135 em2. The volume of the
cuboid is less than 5000 cm3.

Top View

l

{a) Find the area of the face seen from the top view.

{b) Pamela painted all the faces of the cuboid. She then cut the cuboid
into 1-cm cubes. How many of these cubes have 1 of the faces
painted?

Ans: (a) 2]

(b) (2]

Pagse 12 {Go on to the next page)
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_The first three figures of a pattern are shown below. Do not write

in this space

Figure 1 Figure 2 Figure 3

The table shows the number of white and grey squares used for each
figure,

Figure Number 1 2 3 4
Number of white squares 16 24 32
Number of grey squares 1 4 9

{a) Fill in the table for Figure 4.
{b) How many grey squares are used for Figure 1697

{c) Find the total number of white and grey squares in Figure 169.

Ans: (b) [
{c) [2]

Page 13 {Go on to the next page)
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Blue stickers were sold in packets of 15 each. Green stickers were soldin | Do not write
packets of 40 each. Renee bought 5 packets of blue stickers and some in this space
packets of green stickers. Fatimah bought 13 packets of blue stickers and
some packets of green stickers. Both girls bought the same total number of
packets of stickers.

{a) How many more green stickers did Renee buy than Fatimah?

3
{b) After Renee used z of her green stickers and Fatimah used haif of
her green stickers, they both had 452 green stickers left altogether.
How many blue and green stickers did Fatimah buy altogether?

Ans: (a) [1]
(b) , [4]

Page 14 {Go on to the next page)



17 Mary decorated a rectangular piece of cardboard using stars and smiley Do not write
faces. On the top part, there were 2 stars for every 9 cm of length of the in this space
cardboard. On the bottom part, there were 5 smiley faces for every 12 cm.
The stars and smiley faces were placed at an equal distance apart as

FEAAAK ;
9@@@@%@@@@@ 000000

e e G ke W e TR W e e e e e A G ML D L W R o

3

4

- e e A M e L 4 e e AR T RN W

e e
o e )

ey

Ly N3
-~ 4

12om 12cm 12 em

{(a) A total of 552 stars and smiley faces were used to decorate the
cardboard. How many smiley faces were there?

(b) Next, Mary wants to tie a ribbon under each smiley face as shown
below. Each ribbon measures 6 cm long.

Given that ribbons were sold in rolls of 80 cm each, how many rolls
of ribbons does Mary need to buy?

Ans: (a) [3]
(b} {2]

Setters: Mrs Tina Tan, Mrs Norah Idil, Ms Rajesheela

Page 15
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Q19)

Q20)

10000ml

Q21)

133°

Q22)

75s

| Q23)

20+40+20+40=120

Pgl




120+31.4= 151.4cm
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Each set ] = 3
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90 - &
40+ 90

0°
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3u-1u
2u =36
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b) 4G + 128 + 5G = 452
9G =452 +28=324
10G =324 x 10/9 = 360
13x15=195

195 + 360 = 555

Q17)

a)8 +15 =23
552 + 23 = 24
36 x 24 = 864

192 + 360 = 552
b) 80 + 6 = 13R2

360 + 13 = 27R9
27 +1=28
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Questions 1 to 10 carry 1 mark each. Questions 11 to 15 carry 2 marks each.
For each question, four options are given. One of them is the correct answer.
Make your choice (1, 2, 3 or 4). Shade the correct oval (1, 2, 3 or 4) on the

Optical Answer Sheet. (20 marks)

1 2021021 =2000000+2x +1021.

What is the missing number in the box?

(1) 10
(2) 100
(3) 1000
(4) 10000

2 Which of the following is the same as 7030 m{ ?

(1) 7t 3me

(2) 7i130mt
(3) 70f 3mt
(4) 70f 30mt

3 Which digit in 31.507 is in the tenths place?

(1 1

(2 o0
3 3
4 5

2 (Go on to the next page)



Which one of the following is the closest estimate of 14.6 x 38.47

(1) 15x38
(2) 15x39
(3) 14x38
(4) 14x39

3 ,
5 of Ali's marbles are blue and the rest are yellow.
What percentage of Ali's marbles are blue?

(1) 37.5%
(2)  40%
(3) 60%
(4)  62.5%

XYZ is an equilateral triangle. WZY is a straight line and WV is parallel to
ZX. Find ZLa.

(1) 60
(2) 120 / A

(3) 270

(4)  300° Z Y

3 (Go on to the next page)



Which of the following fractions is closest to 17

(1)

(2)

(3)

(4)

Wi plw

Do

sl

ABCD is a rectangle. E is the mid-point of AB and £DEC = 78°.

Find LADE.

(1)
(2)
(3)
(4)

39°

46°

51°

78°

A

78°

Chee Seng packed 216 pens into 3 boxes” The ratio of the number of pens
in box A to the number of pens in box B to the number of pens in box C is
1:3:4. How many more pens were there in box B than in box A?

)
(2)

(3)

4)

27

54

81

108

{Go on to the next page)
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11

In the programme guide shown below, one programme leads to another
without any break in between.

Start Time Programme
215 p.m. Magic Show
2.45 p.m. Art and Craft
4.00 p.m. Music Appreciation
4.50 p.m. Cooking Class

How much longer is the Art and Craft programme than the Music
Appreciation programme? .

(1} 25 min
(2) 50 min
3y 1h 5min

(4)  1h15min

The average mass of 3 bags of rice is 10 kg.
A fourth bag of rice weighing 6 kg is added to the total mass.
What is the average mass of the 4 bags of rice now?

(1) 9kg
(2) 8kg
(3) T7kg
(4 4kg

5 (Go on to the next page)



12 The table shows the charges for bicycle rental.

% RENTAL RATE FOR 1 BICYCLE

For the first 2 hours $3.50

For every additional -12' hour $1.20

Dinesh rented 2 bicycles from 4 p.m. to-7 p.m. How much did he pay?

(1) $5.80
(2)  $8.30
(3)  $1 .éo
(4y  $16.60

13 ABCD is a rectangle. AE is twice of ED and AE = AB.
What fraction of the figure is shaded?

(1)

Wl

(2)

o=

3

wWir

(4)

16211 V]

6 (Go on to the next page)
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15

A pair of sandals costs $win a shop. The cost of a pair of boots is $25
more than the cost of 3 pairs of sandals. Find the cost of 3 pairs of boots.

(1 $3w

(2)  $(3w+25)
(3)  $(6w+75)
(4)  $(9w + 75)

A printer started to print a set of documents at 10.00 a.m.
At 10.24 a.m., half of the set of documents was printed.

At what time would *87: of the set of documents be printed?

(1) 1030 a.m.
(2) 10.33am.
(3) 1042am.
(4) 10.54 a.m.

7 (Go on to Booklet B)
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Questions 16 to 20 carry 1 mark each. Write your answers in the spaces
provided. For questions which require units, give your answers in the units

stated. (5 marks)

16 Find the value of 0.78 x 80.

Ans:

Do not write
in this space

17 A number has 7 factors. Five of its factors are1, 2, 4, 16 and 64.
What are the other two factors?

Ans: _and

48  In the number line below, AB = BC. What is the fraction at point B?
Give your answer in the simplest form.

A B C

| f i ! i

{ ] | i i

Kl ? 1

10 6
Ans:

2 (Go on to the next page)



. ; y Do not write
19 Find the value of 2y — 5 wheny =7, in this space

Ans:

20 In the grid below, Siti is standing at Point P, facing North. She makes a
225° turn anticlockwise, and then a 90° turn clockwise.

Which point is she facing now?

Ans: Point

3 (Go on to the next page)



Questions 21 to 30 carry 2 marks each. Show your working clearly and write Do not write
your answers in the spaces provided. For questions which require units, give in this space
your answers in the units stated. (20 marks)

21 JKLM is a rectangle. Find the shaded area.

1
J Scm

Ans: « cm?

22  The figure below is made up of a square and an equilateral triangle.
The area of the square is 81 cm?. Find the perimeter of the figure.

Ans: cm

4 {Go on to the next page)



23 Three classes of pupils sold second-hand books for charity.

They collected $7 for each fiction book and $5 for each picture book.

The table shows the number of books sold by the three classes.

Which class collected the most money and how much was it?

Ans: Class 3

Do not write
in this space

24  The solid figures below are made up of 1-cm cubes. How many

1-cm cubes must be removed from Figure X to form Figure Y?

Figure X Figure Y

Ans:

5 {Go on to the next page)



25 In the grid below, the line AB has been drawn for you. Do not write

(a) Draw an isosceles triangle, such that AB = AC. in this space

Label point C clearly.
(b) Measure BC. ~

Ans: (b) cm

26 The figure shows a semicircle and 2 quarter circles drawn inside a
square. Find the area of the shaded region.
Express your answer in terms of x.

10 cm

Ans: cm?

6 (Go on to the next page)



27 Mrs Lim bought some apples. She gave the fruit seller $50 and Do not write

received $14 change. How many apples did she buy? in this space

Ans:

28  ABCD s a parallelogram and AD = AE. Find ZDAE.

A D

106°

Ans: °

7 (Go on to the next page)



29  Mrs Chan paid $600 for a vacuum cleaner after a discount of 25%. Do not wrile
What was the price of the vacuum cleaner before discount? in this space

SALE
25% discount

<vEvFEE Ae

Ans: $

30  The puplls in a school are divided equally into Group X and Group Y.
The ratio of the number of boys to the number of girls in Group Xis 3: 1
and in Group Y, itis 1 : 2. What is the ratio ¢f the total number of girls to
the total number of pupils? -

Ans:

8
End of Paper
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Questions 1 to 5 camry 2 marks each. Show your working clearly and write
your answers in the spaces provided. For questiong which require units,
give your answers in the units stated. (10 marks)

1 Acupis % -filled with water. It is then poured into an empty jug which has a

volume that is three times that of the cup.- What fraction of the jug is filled
with water? |

Ans:

2 DEFG is a rhombus. HJ is parallel to DE and GF, ZGDE = 86°.
Find ZHKE. D

Ans: °

3 The length of each side of a cube is 12 m. The volume of the cube is twice
the volume of a cuboid. Find the volume of the cuboid.

12m cuboid

Ans: m?

2 (Go on to the next page)

Do not write
in this space




4 The ratio of the number of ten-cent coins to the number of twenty-cent coins
' in a purse was 3 : 5. When 60 Mgnty-gent coins were removed, there were
an equal number of ten-cent coins and twenty-cent coins. How many

ten-cent coins were there in the purse at first?

Ans:

Do not write
in this space

5 The figure is made up of a 3 quarter circles and a rectangle.
O is the centre of the circle and the diameter of the circle is 14 cm.
22

Find the perimeter of the-'ﬁgure.—(ffakeww?-) -

A\ 4

50 cm

Ans: : cm

3 (Go on to the next page)




For questions 6 to 17, show your working clearly and write your answers in the Do not write:=
space provided. “The number of marks available is shown In brackets [ ] at the in this space’
end of each question or part~questi§n (45 marks)
6 PQ is parallel to SR. TR is perpendicular to SR and PR is perpendicular to
RQ. Find £TVR.
T
41°
P U, . Q
57°
S R
Ans: (3}
7 Meiling bought% m of ribbon to make some bows. She needed % m of
ribbon to make one bow.
(a) How many bows can she make?
(b) What was the length of ribbon left? Give your answer in the simplest form.
Ans: (a) [1]
(b) [2]

4 {Go on to the next page)



8 Three teachers accompanied a group of 38 pupils to an amusement park. Do not write
The ticket for a child cost $y. An adult ticket cost $2 more than a child’s ticket.] in this space

(a) Find the total amount paid for all. Express your answer in terms of y.
(b) The total amount paid was $211. What was the cost of a child’s ticket?

Ans: (a) [2]
(b) [2]

5 (Go on to the next page)



8 The line graph below shows the number of tracksuits sold in a shop from

Do not write
January to June. in this space
Number of Tracksuits Sold
20
- /
70 /
,@ 60 : -
5 /
» 50 «
X /
O 40
L
< 10
0 } + $ $ $ +
January February March April May June
Months .

(a) In which 2 months were the sale of tracksuits sold from January to June
above the average number of tracksuits sold during that same period?

(b) What was the percentage increase in the salé of tracksuits from May to
June?

Ans: (a) . and ]
() {21

8 (Go on to the next r ~1e)



10 The table and the bar graph below show the distribution of all Primary 5 PO not write
pupils in the different CCA groups. The percentage of pupils who joined in this space
Clubs was covered by a blot of ink. ‘

Types of CCA Percentage of pupils
Uniformed Groups 27
Performing Art 18

Clubs o

Sports

140

120

100

o]
L]

o
o]

Number of pupils

i
<

n
(=4

o]

Uniformed Groups  Performing Arts Clubs Sporté
Types of CCA
(a) What was the total number of pupils in Primary 57

(b) Draw the bar in the graph above for the number' of WpL'in!s in Clubs. [2]

Ans:(a) . {2}

7 (Go on to the next page)



1

During a sale, Ban Meng bought 10 identical plates. His aunt bought 6 such
plates. She also bought 4 mugs at $3.20 each. Altogether, she spent $2.40
less than Ban Meng. How much did Ban'Meng and his aunt spend

altogether?

Ans: _ » 3]

Do not write
in this space

12

In a test, the average class score was 77 marks. Mr Lim discovered that he
had recorded 14 students’ marks wrongly. After adding 3 marks to each of
these students, the average class score became 79. How many students
were there in the class?

Ans: . [3]

8 (Go on to the next page)



13

The solid below is made up of 13 1-cm cubes.

(a) Draw the Front view and Top view of the solid in the grid provided.

(b) The whole solid is completely dipped into a pot of red paint.
Find the total area of the solid that has red paint.

Front view

Front view

1]

Top view

™\

Side view

Top view {1}

Ans: (b) [2]

Do not write
in this space

9 (Go on to the next page)



14

The square QRST is made up of two rectangles and a square. Do not write
The ratio of the area of Rectangle A fo the area of Rectangle Bis 5: 3. in this space
The ratio of the area of Rectangle B to the area of Square Cis 2: 3.

The area of square QRST is 625 cm?. Find the bréadth of Rectangle B.

Q B R

Ans:. [4]

10 {Go on to the next page)



15 ABCD is a square and BCE is an equilateral triangle. Do not write

in this spa
AEFG is a trapezium and AG is parallel to EF. s space

(@) Find £ EAC.

A B
(b) Find £ CEF.
H E
D N F
G
Ans: (a) [2]

(b) gl

(c)  The figure above is not drawn to scale. Each of the statements below is
either true, false or not possible to tell from the information given.

For each of the statement, put a tick (v') to indicate your answer.

ABEC is a trapezium.

ZCEF is greater than £EFG.

ZECG + £LFGC = 180°

(2]

11 {Go on to the next page)



16

e

The figure is made up of shaded and unshaded squares.

7 //, %W
%

777

B

B

_Innm

f%l%%%
o

7 xy : 7 /%

N\

= Em
nn

74

B

7

Figure 1 Figure 2 Figure 3 Figure 4
Figure Number of Number of Total number of
number shaded squares | unshaded squares squares
1 1 3 4
2 6 - 3 9
3 6 10 16
4 15 10 25
5 (ai) (aii) 36

(a) Complete the table for Figure 5. [1]

(b) There are a total of 81 squares. How many shaded and unshaded

squares are there?

Ans: (b) Shaded

Unshaded

— . [3]

12

{Go on to the next page)

Do not write
in this space




17 The figure below shows a circle enclosed in a square, WXYZ, of side 40 cm. f)c;got write
WP =PXand ZQ = QY. Find the area of the shaded parts. (Take = 3.14) | " 1S space

Ans: \ [5]

13
End of paper






SCHOOL : THODIST GIRLE’ SCHOOL
LEVEL 3 IMARY 6

SUBJECT :

TERM

S[Qrire8 s Q9 Q107

20) H

AZAENESTe — 6cm = Clegy
0.5 x 90X 8em = 36cm?

ey * 5 = 45ciEl

e it 42
A®24)  1+5+9-Nf§

i IX3Ix4=28
3B+5

Pgl



Q25)

/

N

50cm —~7cm = 43cm

Circumference of % circle
=% xmTXxd

/ -
Bl
b) 3.6cm
Q26) 5x5xm=25n
10cm x 10cm = 100cm?
(100 - 257 )cm*
Q27) $50-9%14 =3%36
$36+9=4
4x4=16
Q28) 32
Q29) $800
Q30) 11:24
PAPER 2
Q1) 2
15
Q2) 133
Q3) 12mx 12m x 12m =1728m?
1728m?3 + 2 = 864m?
Q4) bHu—-3u=2u
2u =60
1u = 60/2
=30
3u=30x3
=90
Q5) 14cm=+=2=7cm

Pg2




3% X 22/7 x 14cm
= 33cm
33cm + 50cm + 7em + 43cm = 133cm

Q6)

£QUV=90°+41°

=131°

£UVR = 360° - (131° + 57° + 90°)

=.82°

Q7)

a)

b)

5
1/8m

Q8)

a)

b)

3 x $(y+2) = $(3y+6)
Py x 38 = $(38y)
$(38y) + $(3y + 6) = $(41y + 6)
$211 - $6 = $205
41y = $205
Y = $205 + 41
o= $5

Q9)

January and June
300%

Q10)

27% =108
1% =4
100% = 400

100% - (27% + 18% + 30%) = 25%
4 x 25 =100

Q11)

$3.20 x4 = $12.80
$12.80 + $2.40 = $15.20
$15.20 +4 = $3.80

$3.80 x 16 = $60.80
$60.80 + $12.80 = $73.60

Q12)

3x14 =42
79-77=2
42 +2 =21

Q13)

i
7
LA
o

/

Frontview  [1]

i

Pg3




b) 42cm?

Q14) vV 625¢cm? = 25¢cm

625cm? + 25 x 9 = 225¢cm?
V225cm? = 15cm

25cm — 15cm = 10cm

Q15) a) 30°
b) 105°
c) False
Not possible to tell
False
Q16)  Ai)15
i) 21

b)shaded 45 unshaded 36

1Q17) 40cm? =2 =20cm

Area of circle = 3.14 x 20cm x 20cm
= 1256cm?

40cm x 40cm = 1600cm?

1600cm? - 1256cm? = 344cm?

344cm? + 4 = 86cm?

86cm? x ¥z = 800cm?

1428cm? - 800cm? = 628cm?

Pg 4




NAN HUA PRIMARY SCHOOL
PRELIMINARY EXAMINATION — 2021
PRIMARY 8

MATHEMATICS
PAPER 1
(BOCKLET A)

Total Time for Booklets A and B: 1 hour

INSTRUCTIONS TO CANDIDATES

Write your name and index number in the space provided.

Do not turn over the page until you are told to do so.

Follow all instructions carefully.

Answer all questions. ‘
~Shadse your answers in the Optical Answer Sheet {OAS) provided
for Questions 1-15.

Tha use of calculators is NOT allowed.

o arwN=

Name : {

Class : 8

Dats : 19 August 2021 Parent’s Signature :







Questions 1 to 10 carry 1 mark each. Questions 11 o 15 carry 2 marks each.
For each question, four options are given. One of them is the correct answer.
Make your choice and shade your answer (1, 2, 3 or 4) on the Optical Answer

Sheet,

{20 marks)

1. Round 35 896 to the nearest hundred.

(1)
(2)
(3
4

(1)
2)
(3)
4)

(1)
(2)
(3
4

35 000
35 800
35 500

36 GO0

0.345
300.405
340.005

5300.4

What is the value of 3 hundreds, 4 tenths and 5 thousandths?

Arrange the following numbers from the smallest to the largest.

6.036

6.306 6.360 7
Smallest Largest
6.036 . 6.306 . 636
6.36 . 6.036 . 6.306
6.36 . 6.306 ., 6.036
6.036 . 636 . 6.306



6.

What is the value of 0.3 + 607

(1
(2)
(3)
(4)

0.005

0.02

0.05

0.5

Simplify the following algebraic expression.

(1
2

3
(4)

What is the approximate mass of a school bag?

(1)
(2}

(3

4)

17d +15~3d -6

144 +9
14d + 21

20d+9

20d + 21

8g
B kg
80 g

80 kg



Which of the following is the same as 40 175 cm?
(1) 4mi75em

{2) 40m175¢cm

(3) 401m75cm

(4) 4017 mScm

A, B, C and D are points on a square grid.

Which point when joined to M and N forms an isosceles triangle?

M N_
s
(1) A
2) B
3 cC
(4 D



Use the information below fo answer Questions 9 and 10.
The table below shows the number of members in a club for the years 2020

and 2021.

10.

11.

What is the ratio of the number of boys to the total number of members
for tha year 20207

(1) 3:5
{2) 4:9
{(3) 6:18
(4) 10:19

What is the percentage increase in the number of girls from 2020 to
20217

(1) 10%
2 20%
(3)  25%
4) 50%

The journey from Sam's school fo home is 35 minutes by car. Sam wants
to reach home at 2.20 p.m. to catch his favourite television programme.
What is the latest time Sam needs to be in the car to reach home on
time?

(1) 0145
(2) 1345
(3) 0255
4) 1455



12.

13.

Three figures P, Q and R are shown in the square grid below.

Which of the foliowing statements is true?

(1)
(2)
(3}
(4)

LX=LZ
Ly =Lz
Figure P has the same area as Figure R.

Figuré Q has the same perimeter as Figure R.

| 2 1 |
Mr Raj had 360 storybooks. He sold 5 of them on Monday and 3 of the

remainder on Tuesday. How many storybooks did he sell on Monday

and Tuesday?
(1) 144
(2) 216
3y 264
(4) 384




14.  The figure is made up of a square ABCD and a rectangle CDEF.
AB =4 cm and DE = (3 + y) cm. What is the area of ABFE in squars

centimetres?

A D _@+yjem E
4 om

B C F
(1) 4ax7¥+y

(2) 4x4+3+y
(3) 4x{4+3+y)

(4) 4% 4+4x3+y

i85, The figure below is made up of 2 quarter circles of radii 7 cm and

14 cm, What is the perimeter of the figure? Take z= =

(1) 33cm
{(2) 445cm
{3) 54cm
{4) 6Blcm



Total Time for Booklets A and B:
INSTRUCTIONS TO CANDIDATES

NAN HUA PRIMARY SCHOOL

PRELIMINARY EXAMINATION — 2021
PRIMARY 8

MATHEMATICS
(BOOKLET B)

1. Write your name and index number in the space provided.
2. Do not tum over the page until you are told to do so.
3. Follow all instructions carefully,
4. Answer all qusstions.
5. Write your answers in this booklet.
6. The use of calculators is NOT allowad.
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Paper 1 Booklet A
/45
Booklet B
Paper 2 /155
Total 1400
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Class : 6

Date : 19 August 2021
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Questions 18 to 20 cary 1 mark each. Write your answers in the spaces
provided. For questions which require units, give your answers in the units
stated, [5 marks]

Bo not write
in this space

16. A handbag cost $96 after a discount of 20%. What is the original price of
the handbag?

Ans:$ | f

17.  Part of a scale is shown below. What is the value of X7

| | - |
P LT T T T T T T T T T T T T 7171
7.7 7.8 7.9 SGT

Ans

18.  Inthe square grid below, Meiqi is at one of the landmarks. She is
facing the market. When she tums 45° anti-clockwise, she faces the
school. Which landmark is Meigi at?

N
4
5 school;
e NSV SRS S—— ..M%_WW.,%"..,WW
playground | cafe .
! : :
Ans:

Subtotal /3




Do not write

19. There are 6 shaded squares in the figure. Shade 3 more squares to ,

form a symmetric figure with AB as the line of symmetry. in this space

- B
, |
A ‘J

20. The figure below is made up of a parallelogram ABCD and a

rhombus CDEF. The perimeter of the figure is 76 cm. BC = 18 om.

What is the perimeter of the rhombus CDEF?

7 / |
D C
18 cm
A B
Ans:
Subtotal i2




Questions 21 to 30 carry 2 marks each. Show your working clearly in the Do not write

space provided for each question and write your answers in the spaces in this space
provided. For each questions which require units, give your answers in the
units stated. [20 marks]
21, Find the value of T
a) -52- x 40
3
b) 21+ =

Ans: a)
b)

22.  Thefigure below shows cube A. Cube A has a volume of 8 cubic units.
Draw a cuboid with a volume of 12 cubic units in the isometric grid

below.
Cube A

Ld » - * [ > -
» L L & L »

] L] 2 £ [ ¥ ”
® [ a a a L]

» L - * » L4 L4
& - » o L L]

* [ L3 - B - L
- - & L *® ¥

2 » - L4 * L4 *
- o L 3 g & Ld

» 2 * w s L] L3
L] - L] - 2 *

L 4 L1 - - - » ¢
o ® = -~ - *

& [ '3 [ 4 ) & »

Subtotal 14




Use the information below fo answer Questions 23 and 24.

Do not write

in this space
The graph below shows the number of boxes of masks sold in a pharmacy over
5 months,
Number of boxes of masks sold
800
500 a'
| 400 -
300
200
100 —
0 - :
Jan Feb Mar Apr May
23.  What was the difference in the number of boxes of masks sold between
the month with the highest sale and the month with the lowest sale?
Ans:
24. What was the average number of boxes of masks sold from Jan to May?
Ans:
Subtotal i 4

10




25,

26.

What is the missing number in the box?

SO S
12712

12 ™ °

1

Ans

Do ot write
in this space

A square ABCD and a triangle CDE are drawn on a square grid.

» H ; B ]
i ! ! ;
N 4 < ¢
H H ¥ 3 ¥
oo b Bk i s o S e o
: 4 E H ;
H ; : H M
; ; : : :
Py - _.&.,N ~¢§x e e, o o ";. "
H . 3 i
H H H H M
: H
ok i '
-
H .

z
; ’ '
i . R
¥ 3 i
' : !
i
I £
| ; :
1 K £
d 4
é i 3
: ; 3 .
ys e e o e
H B T
{ 3 i i
H = F 4 ¥
B Rt SERTERS - i 3 - d A
; H .
i i : 3
i : H
CVATTTTTE )
: K :
i ¥ H H
i ! M H
,,,¢.] o m PR - \! R PR fah B P .. - “ ])., - e
! : H ¥
i ;
H

In the square grid,

a) draw a parallelogram BCEF.

b) draw ancther triangle DEG such that it has the same area as
triangle CDE and does not overlap triangle CDE.

Sublotal

{4

11




27. The perimeter of one face of a gubeI$ 36 cm.
Find the volume of the cube.

Ans: ; om?

28. In the figure, AEC is a right-angled triangle. BDE is an equilateral
. triangle. BCD is an isosceles triangle with BD = CD.

A

E D c

Each of the statements below is either true, false or impossible to tefll from
the information given. For each statement, put a tick () to indicate your
answer.

ossible to

“ABE is a right-angled triangle.

The area of BDE is smaller than the
area of BCD.

Do not write
in this space

Sublotal

12

14




29. The average of three numbers is 62. The difference between the greatest

number and the smallest number is equal to the middle number.

What is the sum of the two smaller numbers?

Ans:

30. The figure below shows a rectangular piece of paper ABCD. it is

folded along the line BE. ZAEB = 76°. Find £FBC.

Ans:

END OF PAPER

Do not write
in this spacs

Subtotal

/14

13
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Questions 1 to § cany 2 marks each, Show your working clearly and wiite your answers in
the space provided. For guestions which require units, give your answers in the units stated.

(10 marks)
1. A Jersey cost $26.35. A pair of shorts cost $2.55 less than the jersey. Do not
How much did a jersey and a pair of shorts cost? write in
this space
Ans; $

2.  Three girs folded a total of 500 hearts for a charity project. Susan folded
k hearts. Jiamin folded twice of what Susan folded and Rani folded 10
more hearts than Jiamin. How many hearts did Susan fold?

Ans:

3. The sum of the greatest and smallest facior of a number is 28.
List out all the factors of this number.




Do not
write in
this space

Ans: °

5. A group of children were asked to choose one ice-cream flavour,
Chocolate, Vanilla, Strawberry or Mango. The graph below shows the
children's choices. The names of the flavours are not shown.

22 -
281
24 1
20 3
‘ia :-
12 -
B 1
P
.

Number of children

Flavour of ice-gcrefim

The same number of children chose Vanilla and Mango flavour. The
number of children who chose Strawbemry flavour was the least. What
fraction of the children chose Chocolate flavour? Leave your answer in

the simplest form. :

Ans:




For questions from 8 to 17, show your working clearly and write your answers in the spaces
provided. The number of marks available is shown in brackets [ ] at the end of sach

question or part-question. (45 marks)

6. A watch cost $315 at a sale after a discount of 30% excluding GST. Do n?t
write in

(a) What was the price of the watch before discount? this space

(b) Mr Tan bought the watch during the sale. How much did Mr Tan pay
for the watch Inclusive of 7% GST?

Ans: {a) [2]

(b} , 4

7. The figure below is made up of identical isosceles triangles. Find Za.

AYA
(7

Ans: [3]




8. ABFG and BCDE are squares. Find the area of the shaded region. ﬁtgcg;
this space

Gcm

Ans: , [31




Beatrice had 396 green beads and some yeliow beads, She used the Do not
same number of green and yellow beads fo make a bracelet. The ratio of write in
the number of green beads left to the number of yellow beads left was | this space

3:5.

(a) Each of the statements below is either true, false or not possible to
tell from the information given in the question above. For each
statement, put a tick (v') to indicate your answer.

. Not possible
Statement Truse Falseﬁ o tell
There were more yellow beads
than green beads at first.

The number of vellow beads at first
was a muliiple of 5,

2]

(b) if 60% of the beads were used, how many beads were there at first?

Ans: (b) . [3}




10. The table below shows Raja's test scores for four different subjects. Do not

Part of the page had been tom off. write in
. this space

English Chinese Mathematics Se”

72 81 | )/f

Raja’'s score for Science was § marks lower than his score for
Mathematics, "

{a) What was Raja’s lowest possible score for Science?

{b) What was Raja’s highest possible average score for the four subjects?

Ans: {(a) 11

) , [3]




. L2 o . .. | Donot
1. Country A azims o vaccinate - of her total citizens. 25% of the total | write in

citizens cannot be vaccinated due to medical reasons. this space
(2) What fraction of the citizens in Country A can go for vaccination?

(b} What fraction of the citizens who can go for vaccination needs to be
vaccinated in order for country A to achieve ber aim?

Ans: (a) [1}

(b} [2]




12. The table below shows the parking charges at a car park.

_ . 1
8am.tobpm. $1.20 per§ hour
After 6 p.m. $3.00 per entry

{a) Mr Tan parked his car at the car park from 9,15 a.m. to 11.00 a.m. on
the same day. How much did Mr Tan pay?

{b) Mr Lee left the car park at 9 p.m. He paid a total of $12.60.
What was the earliest possible time he entered the car park?

Ans: {a) , 1

(b} [2]

| Do not

write in
this space




13. The figure below is made up of straight lines and semi-circles of radii Do not

8 cm and 8 cm. Using the calculator value of =, write in
this space

{a) find the area of the figure.

(b} find the perimeter of the figure.
Round your answers to 2 decimal places.

Ans: {a) {2]

(®) 131




14. A pack of trading cards contained 7 normal cards and 2 special cards. | Do not
Weihua and John each bought a box of 40 packs of card. After opening | Write in
their cards, they decided to trade with each other for the cards they | this spacs
wanted. 3 normal cards were traded for each special card. After trading,
Welhua was left with a total of 384 cards.

{a) How many cards did John have in the end?

(b) How many special cards did Weihua have in the end?

Ans: (a) 2}

{b) [21

10



15. A tank was filled with some water. A tap was turned on and water flowed Do not
into the tank at a constant rate. After some time, another tap was tumed wihite in
on. Both taps were tumed off after the tank was filled to the brim. The line | this space
graph shows the volume of water in the tank over this period of time.

260 4 N e e -
240 1 ? : ’
water ; : : :
(litres) E ESRR SN S Premedieaneaan ; i :
80 | 4
: ! ;
60 4 3 o
........................... : i
40 3 e
20 4TINS i , !, )
] i E
0 2 H i :
0 5 10 15 20 25

Time {min}

(a) At which minute was the second tap turned on?
(b} How many litres of water flowed out from the second tap every minute?

Ans: (a) [1]

(b) (2]

11



16. In the figure below, Point O is the centre of the circle. [ Do not
write |
EOF is a straight line. AOBC is a rhombus. £ZFEB = 58°. ZAOF = 103°. | nis 3;;%

F

{a) Find ZFBO.
{b) Find ZOAC.

Ans: {a) , i3]

(b) (] ﬂ

12



17. White squares and black squares are used to form a pattern. The first four

Do not

figures are shown below. write in

Figure 1 Figure 2 Figure 3

(a) The table below shows the number of white squares and black squares
for the first four figures, Complete the table for Figure 5.

Figure Number 1 2 4 5
Number of black squares 1 5 13 13
Number of white squares | 4 4 12 12 ()
Total number of squares 5 . 9 17 25 (i)

{b) How many white squares afa there n figure 107

{c) A figure in the pattern has a total of 441 black and white squares.
What is the Figure Number?

this space

Ans: a) (i)
(i) [1]
b) {2
c) [2]
----- End of Paper 2 -----

13







SCHOOL

NAN HUA PRIMARY SCHOOL

LEVEL : PRIMARY 6
SUBJECT : MATH
TERM 2021 PRELIM
BOOKLET A
Q1 Q2 Q3 Q4 Q5 Q6 Q7 Q8 Q9 Q10
3 2 1 1 1 2 3 4 1 3
Q11 Q12 Q13 Q14 Q15
2 1 2 3 4
BOOKLET B
Q16) | $120
Q17) |8.02
Q18) | Cinema
Q19)
Q20) |76-18-18=40cm
Q21) (@ 16 (b) 49
Q22)
R




Q23) | 540-280 =260

Q24) | (3204+540+300+280+460) +~ 5

=1900 =5
= 380
Q25) |3
Q26) | [T T T 17

Q27) |36 +4=9cm
9x%x9x9=729 cm3

Q28) | True, False

Q29) |62x3=186
186 + 6 = 31
31x3 =93

Q30) | £ABE=180°-90°-76°=14°
£FBC =90° - 14° -14° = 62°

Q1) $26.35 - $2.55 = $23.80
$23.80 + $26.35 = $50.15

Q2) |k+2k+2k+10=>5k+ 10
5k + 10 = 500

5k = 500 — 10 = 490
k=490 + 5 =98

Q3) | Smallestfactor =1
Greatest factor =28 -1 =27
1x27

Pg2




mber: 1, 3,9 and 27

Q4)

°-57°=123°

% — 315
15

355 %100 = $450
70

700 —— x 107 = $337.05

100

:-;-)<6x6=18cm2

0 CDE=3x3 =9 ¢m?

Area o ed AGDH: «i’-x9x3 = 13.5 cm?

54 - W&s — 13.5cm?

Q9)

) eI t possible to tell
0-60% = 40% (left)

¢
8

' 0

%% (green left)

Pg3



60% -+ 2 = 30% (green used)
30% + 15% = 45%

45% — 396 (green)

100% — == x 100 = 880 beads

Q10) a) 90-5=85

b) Math: 99
Science 99 -5 =94
(99 +94+81+72)+4
= 346 + 4 = 86.5 marks

Q11) a) 100% -25% =75%
75 _ 3

100 4

b) =2 (aim to vaccinate)
3 12

13 :
~ = — (cannot vaccinate)
4 12
3 9 :
1 -—=-— (can vaccinate)
12 12
8 9 8

Q12) a) 9.15am.to 11 a.m. = 1h 45 min
4x$1.20 = $4.80

b) $12.60-$3 = $9.60
$9.60 = $1.20 =8
8x % = 4h

Ans: 2 p.m.

Q13) a) Area of big—;— circle = —i—x mx 8% = 321 cm?

1 . 1
Area of small } circle = ~XTX 6% = 181 cm?

32m-18w = 141
141 x 3 = 427w cm? = 131.95 cm?

Pg4




b) Arc ofbig% circle = ;—xnx 16 = 87 cm

1, 1
Arc of small > circle = ZXTX 12 = 6Tt cm

8tx 3 =24mn
6mx3=18m v
24+ 18n+ (4x2) =421+ 8=139.95 cm

Q14)

a) 7+2=9
40 x 9 = 360 cards each
360x2 =720
720 ~ 384 = 336 cards
b) 360 - 336 = 24 (John lack)
24 + 2 =12 (cards John traded for special card)
40x 2 =80
80 - 12 = 68 cards

Q15)

a) 10 min

b) Tap A: 5 min —» 25 ¢
1min—>25¢+5=5¢

Aand B: 150 #-50 £ =100 £in 5 min
1min—> 100 +5=20¢

Tap B: 20¢-5¢=157¢

Q16)

a) £AOE =180°-103°=77°
<EOB = 180° - 58°- 58°=64°
£FOB = 360°-103° 77°- 64°=116°
£FBO = (180°-116°) + 2 = 32°
b) 2£0AC =180°- 77° - 64°= 39° (interior angles. AC // OB)

Q17)

(@)(1) 12 + 12 = 24
(a)(i)13 + 34 = 37

Pg5




(b) Figure 10 (even number)
Total squares: (10 + 1%) =121
White squares: (121 -1) +~ 2 =60
(c) +V441=21
Figure Number =21 -1 =20

Pgb
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Questions 1 to 10 carry 1 mark each. Questions 11 to 18 carry 2 marks each.
For each question, four options are given. One of them is the corract answer.
Make your choice and shade your answer (1, 2, 3 or 4) on the Optical Answer Sheet.
(20 marks)

1 Which one of the following is five million, one hundred and twenty thousand in

numerais?

(1) 5000120
(2) 5100200
(3) 5102000

(4) 5120000

2 Which one of the following is the same as 30 kg 70 g?

(1) 3070g
(2) 3700g
(3) 30070g
(4) 30700g

3 What is the length of the pencil?

cm
(1) 15cm
(2) 85cm
(8) 95om
(4} 10.5¢cm

NCPS_P8_Prelim_Paper 1_Booklet A_2021 1



4 Which one of the following would most likely be the mass of a mobile phone?

(1) 16g

(2) 160¢
(3) 1.6kg
(4) 16kg

5 Four letters are shown on a square grid.

(4

n
77

LN

N\l

7%

How many of the letter(s) has/ have a line of symmetry?

(1 1
@ 2
(3 3
4) 4

1
6 .. Express 355 as a decimal.

(1) 3.05
(2) 3.1
(3) 312
4y 35

NCPS_P8_Prelim_Paper 1_Booklet A_2021 2



7 Simplify Bw + 10 - 4w—8

(1) w+2
(2) w+18
{3) 9w+2
(4) 9w+ 18

] Arrange these distances from the longest to the shortest.

2km305m 2.35km 2—2— km
Longest Shortest

(1) 2km305m , 2.35km _ gg km

(2) 2.35 kmy : zg- km , 2km305m

3) 22 km . 2km305m , 2.35km

(4) 2§ km . 2.35km , 2km305m

9 The figure is formed by a square, a semi-circle and a quarter cirsle. Find the area of

22
the shaded paris. Take n = 5

14 cm

(1) 33 om?
(2) 38.5cm?
(3) 1155 cm?
(4) 154cm?

NCPS_P6_Prelim_Paper 1_Booklet A_2021 3



10

11

12

In a shop, the average number of T-shirts sold in 3 months was 28. In the first month,
13 T-shirts were sold. The difference between the number of T-shirts sold in the
second month and the number of T-shirts sold in the third month is the smallest
possible. The number of T-shirts sold in the third rmonth was fewer than the number of
T-shirts sold in the second month. How many T-shirts were sold in the third month?

1) 7
(2) 14
(3) 35
(4) 70

The figure below shows a trapezium ABCD. EDC is a straight line and AB // DC,
ZDAC = 24° and ZADE = 70°. Find ZBAC.

E
(1 24°
2) 35°
(3) 46°
(4) 55°

1 1
2 of a bar is painted biue and -2- of the remaining bar is painted yellow. What fraction

of the bar is painted?

1
M 3
3
(2) 3
5
3 3
3
@ 7

NCPS_P8_Prelim_Paper 1_Booklet A_2021 4



13  Gladys had the following types of coins in her purse.

Types of coins | Number of coins
5¢ 2
10¢ 1
20¢ 2
50¢ 1
51 1

She took out 3 coins from her purse and placed them into a donation can. Which cne

of the following amounts could not be the amount taken out of her purse?

(1) $1.25
(2) $0.90
(3) $0.75
(4) $0.55

14 There are some red and blue markers in a pencil case. The table below shows the
number of permanent and non-permanent markers.

Type Permanent Non-permanent
Red Markers 9 16
Blue Markers 8 32

Based on the information given in the table, which one of the following statements is

correct?

(1)  There are 17 permanent blue markers.

(2}  The number of permanent red markers is 36% of the total number of red

markers.,

{3} The total number of blue markers is fewer than the total number of red markers.

(4) The ratio of the number of non-permanent blue markers to the number of

permanent blue markersis 1 : 4.

NCPS_P8_Prelim_Paper 1_Booklet A_2021

5




15 A table with 4 columns is filled with numbers.in a certain pattern. The first 4 rows of
the table are shown below. |
Column A Column B Column C Column D
Row 1 1 2 3 4
Row 2 8 7 6 5
Row 3 9 10 11 12
Row 4 | 16 15 14 13

In which column will number 123 appear?

(1) ColumnA
(2) ColumnB
(3) ColumnC
(4) ColumnD

End of Paper 1 Booklet A

NCPS_P86_Prelim_Paper 1_Booklet A_2021 8
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Questions 16 to 20 carry 1 mark each. Write your answers in the spaces provided. For LDG not write
questions which require units, give your answers in the units stated. {5 marks) |7 tis space

16 Find the value of 1065 - 88

Ans:

17 Find the value of 3 + 7. Give your answer correct to 2 decimal places.

Ans:

18  Write down all the common multiples of 6 and 8 that are smaller than 50.

Ans:

MOPS_P8_Prelim_Paper 1_Booklst B_2021 1
Score:




LDO not write
n this space

8k +6
19  What is the value of when k=97

6

Ans:

3
20 At a fruit stall, the price of an orange is 7 of the price of a mango. The price of

an apple is half the price of an orange. What is the ratio of the price of an
orange to the price of a mango to the price of an apple?

Ans:

NCPS_P8_Prelim_Paper 1_Booklet B_2021 2
Score:




Questions 21 to 30 camry 2 marks each. Show your working cleédy and write your
answers in the spaces provided. For questions which require units, give your answers
in the units stated. (20 marks)

21 Meiling is 45 kg. She is 400 g heavier than her sister. What is her sister's
mass in kg?

Ans: kg

22 The table shows the charges of a photograph printing shop.

For the first two 5R photographs $3 each

Subsequent 5R photographs 32 each

Janet printed some 5R photographs. She paid a total of $30 for the 5R
photographs. How many 5R photographs did she print?

Ans:

23 A wire measuring 24 m long is bent fo form two triangles as shown. The
length used to make the big triangle is twice the length used to make the
small triangle. What is the length of the wire used to make the big triangle?

Ans: m

Do not write
in this space

NCPS_P8_Prelim_Paper 1_Booklet B_2021 3

Score:




Use the table and bar graph below to answer questions 24 and 25.

Muthu received the same amount of aliowance each month from January to
April. The table below shows the amount of money Muthu spent frem January

to April.
Months Amount of money spent
January | $80 |
February $46
March $38
- April $72

The amount of money saved is represented by the bar graph below. The bar
for the amount of money saved in April has not been drawn.

January

February

March

April

0 10 20 30 40 50 60 70
Amount of money saved ($)

24  Draw the bar for the amount of money saved in April in the bar graph above.

Do not write
in this spacs

25  What percentage of his total allowance received from January to April did
Muthu spend?

Ans: %

- -NCPS_P6_Prelim_Paper 1_Booklet B_2021 4
Score:




28  The figure shows 2 identical circles in a rectangle. A and B are centres of the
circles. What fraction of the figure is shaded? Give your answer in the

simplest form.
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Ans:

27  The figure below is made up of 5 identical rectangles, with no overlap.

Each rectangle measures 10 cm by 4 cm. What is the length of line PQ?

10 cm

4 cm

W T .

e o . o

y

%

o

Ans:

cm

NCPS_P8_Prelim_Paper 1_Bookiet B_2021

Score;

Do not write
in this space




28

In the figure, O is the centre of a circle and ABC is a triangle. ZBCA = 65°.

Find £BAC.

Ans:

29

The table below shows the number of fans owned by each household in a
block. Part of the table is coverad by ink blot. There are 58 households who

owned at least 2 fans.

Number of fans 0 1

Number of 5 9

households

£ach statement below is either true, false or not possible to tell. For each
statement, put a tick (") in the correct-column,

Statemant

True

False

Mot

possible
to tell

There were 72 households in the block.

9 households owned at least 1 fan.

The number of househoids who owned
2 fans was equal to the number of

households who owned 3 fans.

NCPS_P8_Prelim_Paper 1_Booklet B_2021 B

Score:

Do not write
in this space




3 Oo not write
30  Jasmine had a box of red and while beads. " of the total number of beads in this space

5
were red. Jasmine used 3 of the number of red beads and some white

1
beads to make a neckiace. She used E of the total number of beads to make

the necklace. What fraction of the number of white beads did she use to make

the neckiace?

Ans:

End of Paper 1 Boocklet B

NCPS_P6_Prelim_Paper 1_Booklet B_2021 7
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Guestions 1 to § carry 2 marks each. Show your working clearly and write your Do not write
answers in the spaces provided. For questions which require units, give your answers | this space
it the units stated. (10 marks)

1 A jug contained 2 litres of lime juice. Freya poured equal amount of lime juice

3
into several glasses. She poured 8 litres of lime juice into each glass. What is
the most number of glasses of lime juice she could have?

Ans:

2 The number of visitors to a gallery was 9000 in February. This was a 20%
increase from the number of visitors in January, How many visitors were there
in January?

Ans:

NCPS_P8_Prelim_Paper 2_2021 1

Score:




-3 A rectangular tank of height 2 m has & square base of side 80 cm. What is the Do not wite
1 n this spac
volume of water in the tank when itis rig filled with water? ) 0

Ans; m3

4 The square grid shows the positions of A, B, C, D, E, Fand G.

A
®
iB
®
G D
@ & N
C
E
@
.F

(2) Susanwalked directly from point F to point C in a straight line.
In which direction did she walk?

{b)  Ali stood at one of the points facing point G. After he tumed 45°
clockwise, he faced point D. Which point was Ali at?

Ans: (a)

(b) Point

NCPS_P6_Prelim_Paper 2_2021 2

Score:




5 The table below shows the number of electronic gadgets sold by Mr Tan in four po not writs
months. in this space
Months Number of electronic gadgets sold
August 156
September 132
QOctober 148
November ?
In order for Mr Tan ip qualify for the yearly ‘Best Salesman Award’, he has to
sell an average of 170 electronic gadgets for 3 out of tha 4 months, What is the
least number of electronic gadgets that he has fo sell in November in order to
qualify for that award?
Ans:
NCPS_P86_Prelim_Paper 2_2021 3
Score:




For questions 8 to 17, show your working clearly and write your answers in the spaces | Do not write
provided. The number of marks available is shown in the bracket [ ] at the end of each | in this space
question or part-question. (45 marks)

6  The prices of two sizes of candles at a shop are shown below.

Small candles $3 each

{arge candles $5 each

Sarah bought an equal number of smail candles and large candles. She spent
$120 altogether. How many candles did she buy altogether?

Ans: [3]

7 When Taps X and Y are turned on at the same time, they can fill up a tank
completely in 6 minutes. Tap X alone will take 10 minutes to fill up the tank
completely. How long will it take for Tap Y alone to fill up the tank completely?

Ans: 3]

NCPS_P8_Prelim_Paper 2_2021 4
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8  Inthe figure below, ABCD and CEFG are rhombuses. ADH and ECD are Do not write
straight lines and BC = CE. ZCGD =65°. Z/GDH = 47°, : in this space
Find ZABE.

Ans: {3]

NCPE_P8_Prelim_Paper 2_2021 5

Score:




9

The line graph shows the number of members in a club at the end of each year

from 2016 {o 2020. The number of members is not shown on the scale.

Number of

members

2020

(a)  In which year did the number of members increase the most compared

to the previous year?

{b)  From 2016 to 2020, what was the percentage increase in the number of

members?

Ans: (a)

(2]

NCPS_P8_Prelim_ Paper 2_2021

Score;

Do not write
in this spdce




. , 4 , . Do not write
10  The number of workers in Factory A was -}; of the number of workers in in this space

Factory B. When 36 workers transferred from Factory B to Factory A, both
factories had the same number of workers.,

{a) How many more workers were in Factory B than in Factory A at first?

(b) How many workers were there altogether?

Ans: (a) 2]
(b) [1]

NCPS_P8_Prelim_Paper 2_2021 7

Score:




11

Do not writs

’ in this space
ELECTRICAL APPLIANCE SALE! ’

Rice cooker
$72

. Toaster
$74

1% item at 15%
discount

2" item at 20%
discount

(0ol
S~

Microwave { Blender
$145 $75

Price of 2°¢ appliance should be equal fo or
lower than the price of 1%t appliance

Mrs Rahman bought two different electrical appliances. The total discount she
received for the two items was $26.05. How much did she spend?

Ans:

[3]

NCPS_P6_Prelim_Paper 2_2021
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12 The figure below shows a Triangle ABC drawn on a square grid. Do not write
in this space
iom
R ]
1cm 1
i C
h

yd

"

A B

H
]
H £

(a) Find the area of Triangle ABC.

{(b)  Draw an isosceles Triangle XYZ on the square grid below.
The ratio of the area of isosceles Triangle XYZ to the area of the above

Triangle ABC is 3: 2. {3)

1ch

1cm
S —

Ans: (a) [1]

NCPS_P8_Prelim_Paper 2_2021
Score:




13 Sam received $0.90 more pocket money than John every day. They each spent | Do not write
$1.80 per day and saved the rest of their pocket money. After many days, John in this space
saved $74.40 and Sam saved $130.20.

{a) How many days did John take to save $74.407

(b)  How much pocket money did both boys receive altogsther each day?

Ans: (a) 2
(b) 2]

NCPS_P8_Prelim_Paper 2_2021 10 A
Score;




Do not write

14 Alice has a triangular piece of paper ABC. She folded it along the lines FG and |in this space
DG as shown below. BGC is a straight line. BF = BG.
(a) Find zm.
(b) Find £Zn.
A
Before folding After folding
Ans: (a) [2}
{b) , (2]
NCPS_P6_Prelim_Paper 2_2021 1
Score:




Do not virite

15 Celina spent § of her money on 36 cupcakes and 32 muffins. The price of one }in this space

- 1
cupcake was thrice as much as the price of one muffin. She then used *6- of

her money to buy more cupcakes. She spent a total of $187.50 on ali the
cupcakes. How much did she spend on the muffins?

Ans: [5]

NCPE_P6_Prelim_Paper 2_2021 12

Score:




16  The figure is formed by 4 identical quarter circles. PQ is 58 cm.

(2)
(b)
©

10cm

10 cm

- oz o "

Find the radius of the quarter circle.

Find the perimeter of the figure.

58 cm

v Q)

A circular wheel is formed by the 4 identical quarter circles. The wheel
turned along the straight line WZ and reached the wall as shown below.
The distance between point X and point Z is 615.6 cm. How many turms

did the wheel make?

{Take n = 3.14)

N

Do not write
in this space

. v Wali
{
\ ’
N - . Pl
w * >z
X 615.6 cm
Ans: (a) 1]
(b) {2
(c) 2
NCPS_P6_Prelim_Paper 2_2021 13
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17 Megan stacked six 1-cm cubes together to foim the solid below. Do not virite
in this space

Top View

FrontView’ LT, \Side\liew

{a) Draw the top view of the solid in the grid below. [1]
Drawing of the top view is as seen from the front view only.

Top View

(b)  Megan painted the whole solid, including the base, red. How many of the
6 cubes had exactly four of their faces painted red?

Ans: (b) [1]

NCPS_P6_Prelim_Paper 2_2021 14

Score;




. Do not write

{c) Megan rearranged the cubes to form the following figure. She wanted to  |In this space
build a set of steps with more 1-cm cubes. The figures below show how
she built the steps.

o f ~ _, &= _*
(TIT117

If Megan continued building the steps in this way, what would be the
height of the set of steps that had 168 cubes?

Ans: (c) [3]

End of Paper
NCPS_P6_Prelim_Paper 2_2021 15

Score:
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PAPER 1 BO

Q10
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Q25) 59%

Q26) %
Q27) 30cm

Q28) 25°

Q29) True

Not possible to tell

False
Q30) 1/3

PAPER 2

2+W8=%

Q1)

9000 =80 =112.5

Q2)

112.5x 100 =11250

9000 =120 =75

= 7500
6400

75 x 100
80 x 80

Q3)

320000

Vi =

6400 x 200 x
0.32m?

a) Northeast
b) PointE

Q4)

510
510 - 156 — 148 = 206

3+5=8

170x 3

Q5)

Q6)

30

15minutes

120+8=15

15 x2

Q7)

Pg2



Q8)

2ADC=>180-65-47 =68
24BAD =>180-68 =112
2DCG =>180-65-65=150

Z/BCE => 1802‘68 =56

ZABE => 56 + 68 = 124°

Q9)

a) 2019
b) 240%

Q10)

a) 14-11=3
36+3=12
12x6=72

b) 12 x 22 = 264

Q1)

$122.95

Q12)

a) ¥2x4x6=12cm?

AN

b)

Q13)

a) 62
b) $6.90

Q14)

a) 105°
b) 64°

Q15)

140 +5=28
28x3 =84
3u = 28¢

28 + 36 =64
187.5+50=3.75
375x3=125
1.25x32=40
$40

Q16)

a) 19cm
b) 219.32cm
c) 5cm

Pg3




Q17)

b)1

Top View

c) 7cm

Pg4 .
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For each question, four options are given.  One of them is the comrect answer.
Make your choice (1, 2, 3 or 4) and shade your answer on the Optical Answer
Shesl. {20 marks)

4 Round 659 509 1o thd nearest thousand,

(1) 658000
(2) 659500
(3) 660000
(4) 700000

2 In 456,078, the digit 8 stands for

{1} Bones
{(2) 8tenths
(3) 8hundredths

(4) 8 thousandths



3

Part of a scale is shown below. What is the value of the reading at X?

(1) 10.02
2 1001
(3) 9.98
(4) 996

Which pair of lines in the square grid are paraliel?

A LT P
]
| /
AT RD /
AL
o T

(1) ADandBC
(2) AEandCF
(3) ABandCD

(4) BEandDF



5

AD, BE and FC are straight lines. Find Zg.
A
g o
35°
F
50
E

(1) 35
(2) 40°
{3) 50°
{4) 55°



KLMN is a rhombus. Find Za.

(1) 99°
(2) 104°
(3) 105°

(4)  120°



7 In the square grid below, which shape has the smallest area?

(1 () (3 4

8 Johan had 10n pans. Lih Ming had 3npens. Johan had 84 pens more
than Lih Ming. How many pens did Lih Ming have?

(1) 12
(2) 28
(3) 36

{4y 120



The table shows how Mohan spent the money his father gave him.

Amount of money spent |

Which one of the following bar graphs best represents the information
shown in the table above?

(1)

Amount of
money
spent

i 1
¥ ¥

T-shirt Food Trénsport

)

Amount of
money
spent

=

T-shirt Food Transport

(3)

Amount of
money
spent

3
¥

T-shirt Food  Transport

4)

Amount of
money
spent

L
H

T-shirt Food  Transport




40  Which of the following is likely to ba the mass of a pen?

(1) 225g
@) 225¢g
(3) 225kg
(4) 225kg

41 Arrange the following fractions from the smallest to the greatest.

5 4 5 2
6'9"142 '3

Simallest Greatest
@ 5.5 5@
SHE
SHE T I I



12

In the square grid below, Point E is south-west of Point

(1
(2)
(3)
(4)

—t =



13 What is the length of the key as shown below?

.

o o e

v O AN

a9 15 0 s e

dem 5§ 7 T Rt S

(1) 56cm
(2) 57cm
(3) B.4cm
(4 113cm

3 .
14 ¢ of the number of beads Yana had was twice the number of beads

'fﬁécla had. Find the ratio of the number of beads Yana had to the
number of beads Tricla had.

(1) 10:3

@ 3:10

{3) 8:5

(4) 5:86



The first 7 numbers of a number pattern are given below.

999 , 991 , 988 , 980 , 977 ., 969 , 966 |,
st 7th

What is the 56 number?

(1) 559
2) 691
(3) 694

(4) 702

10






NANYANG PRIMARY SCHOOL

PRELIMINARY EXAMINATION
2021

PRIMARY 6

MATHEMATICS
PAPER 1
(BOOKLET B)

Total Duration for Booklets A and B: 1 hour

INSTRUCTIONS TO PUPILS

Do not turn over this page until you are told to do so.
Foliow all instructions carefully.

Answer all questions.

Write your answers in this booklet.

The use of calculators is NOT allowed.

ORrON~

Name: : ( )

Class: Primary 6 ( )

Booklet B /25

Please sign and return the examination paper the next day. Any queries should
be raised at the same time when returning paper.




Questions 16 to 20 carry 1 mark each. Write your answers in the spaces
provided. For questions which require units, give your answers in the units
stated. (5 marks)

16 Lucy had 20 apples. 7 apples were red and the rest were green. What
fraction of the apples were red?

Ans:

17 Express 20 013 cm in m.

Ans: m

18  The opening hours of an ice cream shop is shown below. How long is
the shop open each day? Give your answer in hours and minutes.

Jessica’s Ice Cream Shop

Q Open Daily

v 11 a.m. t0 9.45 p.m.

Ans: h min




Complete the symmetric figure below with AB as the line of symmetry.

19
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What is the volume of the

The solid below is made up of 1-cm cubes.

20

solid?

cm3

Ans:




Questions 21 to 30 carry 2 marks each. Show your working clearly and write
your answers in the spaces provided. For questions which require units, give
your answers in the units stated. (20 marks)

21 What is the sum of all the common factors of 12 and 207?

Ans:

22 (a) Find the value of 45.01 - 2.8

(b) Find the value of 6.3 x 500

Ans: (a)

(b)




23  The solid below is made up of 8 cubes.

Top view

Front view °

Side view

(a) Draw the side view of the solid on the grid below.

Side View

] -] -] [] (-] 4 -] [
o -] 1] ] -] o @ o
L4 ° L4 L L] [ [ @
° ° L ° -] -] @ L
(] ° ° ] L -] -4 L

(b) Janice painted the whole solid including the base. Then she took
it apart into its 8 cubes. What is the total number of faces that are
not painted?

Ans: (b)




24  The length and breadth of a rectangle are (3y + 1) cm and (16 — y) cm
respectively. Find the perimeter of the rectangle given thaty = 5.

Ans: cm

25 Mr Jung spent $408 on some cheese tarts and some egg tarts. He
bought twice as many cheese tarts as egg tarts. Each cheese tart cost
$3 and each egg tart cost $2. How many egg tarts did Mr Jung buy?

Ans:




26

1
Joan had some rice at first. After she used 5 kg of rice to cook lunch

1
and ) kg of rice to cook dinner, she was left with 350 g of rice.
How many kilograms of rice did Joan have at first? Give your answer

as a fraction in its simplest form.

Ans: kg

27

1
Three pieces of ribbon measuring 5 m each were cut from a 1 m long

ribbon. The remaining length of the ribbon was cut into shorter pieces

1 1
of length oM each. How many pieces of oM long ribbon were

obtained?

Ans:




28 in the figure below, ABCD is a rectangle. «DCE = 38° and
£BEC =50°. Find £ABE.

38°

50°

Ans: °




29  In the figure below, ABEF is a parallelogram. ACD and ADF are
triangles. Find zy.

45° 64

110° y

Ans: °

30  The perimeter of rectangle PQRS is 8 ¢cm more than that of rectangle
PTUS. 10% of rectangle PQRS is shaded. Find the length of PT.

P T Q

Ans: cm

End of Paper
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Questions 1 to § carry 2 marks each. Show your working clearly and write
your answers in the spaces provided. For questions which require units, give
your answers in the units stated. (10 marks)

1 Mr Lim had 100 computers for sale. He sold w computers in the
moming and (2w + 3) computers in the aftemoon. He had 7 computers
left. How many computers did he sell in the moming?

Ans:
2 Mr Gopal took a taxi and his taxi fare was based on the charges shown
below.
First 2 km $3.80
Every additional 500 m or less $0.50

The taxi travelled a total distance of 10.6 km. How much was Mr
Gopal's taxi fare?

Ans: §




3 In a school Cleanliness competition, Class 6W gets a score for each of
the four terms in a year.

The table below shows the scores Class 6W gets for Term 1 to Term 3.
The score Class 6W gets for Term 4 is not shown in the table.

Term Score
1 75
2 65
3 110
4 ?

Class 6W will qualify for a Cleanliness Award if the class average score
for three of the four terms is 90 ormore. What is the lowest score Class
6W must get for Term 4 to qualify for the Cleanliness Award?

Ans:

4 Don paid $877.40 for a camera after adding 7% GST. How much GST
did he pay?

Ans: $




5 ABCD and EFHJ are parallelograms. /BCG = 125° and ZADE = 16°.
Find ZCGF.

Ans: ) °




For questions 6 to 17, show your working clearly and write your answers in the
spaces provided. The number of marks available is shown in brackets [ ] at
the end of each question or part-question. (45 marks)

6 A triangle ABF is drawn on a square grid inside a box.

-] & L] 2 © ] 2 L] L] -] o o 2 @ [}
-] ® -] ® @ L4 ] -1 -] L
[ =) 9 -] -] 1) o L 4 L] L]
-] o -] o -] -] L] o [ -]
L [ ] ® ° ® ® ] ° ® ]
L] L ® -] -] e ® 9 ? L]
-] 2 L] ° F'Y -] o o, -] -] L] L] L] @ 9
® L L4 L] o 2 D [ -] ? ] @ -] 2 @
-] @ -] -] o Y o Y -] ® [ -] -] @ -]
2 -1 ] L3 -1 [y Y E-Y @ ° @ 2 - 2 a
® L4 L] L4 -] ° o [ @ e ® @ ] 1] L}

By joining dots on the grid with straight lines,

(a) draw a trapezium ABCD such that ZABC = 90°, AD is 3 times as
long as AF and BC = DF.

[2]

{b) draw a parallelogram BECF.
[1]




A baker sold curry puffs at 80¢ each and kaya puffs at 60¢ each. Kai
Ling bought some curry puffs and Faizal bought some kaya puffs from
the baker. Faizal spent $1.20 less than Kai Ling, but bought 5 more
puffs than Kai Ling. How much did Kai Ling spend on the curry puffs?

Ans: [3]




Jinrong had a total of 304 chicken pies and blueberry pies at first. After

1
giving away an equal number of each type of pie, she had 3 of the

2
chicken pies and 5 of the blueberry pies left. How many blueberry

pies were left?

Ans: [3]




Four numbers were written on the whiteboard as shown below.

128 130 188 198

(a) What was the average of the four numbers written on the
whiteboard?

(b) After Amir wrote a 2-digit even number on the same whiteboard, the

new average of the five numbers became a multiple of five. What
was the 2-digit even number written by Amir?

Ans: (a) [1]

(b) [2]




10

Machine P prints 40 identical posters per hour while Machine Q prints
90 such posters per hour. Machine P started printing 30 minutes before
Machine Q. When the number of such posters printed by Machine P
was equal to the number of such posters printed by Machine Q, both
machines were switched off to stop the printing. What was the total
number of copies printed by the two machines?

Ans: [3]




11

A florist sold small and big potted plants.

He collected $5 for each small

potted plant and $15 for each big potted plant.

The table shows the number of small and big potted plants sold in
January and February. The number of small and big potted plants sold
in March is not shown in the table.

Month Number of potted plants.sold
Small Big
January 10 17
February 20 12
March ? ?

(a) What was the ratio of the amount of money collected from selling
the small potted plants in January to the amount of money collected
from selling the big potted plants in January? Express the ratio in

(b)

(c)

its simplest form.

The total amount of money collected from selling the big potted
plants from January to March was $585. How many big potted
plants were sold in March?

In April, the number of small potted plants sold was 30. This was
20% more than the number of small potted plants sold in March.
How many small potted plants were sold in March?

Ans:

(a) (1]

(b) [2]

(c) (2]




12

- 2
A rectangular tank measuring 54 cm by 25 cm by 24 cm was 3 full of
water. Khairul had some identical cubical containers filled with water to
the brim. The length of one edge of each cubical container was 6 cm.

After he poured all the water from all the cubical containers into the tank,

7
the tank became 1 full of water. How many such cubical containers

did Khairul have?

Ans: (41

10



13  The figure shows two stacks of identical cups. There are 4 cups in the
taller stack and 3 cups in the shorter stack. The height of the taller stack
is 25 cm and the height of the shorter stack is 21 cm.

---eopee

7

25 cm

21 cm

Omar wants to pack the cups as a single stack into a box 87 cm tall.
What is the most number of cups he can pack into the box?

Ans: [4]

1"



14 A baker baked the same number of muffins each day for sale. The bar
graph below shows the number of muffins sold by the baker from Monday
to Thursday last week. The number of muffins sold is not shown on the
scale.

Number of
muffins sold

Mon Tue Thu

(a) On which day was the number of muffins left unsold the least?

(b) The baker sold 34 more muffins on Thursday than on Wednesday.
Each time a customer bought 8 or more muffins, a free gift was given.
What was the greatest number of free gifts given to the customers from
Monday to Thursday in all?

Ans: (a) 1]

(b) [3]

12



15

Mr Ng had some red pens, blue pens and green pens. The ratio of the
number of red pens to the number of blue pens was 2 : 3 and the ratio
of the number of blue pens to the number of green pens was 9: 7.  After
he gave away some green pens and bought 26 blue pens, the total
number of blue pens and green pens decreased by 25%. in the end,
the total number of red pens, blue pens and green pens he had was 576.
How many green pens did he give away?

Ans: [4]

13



16  In the figure below, DFGH is a parallelogram and ABCH is a trapezium.
AB is parallel to HC. BCDE, GHC, AHD and GFE are straight lines.
ZBAH = 40°, Z/AGH =65° and ZBCH = 120°.

A B
40°

120°
B5° H

(a) Find ZGAH.

(b) Find ZDEF.

Ans: (@) [1]

(b) | 2]

(c) The figure above is not drawn to scale. Each of the statements
below is either true, false or not possible to tell from the information
given. For each statement, put a tick (¥') to indicate your answer.

Not possible

Statement True False
to tell

. AGH is an isosceles triangle.

. AG is parallel to DE.

g

14



17 The figure shows a circle and 4 identical semicircles drawn inside a
square of side 12 cm. O is the centre of the circle.

12 cm

(a) Find the circumference of the circle.

(b) What is the total area of the shaded parts?
Take m =3.14

Ans: (a) 1]

(b) [4]

End of Paper

15
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Q22)

Q23

Pg1l



Side View

. * 2%9 »
e
b)18
Q24) 54cm
Q25) 51
Q26) 4/5 kg
Q27) 4
Q28) 12°
Q29) 91°
Q30) 36cm
PAPER 2
Q1) 2w+w+3=3w+3
3w+3+7=100
3w =90
W =30
Q2) 10.6km - 2km = 8.6km
8.6km + 0.5km = 17R 0.1km
17 +1 =18
18 x $0.50 = $9
$9 + $3.80 = $12.80
Q3) 90x3=270
270-110—-75=85
Q4) $57.40
Q5) 180-125=55
55 -16 =39
39°

Pg 2




Q6)

a
b

Q7)

5x0.60=3
3+1.20=4.20
4.20+0.20 =21
21 x0.80 =16.80
$16.80

Q8)

64

Q9)

a) 161
b) 56

Q10)

72

Q1)

a) 10 51
b) (17 +12) x $15 = $435
$585 - $435 = $150

$150/$15 = 10
c) 120% = 30

20% =5

100% = 25

Q12)

5

Q13)

21cm + 4cm + 4cm =29cm
29cm +5=5.8cm
87cm +5.8cm =14

Q14)

a) Monday
b) 91

Q15)

Bu + 12u =576
18u =576
Uu=32
u=224
8u—-26=70
224 - 70 = 154

Q16)

a) 75°
b) 80°

Pg3




c)

False
False

Q17)

a)
b)

12cm x 3.14 = 37.68cm

12cm /2 = 6cm

6cm x 6ecm x 3.14 = 113.04cm?

12cm x 12cm = 144cm?

144cm? - 113.04cm? = 30.96cm?

30.96cm?*4 = 7.74cm?

113.04cm? x 2 = 226.08cm?

226.08cm? - 144cm? = 82.08cm?
82.08cm?/4 = 20.52cm?

144cm? - 7.74cm? - 113.04cm? + 20.52cm? = 43.74cm?

Pg 4




425

PEI HWA PRESBYTERIAN PRIMARY SCHOOL
PRELIMINARY EXAMINATION

PRIMARY 6
MATHEMATICS PAPER 1
(BOOKLET A)
19 August 2021
Name:
Form Class / Register No. : 6R /

Total time for Booklets A and B: 1h

INSTRUCTIONS TO CANDIDATES

1.

o a0 > N

Write your Name, Class and Register No. in the spaces provided
above.

DO NOT turn over this page until you are told to do so.

Follow all instructions carefully.

Answer all questions. ,
Shade your answers on the Optical Answer Sheet (OAS) provided.
The Qse of calculator is NOT ALLOWED.

This booklet consists of 8 printed pages, excluding the cover page.







Paper 1 (Booklet A)

Questions 1 to 10 carry 1 mark each. Questions 11 to 15 carry 2 marks each. For

each question, four options are given. One of them is the correct answer. Make your

choice (1, 2, 3 or 4 ). Shade the oval ( 1, 2, 3 or 4 ) on the Optical Answer Sheet.
(20 marks)

1. Round 355 074 to the nearest thousand.

(1) 300000

(2) 350000

(3) 355000
(4) 360 000

: . o : 1
2. Which of the following fractions is not equivalent to 3 ?

2
Mz

o 3
@ 3

5 2
G 3

n 2
4

3. In 5.789, what does the digit 7 stand for?
(1) 7ones
(2) 7tenths
(3) 7 hundredths

(4) 7 thousandths

PHPPS/Math/P6/Prelim/P1_A/2021 1 (Go to the next page)



4. Which of the following shows 80% of its figure shaded?

(1) (2) 3) 4)

5. There were 12 red, yellow and green beads. 4 beads were red, 3 were yellow
and the rest were green. Find the ratio of the number of red to yellow to
green beads.

(1) 3:5:4
(2) 4:3:5
(3) 4:5:3
(4 5:3:4
0. Mrs Lim uses the pail as shown for mopping the house daily.

Which of the following could be the capacity of the pail?

T
(3) 80¢ \ ,

(4) 80m¢

PHPPS/Math/P6/Prelim/P1_A/2021 2 (Go to the next page)



7. Arrange the following from the heaviest to the lightest.

1
10.15 kg 10kg15¢g 103 kg
Heaviest Lightest
1
(1 103 kg , 10.15 kg , 10kg 159.
1
(2) 10-5— kg , 10kg15¢g , 10.15 kg
1
(3) 10.15 kg , 10kg15g , 105 kg
1
(4) 10kg15g , 105 kg , 10.15 kg
8. Which of the following figures has at least 2 lines of symmetry?

(1) (3) (4)

PHPPS/Math/P6/Prelim/P1_A/2021 3 (Go to the next page)



9. Which two lines in the square grid below are parallel to each other?

(1) ABandBE
(2) AFand CD
(3) BEandCD

(4)  AF and BE

10. The table shows the favourite food of a group of pupils.
Which type of food is the most popular among the boys?

Food Number of Girls | Number of Boys Total Pupils
Pizza . 49 45 94
Burger 40 49 89
Fried Rice 50 44 94
Fried Noodle 47 48 95
(1) Pizza
(2) Burger

(3)  Fried Rice
(4)  Fried Noodle

PHPPS/Math/P6/Prelim/P1_A/2021

(Go to the next page)




11.  The solid below is made up of 9 cubes.
Which of the following shows the two correct views of the solid?

Top View

Front Vie Side View

(1) Front View Top View
2) Front View ! Top View
(3) Side View l Top View
1 |
(4) Side View ; ’r | Top Vi?w :
PHPPS/Math/P6/PreIim/;1__A/2021 5 | ,

(Go to the next page)



12.  The figure below shows a circle with a square inside it. The diameter of the
circle is 14 cm. Find the total area of the shaded parts.

(1)
(2)
(3)
(4)

(49m — 49) cm?
(49% — 98) cm?
(1967 — 98) cm?

(1967 — 196) cm?

13.  The figure below shows a square ABCD with E and F as mid-points. 3 smaller
squares are shaded as shown. What fraction of the square ABCD is shaded?

A B
’ 1
(M) s
o 2
@ ]
3 7
( ) 24
@ =
64 C
PHPPS/Math/P6/Prelim/P1_A/2021 6

(Go to the next page)



14.  Two figures M and N are shown in the square grid below. 2v = zx.

<

NS

Which of the statement(s) is/are true?
A. LW+ £LX + 2y + £z = 360°
B. Figure M has the same perimeter as Figure N

C. Figure M has the same area as Figure N

(1) Conly
(2) AandBonly
(3) AandConly

(4) BandConly

PHPPS/Math/P6/Prelim/P1_A/2021 7 (Go to the next page)



15.  The table shows how a group of 110 students go to school.

Mode

Walk

Bus

Car

Train

Students

30

40

15

25

Which of the following bar graphs represents the information shown in the

table above?

(1)

Number of
students

(2)

Number of
students

(3)

Number of
students

4)

Number of
students

Walk

Car

Bus Train
Waik Bus Car Train
Walk Bus Car Train
Walk Bus Car Train

- End of Booklet A -

PHPPS/Math/P6/Prelim/P 1_Ar2021
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(Go to the next page)
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Questions 16 to 20 carry 1 mark each. Write your answers in the spaces provided. For
questions which require units, give your answers in the units stated. (5 marks)

16 Find the val f3'9
. ind the value ot -+ -+

Ans:

Do not write
in this space

5
17.  Express 3 as a percentage.

Ans: %

18. A bag of rice is placed on a scale. The figure shows part of a scale.
What is the mass of the bag of rice?

P T

Ans: kg

PHPPS/Math/P6/Prelim/P1_B/2021



19.  How many marked angles in the figure below are greater than a right angle?

Ans:

Do not write

in this space

20.  The line graph shows the number of bicycles rental from February to June.
In which one-month interval period was the increase in the number of bicycles
rental the most?

4000
3500 —%
el N\
el \
3000 < ¢ »
pd \ V4
yd \ y4
4 N\ /
2500 - S 7
4 N\ /7
4 AN pd
Number 2000 A o -
of bicycles 7~ X v
A \\ //
1500 N
N
-4

1000

500

O N
February March April May June
Month
Ans: From to
2

PHPPS/Math/P6/Prelim/P1_B/2021



Questions 21 to 30 carry 2 marks each. Show your working clearly and write your
answers in the spaces provided. For questions which require units, give your answers

in the units stated. (20 marks)

21. 10.4 kg of flour was packed equally into 20 bags.
How much flour was in each bag?

Ans: kg

Do not write
in this space

22. A machine prints 60 pages in 10 minutes.
At the same rate, how many pages can it print in 2 hours?

Ans:

5t
23. Find the value of 4t-§- + 8 when t = 6.

Ans:

- 1 5
24.  Siti had 1 £ of syrup. She used g'f of syrup on Saturday and 5 of the remaining

syrup on Sunday. How many litres of syrup did Siti have left?
Leave your answer in the simplest form.

Ans: !

PHPPS/Math/P6/Prelim/P1_B/2021




25.  Mr Poh worked 3 h 45 min in the morning and 4 h 30 min in the afternoon.
(a)  How long did he work in total for the day?

(b)  Mr Poh had an hour of lunch in between work. He left work at 17 25.
At what time did he start working? Give your answer in 24 hour clock.

"Ans: (a) h min

(b)

Do not write
in this space

26. The square grid shows the position of points A, B, C, D, E, F,G,Hand L

N
& L N A
D F
o——o o
L4

(@)  Inwhich direction is G from C?

(b) Mandy stood at one of the points facing A. After she turned 135°clockwise, | ..

she faced F. Which point was Mandy at?

Ans: (a)

(b)

PHPPS/Math/P6/Prelim/P1_B/2021




Do not write
27. Bala bent an 80 cm wire to form a figure of 2 squares X and Y as shown below. | in this space

1
The area of square X is ) the area of square Y. What is the area of square X?

>< :

Ans: cm?

28.  Adam, Bryan and Charlie each had some money. Bryan and Charlie had a total
of $5.90 more than Adam. Adam and Charlie had a total of $20.70 more than
Bryan. How much more money did Adam have than Bryan?

Ans: $

PHPPS/Math/P6/Prelim/P1_B/2021



29. The bar graph shows the total number of hours worked by 3 companies from
January to March.

5000

4500

4000

3500

Total 3000
Hours

Worked 2500

2000
1500
1000
500
O 3 ] A
January February March
The bar graph shows the number of workers in each company from January
to March.
Number of Workers
Company C
Company B
Company A
0 10 20 30 40 50

What was the average number of hours worked by each worker from January to
March?

Ans: h

Do not write
in this space

PHPPS/Math/P6/Prelim/P1_B/2021



30.  The figure below shows a trapezium VWXY. VZY is a straight line.

S
z Y

Each of the statements below is either true, false or not possible to tell from the
information given. For each statement, put a tick (v') to indicate your answer.

Statement True False | Not possible
to tell

Za+ £4b+ Lo+ £d = 180°

£b+ Lo =90°

WXYZ is a trapezium

Do not write
in this space

End of Paper

PHPPS/Math/P6/Prelim/P1_B/2021
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Questions 1 to 5 carry 2 marks each. Show your working clearly and write your Do not write
answers in the spaces provided. For questions which require units, give your | in this space
answers in the units stated. (10 marks)

1. The figure below shows a rectangular tank containing some water.

2
How much water has to be poured out of the tank for it to be 5 full?

18 cm

g

20 cm

Ans: ml

PHPPS/P6/Prelim/P2/2020 1 (Go on 1o the next page)



Do not write
in this space
2. Henry’s monthly salary was $500.

The line graph shows the amount of money he spent each month.

600
500
400
Amount
Henry
Spent 300

($)
200

100

3
Write down all the months in which Henry spent more than 7 of his
monthly salary.

Ans:

PHPPS/P6/Prelim/P2/2021 o 2 - (Go on to the next page)



Do not write

in this space

3. A rectangle has a perimeter of (y + 9) cm. The breadth is 2 cm.
(a) What is the length of the rectangle in term of y?

(b)  Find the area of the rectangle if y is 11 cm.

Ans (a): cm
(b): cm?
3 .
4 In a bag, 3 of the buttons were green. There were four times as many blue

as red buttons. There were 24 more blue than green buttons. What was the
total number of buttons in the bag?

Ans:

PHPPS/P6/Prelim/P2/2021 3 (Go on to the next page)



] Do not write
5. Measure and write down in this
space

(a) the size of ZWXY

X
\_
Y
‘-\\
A
Ans: (a) °

(b) Circle the words that describe WXYZ correctly in the following
statement:

WXYZ is a (parallelogram / rhombus) because all four sides (are / are not)
equal in length. '

PHPPS/P6/Prelim/P2/2021 4 : (Go on to the next page)



For questions 6 to 17, show your working clearly and write your answers in the | Do not write it
spaces provided. The number of marks available is shown in brackets [ ] atthe | thisspace
end of each question or part-question. (45 marks)

6. (a) Draw the rectangular block on the grid provided.
ST has been drawn for you.

o L] & e [ .- L]
L] L4 o © ° L]
L o -4 [ 4 [ 4 L4 e
. [ o L] [ o -3
3 unlts ® ° -] o -] ° L]
o ° L. L4 ° L3
-3 -3 ® [ [ [ PS
4 units e . . . ° e
[ 4 [ @ ° L] [ 4 o
S ® o o L e °
L] ° L] L ° L L]
7 units ° °
o a
T © L]
o o L]
° °
L] e °
L] ®

[1]

(b)  Ali painted the whole rectangular block with red paint. He then cut the
block into smaller unit cubes. What is the greatest number of unit
cubes he can get?

(c) How many of the unit cubes had exactly two of their faces painted red?

Ans: (b) [1]

(c) [1]

PHPPS/P6/Prelim/P2/2021 | 5 (Go on to the next page)



Do not write ir
this space

7. The table shows the mailing charges to Korea.
Mass Step By Sea By Air
First 100 g $0.40 $1.80
For every additional 100 g $1.20 $8.40

(a) Kelly sent a parcel weighing 250 g to Korea by sea. How much did she

pay for the mailing charges?

(b)  Mary paid a total of $29.20 to send a parcel to Korea. By which way
did she send the parcel? What was the greatest possible mass of the

parcel in kilograms?

Ans: (a)

(b) Way:

(1]

2]

PHPPS/P6/Prelim/P2/2021 6
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8. A triangle R is drawn on the square grid as shown below.

(a) Find the area of triangle R.
//
"
PEany
// / I 1cm
>
1cm

(b) Within the square grid below, draw and label a right-angled triangle
ABC such that triangle ABC is three times the area of triangle R.

Line AB has been drawn. [1]
Al
B
(c) Measure the line AC to the nearest centimetre.
Ans (a): [1]

(c): [1]

PHPPS/P6/Prelim/P2/2021 7 - | (Go on to the next page)



9. There are 8 boys and 14 girls. An equal number of sweets were given to each

2
child. When the girls gave 3 of their sweets to the boys, the boys had 264
more sweets than the girls. How many sweets did the girls give to the boys?

Ans: [3]

PHPPS/P6/Prelim/P2/2021 8 (Go on to the next.page)



Blank Page
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Do not write

10.  The line graph shows the amount of water that flows from Tap A into an | " this space

empty tank over 25 minutes.

120
100 —9
=
Amount 80 = -
of 0 =
water 6 — = -
Lit
(Litres) 40 =
el
//
20 ——
//
0
18 00 18 05 18 10 18 15 18 20 18 25

Time

Tap B was turned on at 18 05 to drain water out of the same tank.
Both taps were then tumned off at 18 25.

The line graph shows the volume of water left in the tank from thé start.

70
60 ; —
//
50 ——
Amount
of 40 // =
water
(Litres) 30 //'/
//
20 Y
yd
Z
4
10 -
p4
Z
7
0

18 00 18 05 18 10 18 15 18 20 18 25

Time
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(a) What was the amount of water in the tank when Tap B was turned on
at 18 057
(b) What was the amount of water left in the tank at 18 157

(c) How many litres of water was drained out in a minute?

Ans: (a) [1]

(c) [

PHPPS/P6/Prelim/P2/2021 11 (Go on to the next page)



Do not write

11.  In the pattern below, each square is either empty or filled with a circle. in this space

Q|
€] [€)€)
€]S]

.

Fig 1 - .
ig 2 .
Fig 3

Fig4

(a) How many circles are there in Figure 107

(b)  Which figure has 624 empty squares?

Ans: (a) [1]

(b) [2]

PHPPS/P6/Prelim/P2/2021 12 (Go on to the next page)



Do not write

12.  Jack had 3 times as much money as Bill at first. Bill received some money | " this space

and Jack spent some money. The amount Bill received was 4 times the
amount Jack spent. After that, both of them had the same amount of money.
They had a total of $332.80 in the end.

(a)  What fraction of his money did Jack spend?

(b)  How much money did Bill receive?

Ans: (a) [2]

PHPPS/P6/Prelim/P2/2021 13 (Go on to the next page)



Do not write

13.  In the figure below, rectangle ABCD overlaps with a circle with centre A. in this space

1
The area of the shaded part is 3 the area of the rectangle. The total area of

22
the unshaded parts of the figure is 770 cm?. Take n = Fa

B 33 cm C

(a) Find the length of AB.

(b)  What is the perimeter of the figure?

Ans: (a) [31

(b) [2]

PHPPS/P6/Prelim/P2/2021 C 14 ' (Go on to the next page)



Do not write

14. I the figure, ABCD is made up of triangles ABC, ACE and AED. AD = EB, | " this space
CED is a straight line.

(a) Find £BEC.

(b) Find £ZACB.

Ans: (a) 2]

(b) 2]

PHPPS/P6/Prelim/P2/2021 15 (Go on to the next page)



15.

Do not write

Dani collected $235 in a donation drive on Saturday. The number of $2, $5 | I this space

and $10 notes were in the ratio of 6 : 3 : 2. Dani collected another $68 on
Sunday. As a result, the number of $2 notes was increased by 30% and the
number of $5 notes was increased by 40%. The remaining notes were $10.

(a) How many $10 notes were collected on Saturday?

(b)  What was the percentage increase in the number of $10 notes
collected from Saturday to Sunday?

Ans: (a) 21

(b) [3]

PHPPS/P6/Prelim/P2/2021 16 (Go on to the next page)



16.  The figure is made up of two squares. ABC is a straight line.

(@) Find £x
(b)  Find 2y
A B C

32°

Ans: (a) [2]

ORI 2]

PHPPS/P6/PreIim/P2/2021 17 (Go on to the next page)



Do not write
17. In a donation drive, five classes A, B, C, D and E baked some cupcakes for | this space

sale. The bar graph shows the number of cupcakes baked by classes A, B,
CandD.

The number of cupcakes baked is not shown on the scale.
The bar for the number of cupcakes baked by class E has not been drawn.

Number of Cupcakes Baked By Each Class

T

A B C D E

(a) The average number of cupcakes baked by the five classes is the
same as the number of cupcakes baked by class D. How many
cupcakes did class E bake? Draw your answer on the bar graph. [2]

(b) The table shows the number of cupcakes sold by classes A, B, C

and D.
Classes Number of Cupcakes Sold
Small Large

A 44 20
B 8 24
¢ 48 32
D 22 34
E

Classes D and E sold 80% of their baked cupcakes.
How many cupcakes did class D bake?

(c)  Write down one possible set of values for the number of small and
large cupcakes sold by class E.

Please show your working and answers on the next page.

PHPPS/P6/Prelim/P2/2021 18



A'ns:> (b)

(c) Small:

m |

Large:

PHPPS/P6/Prelim/P2/2021
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Quastions 1 1o 10 carry 1 mark each. Questions 11 to 15 cany 2 marks each.

For each question, four options are given. One of them is the corvect answer.

Make your choice {1, 2, 3 or 4). Shade your answer {1, 2, 3 or 4) on the OAS provided.
All diagrams are not drawn o scale.

1. Express two million, five hundred and two thousand, two hundred and five
as a numeral,

(1) 2002705
(2) 2502025
(3) 2502205
(4) 2520250

2. Which of the following is greater than ;— ?
(D
(2)
(3)

(4)

Ol WIW WIN Nf-

Page 2 of 17



Which peint is South-West of Point E?

1
(2)
(3)
(4)

O 0 w »

Page 30f 17



4.  The area of the shaded face of the cuboid is 18 cn?. lts length is 4 om.
Find the volume of the cuboid.

4 cm

(1) 45cm?
(2) 22cmd
(3} 72cm®
(4) 288cm?

5.  Inthe figure, EACDF and BDG are straight lines. ZABC = 407,
ZEAB = 110° and FDG = 36°. Find ZCBD.

B
400
110°
& A Cc D 36° F
G

(1) 34
@ 36
3 70°
4) 74
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6. Whatis the mass of the watermelon?

) 2.7kg
() 2.8kg
(3) 3.2kg
(4)  3.3kg

7. Thefigure consists of a square and an equilateral triangle. Find its
perimeter.

Bem

(1) 40cem
(2) 48cm
(3) 56cm
(4) 98cm

Page 5 of 17



10.

1 o
In a library, 2 of the books are magazines. Half of the remaining books are

fiction books. What is the ratio of the number of fiction books o the number
of magazines?

M 1:2
@ 2:1
(3 2:3
@ 3:2

Jamie spent 70% of her savings on a laptop and had $2100 left. How much
savings did she have at first?

(1) $7000
(2) $4900
(3) $3000
{4) $2100

The cost of a pen is $n. A book costs $8 more than a pen. Express the
total cost of 2 books and 3 pens interms of n,

{1) $(5n-12)
{2) $%(5n-230)
{3) %5n+12)
{4) $(5n+30)

Page 6 of 17



11. The price of a bag was $800 before GST. How much did Mrs Tan pay for
the bag including the 7% GST?

(1) $56
(2) $744
(3) %807
(4) $856

12, Richelle had some of 20-cent and 50-cent coins. The total value of the coins was
$40. For every five 20-cent coins, there were two 50-cent coins. How many coins
did Richelle have altogether?

(1) 20
(2) 40
(3) 100
(4) 140

13.  Jane baked some butter and chocolate cookies. After eating 7 butter
cookies, she found that the number of chocolate cookies left was 3 times
the number of butter cookies left. She packed the remaining cookies
equally into 9 boxes. Each box contained 16 cookies. How many butter
cookies did Jane bake?

(1) 36
(2) 43
(3) 108
(4) 115

Page 7 of 17



14. By rounding each of the numbers to the nearest whole number, estimate
the value of:

11.5%x 8,97 ~ 4.54

(1) 48
(2) 94
(3) 103
{4) 104

15. Egg tarts are sold in boxes of 2 for $3. Fruit tarts are sold in boxes of 4 for
$4. Mrs Asfarah wants to buy an equal number of egg tarts and fruit tarts.
What is the maximum nimber of tarts she can buy with $857

(1) 32
(2) 34
(3) 64
(4) 68

Page 8 of 17



Questions 16 to 20 carry 1 mark each. Write your answers in the spaces provided.
For questions which require units, give your answers in the units stated. All diagrams
are not drawn to scale. Answers in fractions or ratio must be expressed in the simplest
form.

16.  Fill in the boxes with a correct eperation symbol.

+ X

¥

o
1l

(3 5 2) 68

17. Kate painted a picture in 2 h 45 min. She completed her painting at
21 30. What time did she start painting? Give your answer in 12-hour
clock.

Ans: p.m.
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18. Find the value of 42 + 4. Give your answer as a mixed number in its

simplest form.

Ans:
19.  Find the value of 201.4 — 9.86.
Ans:
20, Day Mon to Thur Frito Sat Sun
No of hours 8 | 5 0
worked per day

The table shows the number of hours Terry worked in a week delivering
parcels. What is the average number of hours he worked per day?

Ans:
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Questions 21 1o 30 carry 2 marks each. Show your working clearly in the space
provided for each question and write your answers in the space provided. For
questions which require units, give your answers in the units stated. All diagrams are
not drawn to scale. Answers in fractions or ratio must be expressed in the simplest
form.

21, What is the missing number in the box? Give YOUr answer as a fraction in
the simplest form.

+ ? :_E.,,.
10

B[ e
(4, PN

Ans:

22. A wooden plank is 1.08 m long. Mr Amir sawed it into 4 pieces. Each
piece was 8 cm longer than the previous piece. What was the length of
the shortest pisce? Give your answer in cm.

Ans: _em
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23. The figure shows two squares. The perimeter of Square Bis 12 cm
more than the perimeter of Square A. Given that the total perimeter of
the two squares is 148 cm, find the value of m.

mam

Square A Square B

Ans:

24, Mariko could pack some pens into bags of 8 or 12 with no remainder,
When she packed the pens into bags of 10, she needed 4 more pens.
What was the smallest possible number of pens that Mariko had?

Ans:
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25. A piece of paper in the shape of an isosceles triangle is folded along the
dotted lines. Find 2x.

Ans:
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26. Mary wanted to buy 50 lemons. The lemons were sold either for 85 cents
each or at $3 for a bag of 4 lemons. What was the least amount of money
that Mary would need to pay for the lemons?

Ans: $

27. PQRS is a rectangle and PUS is a triangle. The area of triangle PTS is

12 cm?. Find the area of the PQRTUS.
gcm

i4com

w
/H

Ans:
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28. The table shows the rental rates of bicycles.

Adult Children

Rate $10 per hour or part thereof $5 per hour or part thereof

Mr Chandran paid $60 to rent a bicycle for himself and a bicycle each for his 2

children. What was the maximum number of hours they had rented their
bicycles?

Page 15 6f 17




29. The graph shows the mass of durians bought by the different families.

Lim +
]
i
L}
]
'
1
:
Family  Tan - !
)
(]
L] 3
] ]
H ]
3 E]
L] i
3 ]
. : :
Chan 1 ’ '
] [ H
: P
0 10 20 30
Mass of durians {kg)

The 3 families paid a total of $1200 for the durians they bought. How much did
1 kg of durian cost?

Ans: §
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30.

The ratio of the area of the square fo the area of the triangle to the area of
1 3
the rectangle is 5: 8 20, if 5 of the rectangle and 2 of the triangle is

shaded, what fraction of the figure is shaded? Give your answer in the
simplest form.

Ans:

~ End of Paper
© Please check your work carefully ©
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Questions 1 to 5 carnry 2 marks each. Show your working clearly in the space
provided for each question and write your answers in the spaces provided,

Figures are not drawn to scale.

For questions which reguire units, give your answers in the units stated.

Answers in fractions or ratio must be expressed in the simplest form. {10 marks)

1. Ali's salary was $4800 in June. His salary was $3840 in July. What was the
percentage decrease in his salary?

Ans: % {2}
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2. The line graph shows the amount of money Siti had in her bank on the last day

of every month.

200 - — !

180
160 - ) B /
140 ] rd

120 +— -
Amount of

money (8) 190 T4

30

&0

40

20

lan Feb Mar Apr May Jun

Every month, Siti would deposit some money into the bank without making any
withdrawal.

(2) In which month did she not make any deposit?

(b) In which month did she deposit the most amount of money?

Ans : {a) [1]

(b) [1]
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3. Inthe figure, ABCD is a parallelogram. BCG and EFG are straight lines,
AE = AD, £ZEBG = 52° and ZEFD = 88°. Find ZDEF.

52°

Ans : °[2]

4. Jaz, Kumar and Farah shared the cost of a laptop. Jaz paid %of the total share of

Kumar and Farah. Kumar paid %-of the total cost of the laptop. Farah paid $186

more than Jaz. How much did the laptop cost?

Ans: $ 2
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5. The figure is made up of two rectangles ABCD, EFGH and a triangle BCJ.
AD =6 cm, AB =8y omand BJ = CJ.

A“, 8yem B

6 cm

Each of the statements below is either frue, false or not possible to tell from the
information given. For each statement, put a tick(v) to indicate your answer.

A’(ﬂa) The area of rectangle ABCD is
48y em?,

(b) The area of the shaded area
EFGH is 33y cm? lesser than the
area of ABCD.

(c) The perimeter of ABJCD is
(16y + 18) cm.

2]
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For questions 6 to 17, show your working clearly in the space provided for each
question and write your answers in the spaces provided.

The number of marks available is shown in the brackets [ ] at the end of each
question or pari-question.

Figures are not drawn to scale.

Answers in fractions or ratio must be expressed in the simplest form. (45 marks)

6. The figure shows a square garden with a footpath. The area of the garden is 100 m2,
The width of the footpath is 2 m. Mr Chan wants {o place 128 round stones each with
a diameter of 0.5 m on the footpath. The stones cannot overlap one another. Use the
calculator value of 7 to find the area of the footpath not covered by the stones in
square metres. '
Round your answer to 1 decimal place.

Footpath
N
L b
g,
L
6m

Ans: [3]
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In the figure, PQRS is a parallelogram. TXRV and TPS are straight lines.
TU is parallel to PQ. £UTX =79°, ZQRY = 143° and ZR8V = 21°.

(a) Find ZXQR.

(b} Find £ZSVR.

79°

Ans:(a) [1]
(b} , _[2]
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Mary decorated her house with balloons for a party. She arranged 14 balloons
hanging on the rope from one end of the wall to another end of the wall as shown in

Figure 1.
The balloons were arranged at an equal distance of 30 cm apart.
35cm 30cm 30 em 35com
X s ) ) —
2 13 14
Figure 1
wall

wall

On the actual day of the party, she burst 4 of the balloons and had to reamrange the

balloons with a new gap as shown in Figure 2.

50 cm 2om ? cm 50 cm
. M——% I M— >
Figure 2
wall
wall
What is the length of the new gap between any two consecutive balioons?
Ans : [3]
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8. The mass of a volleyball is 0.21 kg more than a tennis ball. The mass of 2
volleyballs is the same as the mass of @ tennis balls. Find the total mass of 1
volleyball and 1 tennis ball in grams.

Ans : [3]
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10. Tom spent $1440 of his salary on food, gave 40% of the remaining money fo his
parents and saved the rest. He saved 15% of his salary every month.
{a) What percentage of his salary did he give o his parents?
{b) What was Tom's monthly salary?

Ans: (a) {1

(b)._. 2]
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11.  Two printing machines, A and B, were used to print the pages of some books. Machine
A can print 110 pages per minute. Machine B can print 2 pages per second.
(a) What is the difference in the number of pages printed by the machines in 1
minute?
(b) Both machines were used to print the pages of some books. Machine A started
printing at 8 a.m. Machine B started printing at 8.45 a.m., while Machine A was
still printing. At what time did both machines print the same number of pages?

Ans: (a) 11

(b) (3]
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12. The bar graph shows the number of visitors to an art gallery.

3 T T T

T 1 R

2 1 M

A 1 3 ]

L] [ [ H

# i L] *

4 '3 e ¥

1 1 3 k3

i i |3 3

[] 3 [] ]

1_ [} ¥ k4

- H : y

] } ] 3

1 1 1] E

3 1 | 1 )

! ¥ 4 E

» 1 ]
Number of R— ~

visitors T r ,': !
; em + 3 1
] 3 E 1

1 [] 3 ¥

1§ il ] ¥ ; e

1 . 1 1

1 |3 3 1

i ] 3 1

¥ ¥ k] 1

. ! L i :
. I ) ] )
X ] $ i ]
™ T 5 T T
. b 1 L

i _t 1 1

] L I 1 1

1 ¥ 1 ] e
; , i :
Mon Tue Wed Thu Fri

{a) There were 56 more visitors on Monday than Tuesday. How many visitors were
there at the gallery on Monday?

{b) The average number of visitors at the gallery for Wednesday to Friday was 75.
Thers were more visitors on Wednesday than Thursday. Given that the difference
between the number of visitors on Wednesday and Thursday was the smallest
possible number, what was the number of visitors on Thursday?

Ans: {a) [2]
) 2]
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5
13, Tank X is 30 cm long, 10 cm wide and 20 em high. itis 5 filled with water. Some

water is poured into an empty cubical Tank Y until it is completely filled. The length of
Tank Y is 15 cm.

(a)  Whatis the volume of water in Tank X at first? Give your answer in cm?3,

(b)  Whatis the volume of water left in Tank X? Give your answer in litres.

20 cm
. 10 cm :
30 cm 15 cm
Tank X TankyY

Ans: (a) [2]
(b) [2]

Page 13 of 17



14. ABCD is a square. BFE and AFC are straight lines. BC = BE and £EAF = 18°.
(a) Find ZABE.
(b) Find £ECD.

Ans: (a) __. [2]
(b) [2]

Page 14 of 17



circle. O is the centre of the big semicircle and quarter circle. The diameter of the big

semicircle is 4 times the radius of the small semicircle. The length of OC is 8 cm.

(b) Find the perimeter of the shaded parts.

15. The figure consists of a square, a big semicircle, 2 small semicircles and a quarter
(a) Find the diameter of the small semicircle.
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16. Mr Chew had 152 more mangoes than durians. He sold some mangoes and
durians. The ratio of the number of mangoes sold to the number of durians sold is
3 : 1. The ratio of the number of durians sold to the number of durians leftis 1. 2.

2
3 of the fruit left were mangoes.

{a) How many durians did he have left?
{b) How many mangoes did he have at first?

Ans: (a) i3]

(b) 2]

Page 16 of 17



17. Tammy sold some shoes and backpacks and received $16 107. Tammy received
$663 more from selling the backpacks than from selling the shoes. Each backpack

3
cost $69 less than each pair of shoes. The number of pairs of shoes sold was 5 of

the number of backpacks sold.
(a) How much money did she receive from selling the shoes?
{b) How many backpacks did she sgil?

Ans: (a) , 1]

{b} [4]

End of Paper
Please check your work carefully ©
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PAPER 2

Q1) 4800 — 3840 = 960
960
m X100 =20
Q2) (a)April
(b)March
Q3) 180 —-26—-98 =56
180 — 52 =128
(180 —128) +2 =126
52 —26 =26
Q4) $1860
Q5) (a) True
(b) Not possible to tell
(c) Not possible to tell
Q6) X 0.2%0.25=0.06257
0.0625m X 128 = 8n
32—-8r=6.9
Q7) 180 — 143 =37
180 —-37—-79 =64
360—-79—-37-143 =101
180 —101—21 =58
(a) 64
(b) 68
Q8) 13 x 30 = 390
35x2=170
390 + 70 = 460
50 x 2 =100
460 — 100 = 360
360 +9 = 40cm
Q9) 0.21 X 2 = 0.42
9-2=7
0.42 +7 =0.06

0.06 +0.21 = 0.27
0.27 + 0.06 = 0.33
0.33kg = 330g

Pg 2




Q10)

100 X 15 = 25
60 B

40
20 X15=10
100 ~ 25 =75
100
1440 x —e = 1920
(a)10%
(b)$1920

Q11)

2X60=120
120 -110=10
110 x 45 = 4950
4950 + 10 = 496
495 + 60 = 8R15
(a)10
(b)5.00pm

Q12)

56 +14 =4
31 x4 =124
75 %X 3 =225
30 x4 =120
225—-120 = 105
105—-1 =104
104 =2 =52
(a)124
(b)52

Q13)

30x 10 x 20 = 6000

5
6000 x 3= 3750

15X 15 x 15 = 3375
3750 — 3375 = 375
375ml = 0.375!
(a)3750cm?
()0.3751

Q14)

45 -18 =27
45+ 18 = 63
180 — 63— 63 =54
90 —-54 =36
(180 — 36) = 2 = 72
90-72=18
(a) = 54°
(b)18°

Pg 3




Q15) 8x2=16
16 +-4=4
4x2=28

1
7 X 16 X 3.14 = 12.56

8 x 3.14 = 25.12
2512+ 1256+ 16+ 8+ 8 = 69.68
(a) 8cm
(b)69.68cm

Q16) ml:dl:t=2:1:3=4:2:6
4u = 152
= 38
2u=176
7u = 266
(a)76
(b)266

Q17) 16107 — 663 = 15444

15444 -2 =7722

7722 3 = 2574
7722 + 663 = 8385

8385 +5=1677
2574 — 1677 = 897

897 + 69 =13
13 X5=65
(a)$7722
(b)65

Pg4
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Questions 1 to 10 cary 1 mark each. Questions 11 to 15 carry 2 marks each.
For each question, four options are given. One of them is the correct answer.
Make your choice (1, 2, 3 or 4). Shade the correct oval (1, 2, 3 or 4) on the
Optical Answer Sheet. (20 marks)

1 What does the digit 5 in 4.265 stand for?

(1) 5ones

(2) 5 tenths

(3) 5 hundredths
(4) 5 thousandths

2 How many hundreds are there in ten million?
(1) 1000
(2) 10000
(3) 100000

(4) 1000 000

3 What is the length of the pencil below?

pencil
! — — — — ] >
[l;ll[lIll[llll[llll[llll[!lil[
0 1 2 3 4 5 6 cm

(1) 5.1cm
(2) 5.2cm
" (3) 53cm

(4) 5.6cm



The opening hours of 3 cafes on each day are listed in table below.

Cafe A Cafe B Cafe C

0900 to 1530
1700 to 1930

10.30 a.m. to 8 p.m. 1300 to 2330

Which of the following timeslots would you find that all the 3 cafes are
open for the day?

(1) MMam.to1pm.

(2) 5.30p.m.to7 p.m.

(3) 9.30a.m.to 12 noon
(4) 7.30p.m.to11.30 p.m.

The figure below is formed by using 2 identical squares of side 7 cm.
Find the area of the figure.

(1) 28cm?
(2) 42cm?
(3) 49 cm?
(4) 98 cm?

In a game, three participants obtained scores in terms of w as shown
in the table below.

Participant Ali Ben Cindy
Score w+5 4w -2 30 - 2w

Ifw = 2, find their total score.

(1) 39
(2) 42
(3) 51
(4) 55



The table shows the number of people at a party. Half of them are girls
and women. How many boys are there at the party?

People Men Women Boys Girls
Number 7 9 ? 15
(1) 24
(2) 17
(3) 16
(4) 15

Study the 4 figures below.

Circle Rhombus

Parallelogram . .
Equilateral Triangle

How many of these figure(s) has/have at least 1 line of symmetry?

(1) 1
(2 2

3> 3
(4) 4



10

5 .
Mrs Wee had 3 kg of sugar. She packed the sugar into bags such

1
that the mass of each bag of sugar was 0 kg. After packing the most

number of such bags of sugar, how much sugar was left over?
T

(1) ko
2 ! k

(2) 3kg

(3) 75kg

4y = kg

Study the figure drawn on the square grid below.

Which of the following describes the 2 listed figures correctly?

Isosceles Triangle Trapezium
(1) CDE AKND
(2) ABE BCNK
(3) LME BCDE
(4) BCE ABCD



11

12

13

On the square grid below, A, B, C and D are 4 towns.

A

C

N

t

Which of the following statements is correct?

(1) Bis
(2) Ais
(3) Bis

eastof D
northof B
north-east of C

(4) C is south-westof D

The table shows the rate of charges for each game played at a carnival.

For the first 3 games

$4 per game

After the 3 games

$3 per game

Janet went to the camnival with $40 for playing games. At most, how
many games could she play?

(1) 10
(2) 12
(3) 13
(4) 14

Jim used a calculator to find the average of 4 numbers. The sum of
the 4 numbers was calculated accurately. While dividing, he made a
mistake by pressing 6 instead of 4. He obtained the incorrect answer
of 72. What should be the correct average?

(1) 48
(2) 96
(3) 108
(4) 216



14 The figure is made up of 4 identical quarter circles and a square. The
radius of each quarter circle is 5 cm. Using n = 3.14, find the perimeter

of the figure.

(1) 35.7cm
(2) 46.4cm
(3) 51.4cm
(4) 714cm

15

77 Special Offer e
! / ’,’ ) J _J])

A e
$2 per mango.
$10 for one box of 8 mangoes.

Additional discount of $3 for every $50 spent.

Mrs Ling wanted to buy mangoes during the special offer. What was the
least amount she had to pay to get 100 mangoes?

(1) $120
(2) $122
(3) $128
(4)  $130
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Questions 16 to 20 carry 1 mark each. Write your answers in the spaées
provided. For questions which require units, give your answers in the units
stated. (5 marks)

16 Find thevalue of 15 -3 + 12 = 3 x 4.

Ans:

17 The figure below is formed by straight lines. Find Zm.

70°
58°

Ans:

18  The table below shows the number of books borrowed by students in a
class from Monday to Thursday.

Day _ Mon Tue Wed Thu
Number of
books borrowed 20 18 7 5

What fraction of the total number of books for the 4 days were borrowed
on Monday?

Ans:




19 Machine A makes twice as many bottles as Machine B in a minute.
Together, both machines make 360 bottles in 4 minutes. How many
minutes will it take Machine A by itself to make 360 bottles?

Ans: min

20  On the grid below, draw a straight line AC such that AC L AB and AC is
twice as long as AB.




Questions 21 to 30 carry 2 marks each. Show your workings clearly in the space
provided for each question and write your answers in the spaces provided. For
questions which require units, give your answers in the units stated.

(20 marks)

21 Find the value of
(a) 6.2-045

(b) 23 =7 as adecimal to nearest tenth

Ans: (a)

(b)

22 Study the triangle below. Measure and write down the value of
(@) the length of the longest side of the triangle to the nearest cm.

(b) the smallest angle in the triangle.

Ans: (a) cm

(b)




3

List 2 equivalent improper fractions of 25.

23

Ans:

On the square grid below, AB is a straight line. Draw straight lines to

complete an isosceles triangle ABC.

24
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25 The sum of 2 numbers is 32. The sum of another 3 numbers is 36. What
is the average of the 5 numbers?

Ans:

26  The solid below is made up of 9 identical cubes.

- <+— Sjide view

/

Front view

On the square grid below, draw the front and the side view of the solid.

Front View Side View

11




Use the information below to aﬁéwer Questions 27 and 28.
There are three different objects A, B and C. The graph below shows the total
mass of any two objects when they are weighed together.

1600 -
1400
1200
1000 3

Massing 800

600 7
400
200 §
AandB AandC BandC
Objects

27  What is the ratio of the total mass of objects A and B to the total mass
of objects B and C? Give your answer in the simplest form.

Ans:

28  What is the average mass of the three objects?

Ans: g

12




29 During a festive celebration, Bala and Tom helped to pack identical
hampers for some families. Bala packed 10 hampers in 2.5 hours and
Tom packed 12 hampers in 3 hours.

Based on the information above, each statement below is either true, false
or not possible to tell. For each statement, put a tick (v) in the correct
column.

Not
Statement True False possible
to tell

(a) At his packing rate, Bala
would take 15 hours to pack
60 hampers.

(b) On average, Tom took a
longer time to pack a hamper
than Bala.

30  The perimeter of the square is 3 cm longer than the perimeter of the
triangle as shown below. Find the value of n.

Triangle Square

4ncm
3ncm 15 cm

(n+1)cm

Ans:

END OF PAPER
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Questions 1 to 5 carry 2 marks each. Show your workings clearly in the space below
each question and write your answers in the spaces provided. For questions which
require units, give your answers in the units stated.

(10 marks)

1 Ken sold a total of 240 large and small watermelons. The price of each
large watermelon is $8. He sold 64 more small watermelons than the large
ones. What was the total amount he had collected from selling all the large
watermelons?

Ans: §

2 A reading club has members made up of only students from Primary 5 and
Primary 6. There are 30 students from Primary 5 and 90 students from

2 7
Primary 6. s of the Primary 5 students and I of the Primary 6 students
are girls. What fraction of the members are girls?

Ans:




3 The figure is made up of 3 different circles. The radii of the three circles are
3 cm, 5 cm and 8 cm. Find the total shaded area of the figure in terms of .

Ans: cm?

4 Jane bought 2y packets of 8 tarts each. Lina bought (y + 12) more tarts
than Jane. Jane gave away 5y tarts and Lina ate 3 tarts. Find the total
number of tarts left. Give your answer in terms of y.

Ans:




5 In the figure below, ABCD is a rhombus, CDE is an equilateral triangle
and £ DAB = 108°. Find £DEB.

A
108° E

Ans:




For Questions 6 to 17, show your workings clearly in the space below each question
and write your answers in the spaces provided. The number of marks available is
shown in brackets [ ] at the end of each question or part-question.

(45 marks)

6 A book has 30 pages with no missing pages. Two examples of the two page
numbers facing each other are shown below.

(a) Page 4 and Page 5 is an example of pages facing each other, with
their page numbers being multiples of 4 and 5 on each page.

State another two pages facing each other with their page numbers
being multiples of 4 and 5 on each page.

(b) State a page number in this book that has only 6 factors? Find the
sum of the 6 factors of the page number you have stated.

Ans: (a) Page , Page [1]
(b) Page [1]
Sum is (1]

4




Helen received a coupon as shown below. A printing error had covered

the price of prawns before discount.

Membership coupon

Prawns at § €@ per kg
Fish at $13 per kg

Usual Price before discount Member’s Discount

30%
40%

Helen went to purchase the 2 items. She paid a total of $48 to buy 1 kg of

prawns and 4 kg of fish using the coupon. What was the price of 1 kg of

prawns before discount?

Ans:




8  Inthe square ABCD below, AF = FE = ED and BG = GC. If AB = 18 cm and
DH = 4 cm, find the total area of the shaded parts.

A !

I
7

18 cm

o
-

Ans: [3]




In the figure below, ABCD is a rhombus, ADEF is a trapezium, DE = DF,
ZCAD = 38° and «DEF = 76°.

(a) Besides ADEF, name another trapezium.
(b) Find £ZABC.
(¢) Find £CDF.

A D

38° \

Ans: (a) Trapezium 1]
(b) (1]
(c) [3]




10 A library had 48 laptops ready for loan at 14 00 at its counter. Laptops were
issued out on loan only for the first hour. Then the borrowers could retumn
the laptops from 15 00 to 16 30. The line graph shows the number of laptops
at the counter from 14 00 to 16 30.

Number
of
laptops
at the
counter

Time

(a) What was the ratio of the number of laptops at the counter to the
number of laptops loaned out at 16 00? Express your answer in its
simplest form.

(b) What was the percentage decrease in the number of the laptops at
the counter from 14 30 to 15 007

(c) Onaverage, how many laptops were returned to the counter per hour
from 15 00 to 16 307?

Ans: (a) (2]
(b) [2]
(c) (1]




11

Ali and Jim had some red and blue marbles. Jim had twice as many marbles
as Ali. Ali had red and blue marbles in the ratio of 1 : 5. Jim had red and

blue marbles in the ratio of 5 : 3. What was the ratio of their total number of
red marbles to their total number of blue marbles?

Ans: (3]




12

3 1 R
In a basket, 5 of the fruits are oranges, P of the remainder are pears and
the rest are apples. There are twice as many green apples as red apples.

What fraction of the fruits in the basket are green apples?

Ans: [3]

10




13

The figure below is formed using straight lines with the following conditions:
AE // BD, BA/I CE, AE = BC, ED = EF, ZEDG = 24° and ZBAF = 105°.

(a) Find £CGD.

(b) Find £GED.

105°

Ans: (a) 11

(b)._ | 1]

(c) Based on the figure above, fill in the blanks below with
parallelogram, rhombus or trapezium so that the statement about
ABCE and BFED is correct. ‘

ABCE is a and BFED is a ]

11




14 The rectangle below contains 5 identical quarter circles. The radius of each
quarter circle is 10 cm. Shape A and Shape B were cut out as shown.

(a) Using the calculator value of =, find the area of Shape A. Round off
the answer to 2 decimal places.

(b) Using = = 3.14, find the difference in the perimeter of Shape A and
Shape B.

Ans: (a) (2]

(b) (2]

12 4




15

Siti spent 20% of her money on 1 bag and 2 T-shirts. The bag cost 3 times
as much as each T-shirt. She spent 60% of the remaining money on a pair
of shoes.

(a) What was the ratio of the price of the bag to the price of 1 T-shirt to
the price of the pair of shoes?

(b) Lynn bought the same 4 items as Siti a few weeks later. The price of
the shoes decreased by 25% and the price of the rest of items were
not changed. Lynn paid $36 less than Siti. How much did Lynn pay
for all the 4 items?

Ans:(a) , 2]

(b) : [2]

13




16

William joined 4 identical square frames as shown below. All the 13 sides of
the square frames were tied with balloons.

He tied the same number of big balloons on each side of the square frame.
Between every 2 big balloons, he tied 5 small balloons.

(a) If William had 30 big balloons, what was the greatest number of big
balloons he could tie on each side of the square frame?

(b) How many big and small balloons would he need altogether if he tied
10 big balloons on each side of the square frame?

Ans: (a) [1]

(b) [4]

14




17 Tom built solid A by gluing together some identical cuboids Y and some
identical cubes X as shown.

i ;Cube X
. Solid A

LTS L L L L L
" i Ll P
Cuboid Y ’ i ——

&>

7
12 cm

Solid B

Tom built solid B by gluing 4 solids A together and then painted all the
6 faces of solid B.

(a) Find the volume of solid A.
(b) How many cubes X have none of the faces painted in solid B?

(c) How many cubes X have only 2 of the faces painted in solid B?

Ans: (a) (2]
(b) [1]
(c) [1]

END OF PAPER
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Q1)
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39 + 97 = 48n

a) 24,25
b) 12

48
60 + 66 = 126
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Questions 1 to 10 carry 1 mark each. Questions 11 to 15 carry 2 marks each.
For each question, four options are given. One of them is the correct answer.
Make your choice (1, 2, 3 or 4). Shade the oval (1, 2, 3 or 4) on the Optical Answer Sheet.

All diagrams in this paper are not drawn to scale unless stated otherwise.

(20 marks)
1. Which one of the following numbers is the largest?
(1) 2.032
(2) 2.302
(3) 2230
(4) 2.023
2. Mark bought 2k boxes of erasers. Each box contained 10 erasers. What was the total

number of erasers he bought?

(1) 2k+10
(2) 2k+20
(3) 12k
(4) 20k
3. The opening times of Sharkie Restaurant is shown below.

For how long is the restaurant open each day?

(1)
(2)
(3)
(4)

7 h15 min

"7 h 30 min

7 h 45 min
10 h 30 min

Opens Daily

Lunch :

11.30 a.m. t0 2.45 p.m.

Closed for Break
2.45 p.m. to 5.45 p.m.

Dinner:

5.45 p.m. to 10.00 p.m.

(Go on to the next page)



In the diagram, A, B and C are 3 points on the ground. Point A is north of Pomt B
and the £ABC is 225°. In what direction is point C from point B?

(1)
(2)
(3)
(4)

A

North
225 (\B
C
South-West
North-West
South-East
North-East

The top of the tree reaches the 4% storey of a block of flat. Which of the following
could be the height of the tree?

l=~
B
H
a

R R
B TR BT 1B T

WIE‘

Il e B

!
L

&

2R

H
E

12 m
102 cm

(Go on to the next page)



6. AB, CD and EF are all straight lines.

C

Za
Le /b

B zd 2C E

D
Which of the following statements is true?
(1) «<¢e=2¢b
(2) <4b=csd
(3) <zatsb=2d

(4) <b+csc=re

7. The letters M, R, A, Z and E are written in the square grid shown below. Which of
the options given list all the letters that have perpendicular lines?

(1) EandR

(2) A EandR
(3) E MandR
(4) E,M RandZ

(Go on to the next page)



A group of children was asked to choose their favourite animal. Each child can
choose more than one animal. The table represents the children’s choices. The
children’s choices were also represented by a bar graph.

Animal Cat Dog Hamster Rabbit
Percentage 10% 60% 40% 10%

Which of the following bar graphs best represents the information shown in the table
above? .

(1)
2| ES
Cat Dog Hamster Rabbit
(2)
|| 2 | l
Cat Dog Hamster Rabbit
(3)
B l BEE
Cat Dog Hamster Rabbit
(4)

B
Cat Dog Hamster Rabbit

(Go on to the next page)



9. Alynna had an empty piggy bank. Each week, Alynna would put some money into
her-piggy bank. The graph below shows the amount of money she had in her piggy
bank at the end of each week.

Amount of

money in

piggy bank

(%)

40

30 4

atl

Week 1 : Week 2

20

10

Week 4

In which week did Alynna put in the most amount of money into her piggy bank?

(1)
(2)
(3)
(4)

Week 1
Week 2
Week 3
Week 4

10.  Mary's father bought her a laptop at $2500. She had to repay him an equal amount
of money each day for the laptop. She took 1000 days to pay him back. How much

did she repay her father each day?

(1)
(2)
(3)
4)

$0.25
$2.50
$25
$250

(Go on to the next page)



11.

12.

Jenny sews 2 masks in half an hour. Siti sews 3 masks in an hour. How long will both
of them take to complete sewing 105 masks together?

(1)
(2)
3)
4)

15 h
21h
26 h
30 h

Aishah cut out 4 identical right-angled triangles. Each right-angled triangle has a
perimeter of 36 cm. She formed the shape shown below. What is the perimeter of
the figure formed by the 4 right-angled triangles?

(1)
(2)
(3)

/

72 cm

108 cm
144 cm
180 cm

(Go on to the next page)



1 1
In a party, — of the people are female and the rest are male. 2 of the female are
vegetanans There are three times as many male vegetarians as female vegetarians.

What fraction of the people at the party are vegetarians?

3
(1) 0
2

@ 3
3

(3) =
7

(4) 10

In the figure, STUV is a trapezium and triangle RSU is an isosceles triangle.
2 RSV = 24°, £,TSU =64°, £TUV = 84° and «SUR = 72°. Find £STU.

R

(1) 62°
(2) 84
(3) 86°
(4) 96°

(Go on to the next page)



Sharon has 3 more 20-cent coins than 50-cent coins. The total value of all her coins
is $10.40. How many 20-cent coins does she have?

(1) 11

(2) 12
(3) 14
4) 17

Go oh to Booklet B
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Questions 16 to 20 carry 1 mark each. Write your answers in the spaces provided. Do not write
For questions which require units, give your answers in the units stated. in this space

All diagrams in this paper are not drawn to scale unless stated otherwise.
(5 marks)

16. Findthevalue of 20—-8+4x (2 +6)+ 1.

Ans:

17. A watch cost $120 before discount. How much would Mr Lim pay for the
watch after discount?

Hurry while stocks last!

25% off now!

Ans: §

2 (Go on to the next page)



18. The graph below shows the mass of durians

days.

700

sqld at a shop over four [Do not write

in this space

600 +—

Mass of 500
durians

~sold (kg) 400

300

200 =

100

0

Thursday

The cost of 1 kg of durians was $20. How much money was collected over

the four days?

Saturday

Ans: $

(Go on to the next page)



Do not write
in this space

3 triangles are drawn in the grid shown below. Which triangle has the

same area as Rectangle Z?

19.

1
i
|
1
]
|
t
i
1
i
i

The figure is made up of identical triangles. Shade 2 more triangles so that

line XY is the line of symmetry for the figure.

20.

(Go on to the next page)



Questions 21 to 30 carry 2 marks each. Show your workings clearly in the space
provided for each question and write your answers in the spaces provided.
For questions which require units, give your answers in the units stated.

All diagrams in this paper are not drawn to scale unless stated otherwise.
(20 marks)

1
21.  The fraction 7 expressed as a decimal is 0.1428571428571428571 ...
What is the 324 digit after the decimal point?

Ans:

22. A combination lock has a 3-digit code which has the samg digits and is
represented by AAA.

AAA has 4 factors. What is the value of A?

e

Combination Lock

Ans:

23.  Sarah has 1.08 litres of orange juice. She wants to pour 90 ml of orange
juice into each cup. How many cups can she fill?

Ans:

Do not write
in this space

S (Go on to the next page)



24. Matthew had $83. He spent the entire amount of money on the 3 items
shownbelow. Find the value of y.

S(y-1) $(2y)

Ans:

Do not write
in this space

1
25.  There were 162 pages in a story book. Eve read > of the story book on

1
Monday. She read 3 of the remainder on Tuesday. The rest of the pages

were read equally on Wednesday and Thursday. How many pages did she
read on Thursday?

Ans:

26. The average of three different 3-digit numbers is 123. One of the numbers is
107. Find the smallest possible difference between the two other numbers.

Ans:

(Go on to the next page)



27.

The figure is made up of 2 squares. DEFG, JKFL and a rectangle, PQFR. Do not write

£QFE is 43° and 2RFK is 156°. in this space
Find 2LFE.
D
P Q
L
G
J
435
F
156°
K
Ans: °
7

(Go on to the next page)



Do not write
in this space

%

(Go on to the next page)

40

50

The 2 bar graphs showed the number of bottles of different flavoured milk
sold ori Monday and Tuesday.

28.

Original

Chocolate

Strawberry

lllllll

LI 2 I

Original

Chocolate

Strawberry

40

30

20

10

What was the percentage increase in the number of bottles of milk sold on

Tuesday?

Ans:




29.  The figure is made up of a rhombus, DEFG, and a square, DEHC.
«DGF =133°. Find 2DCG.

E

Ans:

Do not write
in this space

30.

1
class. Part of the table is covered by an ink blot. > of the class donated at

least $2.

The table below shows the amount of money donated by each student in a

Amount of Money $0

$1

Number of students 6

12

Each of the statements is either true, false or not possible to tell from the
information given. For each statement, put a tick (\) to indicate your

answer.

Statements.

True

False

Not.
Possible to
tell

The amount of money donated by the
most number of students is $1.

1
More than > of the amount of money is
donated by the remaining students.

End of paper

Have you checked your work?

9
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Questions 1 to 5 carry 2 marks each. Show your working clearly in the spéée Do not write
provided for each question and write your answers in the spaces provided. For |" this space

questions which require units, give your answers in the units stated.

All diagrams in this paper are not drawn to scale unless stated otherwise.

(10 marks)

1. At 10 a.m., Ali and John set their alarm clocks to ring. Ali set his alarm
clock to ring every 15 minutes. John set his alarm clock to ring every 20
minutes. At what time will it take for both their alarm clocks to ring together

for the first time?

Ans:

a.m.

face masks at a shop.

The table below shows the prices of a bottle of hand sanitiser and a box of

Item Price
A bottle of hand sanitiser Sw
A box of face masks $(w + 8)

Mdm Toh paid $265 for 15 bottles of hand sanitisers and some boxes of
face masks. If w = 3, how many boxes of face masks did Mdm Toh buy?

Ans:

(Go on to the next page)



3. Caitlin wanted to cut out isosceles triangles with a base of 2 cm and a  |Do not write
height of 2 cm as shown below from a rectangular piece of paper. In this space
The paper measures 16 cm by 25 cm.
What is the most number of such triangles that she can cut out?

O k-2

2cm
Ans:
4. Two triangles, KLM and JKL, are shown in the figure below.
Find £ZLJK.

Ans:

3 (Go on to the next page)



Sam only had the following notes and coins in his saving box. The notes  |Do not write
are $2. $5 and $10. The coins are 10¢, 20¢ and 50¢. On Saturday, | this space
he took out the least amount with a note and a coin. On Sunday, he took
out the most amount with a note and a coin. What was the total amount of
money taken out from the saving box on Saturday and Sunday?

Ans:

4 (Go on to the next page)



For Questions 6 to 17, show your working clearly in the space provided for each |Do not write
question and. write your answers in the spaces provided. The number of marks | this space
available is shown in brackets [ ] at the end of each question or part-question. For
questions which require units, give your answers in the units stated.

All diagrams in this paper are not drawn to scale unless stated otherwise.
(45 marks)

3 1
6. p of the cost of a laptop is equal to 3 of the cost of a television. The

total cost of the 2 items is $2400 after a 20% discount. How much is the
cost of the laptop before discount?

Ans: [3]

7. Machine A is able to print 50 stars in a minute. For every 1000 stars that
Machine A prints, Machine B is able to print 500 more stars than Machine
A. How many more stars will Machine B print in 2 hours than Machine A?

Ans: [3]

5 (Go on to the next page)



There were three types of flowers in a garden. There were 352 stalks of  |Do not write
orchids. The ratio of the number of stalks of tulips to the number of stalks |1 this space
of lilies is 5 : 3. The total number of stalks of tulips and lilies was 56% of all
the flowers. How many more stalks of orchids were there than tulips?

Ans: [3]

6 (Go on to the next page)



The figure shows 2 stacks of identical cups. There are 5 cups in the Do not write
shorter stack and 12 cups in the taller stack. in this space

The height of the shorter stack is 20 cm and the height of the taller stack
is 41 cm.

Shi Yao wants to pack the cups as shown into a box 0.6 m. long.

What is the most number of cups she can pack into the box?

/_\_ 1
_____ 41 cm
20 cm ' \

C ) Cups -

0.6m

A
v

Ans: [3] ~

7 (Go on to the next page)



10.

A trapezium, DEFG is drawn in the grid shown below.

e

Y

By joining the dots in the grid with straight Iiﬁes,

(a)

(b)

N

draw a parallelogram that has twice the perimeter of the trapezium
DEFG. Using the line EF as one side, label it EFKL.

draw a square from point F that has the same area as the
trapezium DEFG. Label it FMNP.

Both parallelogram EFKL and the square should not overlap the
trapezium DEFG and each other.

?..4 JrpoNpe,

e Ry e Qe ey

Do not write
in this space

(1m]

[2m]

(Go on to the next page)



11.

An equal number of children attended Camp A and Camp B. The ratio of Do not write
the number of girls to the number of boys in Camp A was 5 : 9. The ratio  |In this space
of the number of girls to the number of boys in Camp B was 4 : 1. Altogether,
there were 132 more girls than boys. How many children were there in both
camps?

Ans: [4]

9 (Go on to the next page)



12.

The table below shows the different types of juices sold at a stall.

Type of Juices Volume of juice per bottle
Apple 250 m¢
Watermelon 500 mé
Orange 600 m¢

The bar graph shows the number of bottles of each type of juice sold at the
stall on a Monday. The bar that shows the number of bottles of orange juice

sold has not been drawn.

Number
of bottles
of juice
sold

(a)

(b)

120 T---m-memmm e e - T -

100 f----===mmmmmmmmmm e ———-——-———--—: ----- } -----

1 SIS e § ISR S
I

60 +----- pmm_— -~~~y -~~~ -~ | [

40 f-----F 8 ----—-—--——--T - | I |-
I

20 fF-----EE -~~~ -A e, -----~------ |
0 |
Apple Watermelon Orange

The total volume of orange juice sold was 48 litres.
Draw the bar representing the number of bottles of orange juice sold

in the bar graph above. You are not required to shade the bar.

(2]

On the next day, the number of bottles of apple juice sold decreased
by 25%. The number of the bottles of watermelon juice and orange
juice sold remained the same. What fraction of the bottles sold were

apple juice?

Ans: (b)

(2]

Do not write
in this space

10

(Go on to the next page)



13.

Claire had a roll of wire that was used to make stars. She used 3.75 m of  |Do not write
the wire to make 12 small stars and 15 big stars. There was some |IN this space
remaining wire left. She could not make a big star with the remaining wire
as she would be short of 4 cm of wire. So she made a smalil star with the
remaining wire instead and had 3 cm of wire left.

(@)  Whatwas the difference in the length of wire used to make a big star
and a small star?

(b)  What was the length of the roll of wire Claire had at first?

Ans: (a) 1]

(b) (3]

11 \ (Go on to the next page)




14. The figure shown below is made up of identical semi-circles of different
sizes, 2. small, 4 medium and 4 large. The lenath of the fiaure is 30.m. Each
of the small semi-circle has a diameter of 5 m.

30m

Diameter of
large semi-
circle

(a) Find the diameter of 1 large semi-circle.

(b) Find the total area of all the shaded portions. (Take 7T = 3.14)
Express your answer to 2 decimal places.

You may continue your working on the next page

Do not write
in this space

12 (Go on to the next page) -



{4 Continue your working here for question 14. Do not write
in this space

Ans: (a) [1]

(b) [3]

13 (Go on to the next page)



15.

In the figure shown below, QRST is a parallelogram. WR, WS, SU and VS Do not write
are all straight lines. ZSWV = 34°, zWSV = 17°, zQTS =43° and «.RSU is | this space

122°.

(@) Find 2 TSU.
(b) Find £ RSX.
(c) Find £ VXY.

W

Ans: (a) 1]
(b) [2]
(c) [1]

14 (Go on to the next page)



16.

Do not write

1
Serene had some oranges in her shop. She sold 5 of them in the |in this space

3
afternoon and 280 of the oranges in the evening. She was left with 5 of
the oranges. She packed these remaining oranges into boxes.

Some of the boxes contained 8 oranges while the rest of the boxes
contained 12 oranges.
(@) How many oranges were packed into the boxes?

(b)  She packed 20 more boxes with 8 oranges than boxes with 12
oranges. How many boxes were used to pack 8 oranges?

Ans: (a) [2]

(b) [3]

15 (Go on to the next page)



17.  Below shows the prices of some items at a bookshop. Do not write
in this space

1 for $25.80 4 for $5.40 .

(a)  Kenny bought 2 calculators and 16 notebooks for $60.30. There was
a discount given on the calculators only. What was the percentage
discount of the calculators?

(b)  Mr Koh bought an equal number of calculators and notebooks
without any discount. He spent $1467 more on the calculators than
the notebooks. How many notebooks did he buy?

Ans: (a) 12]

(b) [3]

End of Paper
16
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Q16) 5
Q17) 90
Q18) $36000
Q19) K
Q20) x

Y
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Q22) 1
Q23) 12
Q24) 21
Q25) 27
Q26) 2
Q27) 19°
Q28) 10%
Q29) _ 68.5°
Q30) True, True
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PAPER 2

Q1) common mulitple 60
60mins = 1la.m.
Q2) 20
Q3) base = 25+ 2 = 12R1
cut=8x114+8x12 =184
Q4) angle LJK = 180° — 103° — 29° — 16° = 32°
Q5) sat =2+ 0.10 = 2.10

sun = 10 + 0.50 = 10.50
total = 10.50 + 2.10 = $12.60

Q6) x discount = $2400 = 80 x 100 = $3000
L =$3000=10x 4 =$1200
Q7) mb = 1000 + 500 = 1500

set = 1000 + 50 = 20
mb 1min = 1500+ 20 =75
mb 120min = 75 X 120 = 9000
NA 120min = 50 X 120 = 6000
dif f = 9000 — 6000 = 3000

Q8) 44% of total = 352
56% of total = 352 + 44 X 56 = 448
tulip = 448 + 8 X 5 = 280
dif f =352 —-280=72

Q9) 20—4x3 =8
set =60+20=3
60 —8
parts = = 17R1

cups —17+1 =18

G : : : :

: 2
o » ° ® B - B . @ * °
8 » * L SR e @ ° »
» * g a s ° » -

Pg 2



Q1N

a
G:B=59=25:45

b
G:B=4:1=5614

132 — (25u — 56u) — (45u + 14u) = 224
lu—-132+22=6
70 x 6 =420
total — 70 X 6 X 2 = 840

75
a) ———x 60 =45

100
total — 45 4+ 100 + 80 = 225
) 45 1
) 225 5

12p — 12u = 7cm X 12 = 84cm
3pdiff =7cm x 3 = 21cm
27u = 375em — 21em — 84em = 270cm
Tu=270cm + 27 = 10cm
total = 375cm -+ 10cm + 3cm = 388cm
(a) 7em
(b)388cm

c¢r.comMm

lmedium D =5+1+1=7
1medium = 3.14x 3.5x 35+ 2 =19.2325
1large = 3.14 X 4.5 X 4.5+ 2 = 31.7925
1small =314 x 25 x 2.5 = 9.8125
31.7925 — 19,2325 = 12.56
(a)1x4+45=9m
(b)12.56 x4+ 9.1825 X 2 =~ 69.87m

(a) 360° — 122°— 137° = 101°
(h)180° — 43° — 34° = 103°
103° — 17° = 86°
(€)360° — 129° — 103° — 34° = 94°

stiPa

, T 3 7
evenzng——l—-6——~€=-3-6

pack ~ 280+ 7 x 18 = 720
more — 20 X 8 = 160

1 720 — 160 - 28
b 20

28+ 20 =48
(a)720
(h)48

}gT

Pg3



Q17) 16 notebook — 4 x 5.40 = 21.60
2¢ — 60.30 — 21.60 = 38.70
2¢ —25.80 x 2 = 51.60
dif f — 51.60 — 38.70 = 12.90
12.9
—— X 100% = 25%

51.6
1set diff —103.20 — 5.40 = 97.80

set — 1467 + 97.80 = 15
NB —15x 4 = 60
(a)25%

(b)60

Pg 4
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Booklet A

Questions 1 to 10 carry 1 mark each. Questions 11 to 15 carry 2 marks each.

For each question, four options are given. One of them is the correct answer.

Make your choice (1, 2, 3 or 4). Shade the correct oval (1, 2, 3 or 4) on the Optical
Answer Sheet. (20 marks)

t. The mass of a basketball is approximately

(1) 259
(2) 25kg
(3) 6900g
(4) 0.69 kg

2. Find the value of 2.4 + 60.

(1) 0.004
(2) 0.04
(3) 04
(4) 4
3 Which of the following, when rounded off to the nearest tenth, is 60.37
(1) 59.32
(2) 59.93
(3) 60.26
(4) 60.36
4. How many factors of 36 are multiples of 47
(1) 8
(2) 2
(3) 3
(4) 4



3. Arrange the following distances in descending order:

430 km 4%km . 4km103m
(1) 4 %km  430km  4km 103m
(2 430km , 43km  4km103m
(3)  4m103m | 4ikm | 4.30km

1
(4)  4km103m , 4.30km , 4zkm

6. What is the approximate length of the paper clip below?

(1) 4.25cm
(2) 45cm
(3) 4.8cm
(4) 6.1cm

T The ratio of the number of girls to boys in a class is 4 : 5. Half of the girls in the
class had long hair. What is the ratio of the number of girls with long hair to the
the number of students in class?

(1) 1:4
(2) 1:9
{3) 2:5
(4) 2:9



8.

9.

10.

1.

In the figure below, 3 cubes weighed the same as 5 balls. What is the average
mass of each object if the mass of a cube is 80g?

(1) 10g
(2) 30g
(3) 48g
(4) 60g

10
What is the value of 5 + --ZY- -y+2wheny=47?

(1) 9

(2) 1
(3) 12
(4) 13

The figure ABCD is a rectangle. Which angle is the same as ZABD?

B F C
(1) ZADE \
(2) /BDG £ G
(3) ZCBD
(4) /CFG :

A D

Auntie May had a roll of ribbon, 2m in length. She used 40 cm to wrap a present

and cut the remaining into h pieces. How long is each piece?

) 20
(1) Irlcm

200-40
h
200

(3) (E)- +h) cm

(2)

cm

(4) (200 _fhﬂ) cm



12

13.

The bar graph shows the different ways students travei to school.
What fraction of the students take the MRT to school?

MRT | 8

Bus | ]2

Car
Walk
| | |
0 5 10 15 20
1)
2
(2) 3
1
3) 2
4
(4) 3

10 girls and 5 boys lined up in a row. There were no boys standing next to each
other. Between every two boys, there were 2 girls. The distance between two
girls was 50 cm apart while the distance between a girl and a boy is 100 cm. How
long was the line formed by the children?

(1) 600 cm
(2) 750 cm
(3) 1000 cm
(4) 1150 cm



14.

15.

The figure below, not drawn to scale, «f is twice the sum of «b and £ d. Find the

sumofza+tzb+zc+2d+ ze.

(1)
(2)
(3)
(4)

A table with 4 columns is filled with numbers in a certain pattern. The first 4 rows

240°
270°
300°
360°

are shown in the table below.

In which column will the number 487 appear?

(1)
(2)
(3)
(4)

Column A ColumnB ColumnC Column D
Row 1 0 1 2 3
Row 2 7 6 5 4
Row 3 8 9 10 11
Row 4 15 14 13 12

Column A
Column B
Column C

Column D

End of Booklet A
5
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Booklet B

Do not write in

Questions 16 to 20 carry 1 mark each. Write your answers in the spaces provided. | this column

For questions which require units, give your answers in the units stated. (5 marks)

16! Find the value of 3.06 — 1.2 .

Ans:

5
7 Express 3 3 as a decimal, rounded off to 2 decimal places.

Ans:

18.  Nadine bought a mug that cost $20 before GST. What is the amount she had
to pay after adding 7% GST?

Ans: 3




19. 5 years ago, William’s father was 7 times as old as he was. William is 10 Do not write in
years old now. How old is William’'s father now? this eRlmn

Ans;

20. if 99 x9=h, find 99 x 99 in terms of h.

Ans:




Questions 21 to 30 carry 2 marks each. Show your working clearly and write your
answers in the spaces provided. For questions which require units, give your
answers in the units stated. (20 marks)

21. Jimmy saved $1.50 every day. Nora saved $0.50 more than Jimmy each day.
How much money did they save altogether after 3 days?

Ans: §

22. The rectangular tank below is filled with 11 cubic blocks. How many more
cubic blocks is needed to fill the tank completely?

SN,

agiy
A

Ans:

Do not write in
this column




23. Peter and John were reading the same book. Peter started on Monday and
read 10 pages each day. John started reading on Wednesday and they both
completed reading the book on Sunday. Given that John read the same
number of pages each day, how many pages did John read each day?

Ans:

24.  Two identical parallelograms overlapped as shown below. Find za.

Q R

65"
A 1
D

Ans:

Do not write in
this column

10




25. Bala had just enough money to buy either 12 erasers or 3 pens. He boughta  {ponot writein
pen and wanted to spend the rest of his money on erasers. How many erasers [this column
can he buy?

Ans:

26. The figure below shows two rectangles, ABCD and BEFD, overlapping. Find
the area of the shaded part.

B<——8cm —>

W)

Ans; cm?

11



Do not write in

1
27.  MrWong bought 3 2 I-botitled drinks for a party. He poured 3 [ of drinks into |this column
each cup. How many cups can Mr Wong fill?

Ans:

28. The figure below shows a square of side 60(m and 2 quadrants overlapping.
Find the perimeter of the shaded part. Leave your answer in 7 .

60 cm

Ans: cm

12



29.

The graph below shows the number of chicken nuggets a group of children
ate at a party. How many chicken nuggets did the children eat altogether?

Number of children

O =2 N wdh OO N ©®©

1 2 3 4
Number of nuggets each child ate

Ans;

Do not write in
this column

13




30. The figure ABCD, not drawn to scale, consists of 4 identical isosceles
triangles.

B

D
Eact: of the statements below is either true, false or not possible to tell from the

information given. For each statement, put a tick v to indicate your answer.

Statement True | False | Not possible to tell

a) ¢ADC is 90°

b) Triangle ABC is an equilateral
triangle.

End of Booklet B

14

Do not write in
this column
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INSTRUCTIONS TO CANDIDATES

Do not open this booklet until you are told to do so.
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Answer all questions.

You are allowed to use the calculator




Questions 1 to 5 carry 2 marks each. Show your working clearly in the space below
each question and write your answers in the space provided. For questions which
require units, give your answers in the units stated. (10 marks)

1. Ata sale, mugs were sold at $1.90 each and a free mug was g'iven for every 2

mugs purchased. How much must Benny pay if he needed to get 15 mugs?

Ans: §
2. The table records the time taken by four students to complete a race.
Student Time in seconds
Ali 12.1
Bing Wen 11.9
Charlie 13.8
Devi 1t.8

(a)  Who was the fastest?

(b)  What was the average time taken by the four students to complete the
race?

Ans: (a)

Do not write in
this column




3. 3 pears cost $1 more than 4 apples. Given that the cost of 4 apples is $y,
(a) Express the cost of an apple in terms of y.
(b) Express the cost of 12 pears in terms of v.
Ans: (a)$
(b) $
4. Joshua had a square piece of paper and cut it into 3 triangles. The ratio

of the area of the triangles AtoBto Cis1:2: 3. llustrate how Joshua

cut the square piece of paper below and label triangles A and B clearly.

N

S

O
N/

Da not write in
this column




5.

In the figure below, not drawn to scale, Rectangle ABCD is cut into 3 parts.
The area of 2 of the rectangles are 20 cm? and 30 cm?. Find the area of the

shaded rectangle.

A 7cm

20 cm2

30 cm2

9cm

Ans:

cm? 2]

Do not write in
this column




For questions 6 to 17, show your working clearly in the space below each question
and write your answers in the spaces provided. The number of marks awarded is
shown in brackets [ ] at the end of each question or part-question. (45 marks)

1
0. Mr Chan and Mr Toh had some money. 2 of Mr Chan’s money was $33 more

1
than 3 of Mr Toh's. If they had $1000 altogether, how much money does Mr

Toh have?

Ans: (3]

7. Mrs Anand had some pasta sauce and wanted to add some minced meat into

3
the sauce. After adding 240 g of minced meat, 5 of the mixture was made of

9
sauce. She added more minced meat and, in the end, 20 of the mixture was

made of sauce. How much minced meat did Mrs Anand add to the pasta
sauce altogether?

Ans: [3]

Do not write in
this column




8. At ABC bookshop, there were 3 times as many pens as rulers. After selling
an equal number of pens and rulers, there 5 times as many pens as rulers left.
Given that there were 35 pens left, how many stationery did ABC bookshop
sell altogether?
Ans: [3]
9. In the space below, £DAB is 55°. ABCD is a trapezium where AB is parallel

to CD and BC is perpendicular to CD.
(a) Complete the trapezium by drawing 2 lines and label point C.
(b) Measure the length of CD.

95’

[2]

Ans: (b) [1]

Do not write in
this column




10. A gym ball, 20 cm in diameter, was rolled across the length of a 510-cm room | Do not write in
and back to its original position. How many complete rotations did the gym | ¢™
balt make?

510 cm

Ans: (3]




11.  Danny stacked 8 cubes 2-cm cubes and glued them together to form the
solid below.

Top View

FrontVi;,wﬁ. - . - . %'SideView

(a) Draw the top and side view of the solid on the grids below.

Top View Side View

(2]

(b) Danny decided to paint the solid, including the base, blue. What is the total
surface area he had to paint?

Ans: (b)

2]

Do not write in
this column




2

In the figure below, not drawn to scale, ABCD is a rectangle and EFDG is a
square. Given that EGY and FGX are straight lines, and 2£FDY is 235°, find

(a) £XGY and

b) £FXA
(b) =
: 2%
F
G
X
A v = 235
Ans: (a) (1]
(b) 13]

Do not vrite in
this column




Height of water in tank

13.

Mr Tan wanted to fill a tank, 120 cm long and 75 cm wide, with water. Tap A
was turned on to fill the tank first while Tap B was turned on 3 minutes later.
Mr Tan then left the taps running and only came back at the 12% minute mark.
The graph below shows the height of the water in the tank over time.

(a) Find the volume of the tank.

(b) What is the rate of flow of water of Tap B in £/ min?

cmA
100
80 il
60 e
40 -
20 1T
o5
r- i | 1 i { i i i i i i i
i ] | ! i |
2 4 6 8 10 12 min
Time
Ans: (a) [2]
(b) {3]

Do not write in
this column




14.

Dest Benki offered a combo deal where a refrigerator and a television set
cost $2340. In the end, it was a 22% discount of the original total.

(a) How much was the total cost of a refrigerator and television set originally?

(b) Given that the original cost of the television set was $1100, find the
original cost of the refrigerator.

Ans: (a)

[2]
2]

10

Do not vrrite in
this column




Sally wanted to make a card using semi-circles and quadrants of radius Dromtehn
1.5 cm all around a rectangular card. She attached the design using pins as

shown below. The length of the rectangular card is 24 cm and its perimeter is
72 cm. Find the total area of the card.

(Using the value of m in the calculator, round off your answer to 2 decimal
places.)

!

Ans: (5] 5

11



Do not write in

16.  Mrs Salim spent $88.40 on some files and notebooks. She spent $18.40 fisicRlumn

3
more on files than notebooks. She bought 7 as many files as notebooks.
Each file costs $3.20 more than a notebook. How much does each file cost?

Ans: [4]

12



17. A group of students went on a trip to the Zoo and was split equally into two Do not write in
groups. Group A had 8 more girls than boys. When 4 boys from Group A this column
joined group B, the number of boys in Group A and B became the same.
Given that there are 56 girls altogether, how many students went to the Zoo?

Ans: [4]

End of Paper 2
~ Please check your work thoroughly. ~

13
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Class: Primary 8
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15 guestions
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Total Time for Booklets A and B: 1 hour

INSTRUCTIONS TO CANDIDATES

Do not turn over this page until you are told to do so.
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The use of calculators is NOT allowed.
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Questions 1 to 10 canry 1 mark each. Questions 11 to 15 carry 2 marks each. For each
question, four options are given. One of them is the correct answer, Make your choice
{1, 2, 3 or 4). Shade the correct oval {1, 2, 3, or 4} on the Cptical Answer Sheet. {20 marks)

1. What is the value of the digit 8 in the number 248 6717

(1) 8 tens

(2) 8 hundreds
{3)  8thousands
4 80 thousands

3
2. Which one of the following is farger than 2 ?

4
{1 5
5
(2) 5
, 6
(3) 3
7
4 o



Ava, Ben and Chad have a iotal amount of $42.
Which one of the following cannot be the ratio of the amount of money Ava has to

the amount of money Ben has to the amount of money Chad has?

(1 1:1:5
2) 1:2:3
(3) 3:3:4
4) 4:1:4

Darius exchanges 100 coins for & $50 note with his aunt. Ali the cecins have the
same value. What is the value of each coin?

(1) 50¢
(2 20¢
(3)  10¢
4 5



Esham took 4 h 20 min to complete his project. He was 55 minutes slower than
Foo Xin. How long did Foo Xin take to complete his project?

(1) 3 h 25 min
(2) 3 h 35 min
(3) 4 h5min

(4 5h16min

A cuboid has a square base of side 60 cm. The height of the cuboid is 80 cm.
What is the volume of the cuboid?

(1) 288 000 am?®
{2) 72 000 cnv®
{3) 18 000 cm?®
{4) 4800 cm®



7.

Glory is standing at V facing south now. Then she makes 2 3 right-angled

turn in a clockwise direction. Where wili she be facing in the end?

\gf
(1) U
W
(3) X
(4} Y

S



Which two figures, A, B, C and D, have both parallel and perpendicular lines?

lJ j N\\’*—_ \\

] /

/ /

/ =

I

A B C D

(M Aand B
(2)  AandD
(3) Band C
{4} Cand D



10.

Use the information befow to answer Questions 8 and 10.
The line graph shows the number of waffles sold by Waffle-licious Café from
August to December in a year. Each waffle was sold at $3 from August to October.

From November to December, each waffle was sold at $4.

300 }
] /
, ‘ //

200 /
Number //\ﬁ /"
of waffles \\ //
sold EN ,

100 L N

4]

Aug Sept Oct Nov Dec

How many more waffles did Waffle-licious Café sell in October than in August?

1 80
@ 90

3) 120
4 200

What was the total amount of money collected by the café in September and

Dacember?

{1 $1160
(2} $1360
(3) $2360
(4) $2520



11. Some men and women took part in a survey to vote for their favourite food. The table
shows their choices and the number of men and women who voted for each type of

food. Each of them voted for only one type of food.

Favourite Mee Masi Prawn Chicken
Food Rebus Lemak Noodles Rice

Total number of 49 50 53 o8

men and women

40% of the total number of men and women who voted for mee rebus, prawn noodles
and chicken rice were women. 54 men voted for nasi lemak. How many women took

part in the survey altogether?

(1) 174
2 156
(3) 134
@ 116



12. Mrs Hong paid $205 for a total of 25 similar bowls and similar plates. Each bowl cost
38. The total cost of the bowls was 335 more than the total cost of the plates. What
fraction of the bowls and plates she bought were piates?

ORI
@ 2
@ o
@ 5



13. The figure shows a rectangle ADEG. The area of Triangle BCF is 21 cm?®.
What is the total area of the unshaded paris in ADEG?

-
L.

14 cm

{1) 294 cm?
2) 168 cm?
(3) 147 cn¥?
(4) 126 cm?

10



14. ACF is an equilateral triangle and BGED is a rectangle. MHD is a straight line.
Which one of the following statements is frue?

(1) La = 180°— £f
2) Zd + Le = Lj
(3) £Zh =90°— Zg
4 ZLe=4sb

11



1
At first, a tank contained some water. Without spilling, lvanka poured 3 of the

4
water from the tank into an empty pail. Then she poured 3 of the remaining amount

of water from the tank into ancther empty tub. The amount of water left in the tank

1
was 2?5 £. How much water did the tank contain at first?

(1) 10.5 ¢
(2) 12.0 £
(3) 14.7 £
4 28.0 £

End of Booklet A

12
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25 marks
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The use of calculators is NOT allowed.
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Questions 18 1o 20 camy 1 mark each. Show your working clearly and write your | Do not

. \ . . . . . ‘ wiite
answers in the spaces provided. For questions which reguire units, give your answers | in this
in the units stated. {5 marks)| Space

16.  Write 850 thousandths as a fraction. Leave your answer in the simplest form.

Ans:

17. Subtract 2,07 from 9.

Ans: 1‘ |




18.  There were 3000 visitors at a health talk on Wednesday. This was 600 fewer Dﬁ_;’m
write

than the number of visitors on Thursday. What was the percentage increase | inthis

in the number of visitors from Wednesday to Thursday? Space

Ans: Yo

18.  The beaker shows the amount of water left after Najil poured out 400 mi of

water.

How much water was there in the beaker before Najil poured out 400 ml of

water?

Ans: £




20.

The table below shows the number of members in a judo club from 2017 1o

2620,

Year Number of girls Number of boys
2017 6 18
2018 11 19
2019 8 17
2020 15 11

Which two years had the same fotal number of members?

Ans:

and

Do not
write
in this
space




Questions 21 to 30 carry 2 marks each. Show your werking clearly and write your | Do not
. . : , . . . wirit
answers in the spaces provided. For questions which reguire units, give your answers in t;Bis

in the units stated. (20 marks) | Space

21.  The bar graph shows the mass of food wasted in a factory over five days.

50

Mass of
food wasted.
(k@)

Mon Tues Wed Thu Fri

On which day was the mass of food wasted closest to the average mass of
food wasted over the five days?

Ans:




22.

23.

The total age of Simone, Odelia and Ellie is (11k + 13) years old, Simone is

8 years old and QOdelia is 5k years old. How old is Ellie?

Ans:

In the figure, LACB = 286°. Find ZABC.

256°

Ans:

| Do not

write
in this
space




24.  The figure shows a trapezium PTSQ. Find ZQUR.

Q R

37°

vl /
730 '
= U

S
T

Ans:

1
25. A shirt cost = as much as a iie. Yun Ee spent

2

1

3 of her money on 2 ties

1
and 2 shirts. Then she spent - of the remaining amount of monsy on some

4

more shirts. How many shirts did she buy altogether?

Ans:

o not
writs
in this
space




26.

27.

A windmilt makes a total of 80 revolutions in every 4 minutes. At this rate, how
long does the windmill take to make a total of 3200 revolutions?

The figure shows a plece of wire bentinto the shape of a semicircle,
a small triangle and a big triangle. The length of WX is 42 cm. The ratio of
the length of 1 side of the big triangle to the length of 1 side of the small

22
triangle is 2 : 1. What is the length of the p.ece of wire? (Take = —_},—)

e W i S -

&

NN, S

42 cm

i -

Do not
write
in this
space

Ans: cm




28.

Study the graph and answer question 28(a) and (b).
The bar graph shows each of the height of 5 fans, M, N, P, Qand R.

(a)

(b)

Height {cm)

How many of the fans have height more than 70 cm?

Another fan, S, has a height of 20 cm more than the difference
between the height of the tallest fan and that of the shortest fan.
Find the height of S,

Ans: (a)

(b) m_ - cm

Do not
write

in this
space




29,

1
Jing had 2 kg of tea leaves at first. She used P pf the tea leaves o make tea.

7
She gave 0 kg of the tea leaves to Kit See. Jing bought some more tea

leaves and then had three times 2s much tea leaves as she had at first. How

much tea leaves did Jing buy?

Ans: kg

10

Do not
write
in this
space




30.

The figure is made up of two rectangles ABFG and BCDE joined together.

The length and breadth of each rectangle are whole numbers

i
DE is longer than AG and BE is fonger than 3 of BF. Find the perimeter of the

figure.
A G
14 cm?
B E F
45 cm®
C D

Ans: cm

End of Booklet B

11

Do not
wrile
in this
space
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Questions 1 10 5 carry 2 marks each. Show your working clearly and write your

answers in the spaces provided. For questions which require unils, give your
answers in the units stated. {1C marks)
1. Among 760 cups of bubble tea, 490 of them had no pearls. The remaining cups

of bubble tea with pearls were sold for a total amount of $1836. How much did
each cup of bubble tea with pearis cost?

Ans:$

2. Both Parcel X and Farcel Y have the same height. They are placed on a table
as shown. The length of Parcel Y is 24 cm and is 4 times #ts height. What is

the height of the table?
" 24 cm 0
3 O .
E] 3 F
! Parcel X :
Parcel Y

)1 1m8cm

WS SRR, U

Do not
write in
this
space

Ans ; m




3. in the figure, BC # AE and GFEC is a rectangle. ADF is a straight line. Do not
Find LFAE. write in
this
space

Ans :




Do not
WX is the fine of symmetry. ‘t’;’;’f in
space

4.  Study the figure below. Shade the least possible number of squares so thal




2o not
70. When 1 more man with a score of 50 joined in, the average score of all the ;‘:;;8 n
space

5. At first, the average score that a group of men obtained in a gaming contest was

men became 86 in the end. How many men were there altogether in the end?




For questions 6 to 17, show your working clearly and write your answers in the spaces
provided. The number of marks available is shown in brackets [ ] at the end of each
question or part-question. {45 marks)

8. Lindy drew lines to form squares and triangles that follow a pattern.

The first three figures are shown below.

Figure 1 Figure 2 Figure 3

{a) The table below shows the number of lines drawn for gach figure.

3

Complete the table for Figure 4.

rigure Numbor | NS ST | Rmbers” | s domen
Figure 1 2 1 g
Figure 2 4 2 17
Figure 3 6 3 25 |
Figure 4
11

(b) What is the total number of squares and triangles in a figure that has

105 lines drawn?

Ans

Do not
write in
this
space

(2]




s 3 . . Do not
7. Reess made some candles and pins for sale. § of the tems made were write in
this

2 5
candles. She sold 3 of the candles and 84 pins. In the end, she had T space

of the items left. How many pins did Reese make at first?

Ans : I3] ;l



There are attogether 14 magnets in Set A and Set B. The total mass of both | Do not
sets of magnets is 850 g. The mass of each of the & magnets in SetAis 8yg. ;‘;‘e n
All the magnets in Set B have the same mass. What is the mass of each magnet | space

in Set B?

Ans: {31




The table shows the rates for printing cards at Happy Print Shop. Do not

write in
this
space
Mumber of cards rice
First 300 cards $186 '
Every additional card 45¢ each

Murray paid $253.35 to print some cards. How many cards did he print?

Ans: {31




10.

The figure shows a cuboid and a cube joined together. The iotal length of all the
edges of the cube is 720 cm. The breadth of the cuboid is the same as the
breadth of the cube. What is the difference in the volume of the cuboid and the

cube?

10 em

122 cm

(3]

Do not
write in
this
space




11

The figure shows one side of a trapezium, AB, drawn on an isometric dot.
By joining dots on the grid with straight lines,

(a) complete the trapezium by drawing the other three sides such that
AB /f DC and DC is longer than AB. Label the trapezium ABCD. [11

(b} draw a rectangle WXYZ such that Z is the midpoint of AB and W is the
midpoint of AZ. WX is longer than XY. Label the rectangle WXYZ

and measure ZX.

? L L » e ° L3 ® 2
6 & ° ® 8 @ o e
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Ans : {b) [2]
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12

Vasami jogs every day from Wednesday to Saturday. He does not jog on the
other days of the week. Every day from Wednesday to Saturday, he jogs 0.1 km ;
more than the previous day. He jogs an average distance of 1.45 km on Friday
and Saturday. What is the average distance that he jogs in a week? Give your

answer in metres.

Do not
write in
this
space

Ans [4]

12




On Monday, Xander and Tristan each received some money from their mother.
Xander received $80 less than Tristan. They did not spend any money on
Monday. On Tuesday, Tristan gave Xander 40% of his money. On Wednesday,
Tristan spent 25% of his remaining amount of money on a wallet which cost
$39. What was the total amount of money Xander and Tristan received on

iMonday?

Ans : 4]

13
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14.

i

30 eh

Some girls and boys took part in a race. At first, the number of giris was = of

the number of boys. After 10 girls and 32 boys withdrew from the race, the ratio
of the number of girls to the number of boys was 5 : 4.

(a) How many children were there aitogether in the end?
{b) How many children were there altogether at first?

Ans : (a) [3]

De not
write in
this
space

b) [1]
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15.  The figure shows a triangie WPV with all its sides equal and a rhombus NRST.
TR is a straight fine.
(@) Find LRXP.
{b) Find £S8YT.

Ans : (a) 2]

(b} (2]

15

Do not
write in
this
space




{c) Each statement below is either true, false or not possible to tell from the

information given. For each statement, put a tick (v') in the correct column.

1

Statement

True

False

Not possible
to tell

ZWUT is an obtuse angie.

UNQW is a trapezium.

16
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16

The figure is made up of a circle, 4 identical semicircles and a sguare. The area

of the square is 784 cm?. O is the centre of the circle.

{a) Find the radius of the circle.
(b) Use the calculator value of 7 to find the total area of the shaded parts.

Leave your answer correct to 1 decimal place.

Ans : (a) [1]

(b) (4]

17
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17.  Mrs Rafael bought energy bars for 79 pupils at two different sizes and
prices shown below. She gave each pupil 2 energy bars.

1 box of 15 for $18

1 box of 20 for $28

{a) Mrs Rafael spent the jeast amount of money to buy the energy bars and
had the least number of energy bars left over. How many boxes of each

type of energy bars did she buy?

(b) How much did Mrs Rafael pay for all the energy bars?

Ans : {a) Boxes of 15: [31
Boxes of 20 :

(b) 12]

£nd of Paper
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Q2) 24+4=6
1m8cm = 108cm
108 -6—-6=96
96cm =96 + 100
. ___=0.86m )
Q3) 180-61=113
180 - 125 =55
~ 180-119-55=6° o
Q4)
Q5) 5
Q6) a) 8 4 33
b} 39
L c)
Q7) 105
Q8) SetB->14-6=8
Total mass of A > 8y x 6
= 48yqg
Total mass of B = 950a — 49va
(950 — 48y) + 8
- (950;483:)9
Q9) 253.35-180=73.35
73.35+ 0.45 =163
163 + 300 = 463
Q10) 720+12=60
122 -63 =62

60 x 60 x 60 = 21600
62 x 10 x 60 = 37200
216000 - 37200 = 178800cm?

Pg 2




Q12)

7713 m
7

b)3em

Q13)

(39/25) x 100 =156
100 - 40 = 60
(156/60) x 100 = 260
260 — 80 = 180

260 + 180 = $440

Q14)

a) 54
b) 96

Q15)

a) 180/3 =60
180 - 60 - 52 =68
180 -49 - 68 =63°
b) 180-49-49 =82
82-54=28
180 — 28 - 49 = 103°
c) False
False

Q16)

a) 14cm
b) 238.1cm?

Q17)

a) 8
b) 2
c) $202

Pg 3
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Questions 1 to 10 carry 1 mark each. Questions 11 to 15 carry 2 marks each. For
each question, four options are given. One of them is the correct answer. Make your
choice (1, 2, 3 or 4). Shade the correct oval on the Optical Answer Sheet. [20 marks]

Q1. Bob took 130 seconds to run round a track.
He was 25 seconds faster than Pete.
How long did Pete take to run round the track?

(1) 1min45s
(2) 1minb5s
(3) 2minbs

4) 2min35s

Q2. 8 hundreds, 5 tenths and 6 thousandths is

(1) 800.056
(2) 800.506
(3) 800.560
(4) 850.006

Q3. Pis5times of Q. Qs thrice of R. What is the ratio of Rto Q to P?

(1) 1:15:3
(2 1:3:15
3 3:1:15
4 15:1:3



Q4. The number of visitors who went to a flower exhibition was 70 000
when rounded to the nearest hundred.
Which of the following shows a possible number of visitors?

(1) 70055
2) 70051
(3) 69 951
(4) 69 049

Q5. Jenny faced south-east after turning 225° anti-clockwise.
What direction was she facing at first?

(1) North
(2) South
{3) South-east
(4) North-east

Q6. The figure shows a semicircle of radius 21 cm.

Find the perimeter of the figure. (Take = -2_/3)

(1) 66cm

(2) 87cm
(3) 108 cm
(4) 174 cm



Q7.

Q8.

Q9.

Which of the following is the same as 20kg 8g 7

(1) 20.008 kg
(2) 20.08 kg
(3) 20.8kg
4) 2.08kg

Find the sum of all the factors of 64.

(1) 62
() 93
(3) 127
4) 135

Which of the following statements about the angles in the figure are true?

\ 4

A Za=sr
B. £zb= /s
C. 4s=/Lc
D. Zs=4q

(1) AandBonly
(2) AandDonly
(3) A, BandConly
(4) A,BandD only



Q10. Study the following table carefully.

Q1.

3

4

10 11

15 14 13 12

Which column will the number 71 appear in?

(1) A
(2) B
@) C
(4) D

Guan Ming has 3 empty bottles J, K and R. He poured an equal amount of
milk into each of them. As a result, 50% of J was filled with milk, 25% of K was
filled with milk and 75% of R was filled with milk.

What is the ratio of the capacity of Bottle J to Bottle R to Bottle K?

(1) 1:2:3
(2) 2:3:1
(3) 3:2:86
4) 3:6:2



Q12. The figure is made up of a square and an oval.
The ratio of the area of the square 1o the area of the oval is 2 : 3.

The shaded area is % the area of the oval. The shaded area is 36 cm?
Find the area of the figure.

(1) 144 cm?
(2) 216 cm?
(3) 324 cm?
(4) 360 cm?

Q13. The original price of a box of cookies was $m. Aunty Loh bought a dozen such
boxes of cookies. She was given a discount of 50 cents for every 2 boxes
bought. How much did she pay for the boxes of cookies altogether?

(1) $®m-3)
(2) $(6M+3)
(3) $(12m-3)
(4) $(12m + 3)



Q14. Jonathan read 3 books in 2 hours. He spent 15 minutes longer to read the
first book than the second book. He spent the same amount of time to read
the last 2 books. How many minutes did he take to read the first book?

(1) 30 min
(2) 35min
(3) 45 min
4) 50 min

Q15. Which of the following fractions is closest to iﬁ ?

(M
()

7
8
1
2
@® 3
5

@ 1
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Questions 16 to 20 carry 1 mark each. Write your answers in the spaces provided.
For questions which require units, give your answers in the units stated.  [5 marks}]

Q16. Find the value of 49.14 + 7

Ans :

Q17. Express 0.5% as a fraction in the simplest form.

Ans:

Q18. The table below shows the number of books read by each pupil in a class
of 28 pupils. One of the numbers in the table is covered by an ink stain.

Number of books read by each pupil 12

Number of pupils 8 20

The average number of books read by the pupils in the class is 10.
What is the number covered by the ink stain?

Ans:




Q19. A bottle contains 1.05 litres of water. Wendy pours 300 ml of water from it into
a cup. How much water is left in the bottle?

Ans: ml

Q20. Inthe square grid,

v

/

(a) Point is West of Point D.

(b) Point is South-West of Point E.

Ans: (@) Point

(b) Point




Questions 21 to 30 carry 2 marks each. Show your working clearly in the space
provided for each question and write your answers in the spaces provided.
For questions which require units, give your answers in the units stated. (20 marks)

Q21. What is the missing number in the box?

+2 x 30 + (200 - 90) = 320

Ans:

7 :
Q22. s of Christy’s spending is equal to = of Kelvin’s spending.

What is the ratio of Kelvin’s spending to Christy’s spending?

Ans;

Q23. The figure below shows 2 semicircles. EG is 34 cm.

Find the perimeter of the figure. Leave your answer in terms of 1.

E Fl«—20cm—| G

NI

Ans: cm




Q24. The bar graph below shows the number of cakes produced by ABC Bakery in
5 months.

Number of Cakes

Jan April May

‘ 1
In which month did the bakery produce 3 of the total number of cakes
produced in the 5 months?

Ans:




Q25. Ming Lei drew three rectangles to form a figure. The areas of the rectangles
were in the ratioc 3 ;5 : 18. She then shaded some parts of the figure as

shown. What fraction of the figure was shaded?

Express your answer in the simplest term.

Ans:

Q26. 186 students were assigned to line up in a row from one end to the
other end of a corridor to welcome parents to a school event.
They had to stand at an equal spacing of 1.2 m apart.

On the day of the event, 5 of the studer did not turn up.
As a result, the remaining} students had to line up from one end to
the other end of the corridor at a new equal spacing.

What was the new spacing between 2 students?

Ans:




Q27. A school bus can carry 24 aduits or 32 children.
There are already 9 adults and 11 children on the bus.
How many more children can the bus carry?

Ans:

Q28. The following figure, not drawn to scale, is made up of a square, a
rectangle and 2 identical triangles. AB and CD are straight lines.
Find the area of the figure.

@0&

3em

N
Q
~ 3
O > 4——pT

Ans: cm?




Q29. Mr Tao saved 40% of his salary. When he increased his savings by 20%,
he would have $400 less to spend. How much was his salary?

Ans: $

Q30. Nora bought a packet of milk for $0.85 and a banana muffin' for $1.40.
She gave the cashier a $5 note. She received her change all in coins.
What is the least number of coins Nora would have received?

Ans:

- END OF BOOKLET B -
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Questions 1 to 5 carry 2 marks each. Show your working clearly in the space provided
for each question and write your answers in the spaces provided. For questions which
require units, give your answers in the units stated. (10 marks)

1. Peter and James were usually given $58 altogether for their weekly pocket
money. As James needed money for new books next week, he asked for

$19 more. As a result, he would have % as much money as Peter.
How much was Peter's pocket money?

Ans: §

2. There were 34 red candies and 18 yellow candies in a jar.
An equal number of red and yellow candies were removed from the jar.
The ratio of the number of red candies to the number of yellow candies
became 5 : 1. How many red candies were there in the end?

Ans:




Melissa is able to type 45 words per minute. She was tasked to type a
document of 30 pages. Given that the average number of words on each
page was 450 words, how many hours will she take to complete her task?

Ans: h

Mr Wong is 46 years old now. His son is n years younger than him.
Find, in terms of n, their total age in 3 years’ time.

Ans: years




5. in the figure below, ABC is an equilateral triangle with AB = BC = CA.
Given £ ABD = 21° and £ ADE = 44°, find £ BDE.

c

Ans:




For questions & to 17, show your working clearly in the space provided for each
question and write your answers in the spaces provided.

The number of marks available is shown in brackets [ ] at the end of each question or
part-question. [45 marks]

8.  Inthe figure below, not drawn to scale, ABCF is a rhombus and BCD is an
isosceles triangle. £ ABE =39° and £ BCF = 128°.

(a) Find £ AFC.
(b) Find £ FCD.

39°
128°

Ans: (@) LAFC = [1]

by «FCD=_ P




7. The bar graph shows the number of cars owned by families in a neighbourhood.

400
350 77
300 %
Nuzber 250 = j/
Familes 5o | / /
100 A %’ = ’/? , _
50 . _ V/{ —
, = — — —
0 1 2 3 4

Number of Cars

(a) How many families have less than 2 cars?

(b) From the families who own at least 3 cars, what fraction of them
have 4 cars? Give your answer in the simplest form.

Ans: (a) e (1]

®) _, : (2]




In a school, 60% of the boys and 40% of the girls wear spectacles.

The number of boys and girls who wear spectacles is the same.

For the boys and girls who do not wear spectacles, the number of girlsmove
outnumbered the number of boys by 50. How many girls are there?

Ans:




in the diagram below, PQR is an equilateral triangle and PTR is an isosceles
triangle. QS is a straight line. QSL PR and £ QTR =121°,

Find
(a) < 1TRP
(b)y <«£QPT

Ans: (@) ZTRP= ‘ 121

(by £QPT= 2]




10.

At first, the number of strawberries that Roger and Darren had was in the
. 1 . . L
ratio 5 : 7 respectively. Roger gave z of his strawberries to his sister and

Darren ate 35 of his strawberries. In the end, Roger had twice as many

strawberries as Darren. Find the number of strawberries Darren had at first.

Ans: [3]




11.

In his demonstration on the art of tea making, John first poured some tea
from a pot into an empty cup.

The amount of tea in the cup is;} of the amount of tea left in the pot.

For the second step, he poured 20 ml of milk into the cup.
Finally, he poured 50 ml of tea from the pot into the cup.

The final amount of liquids in the cup was % of that left in the pot.

(@)  Find the total amount of milk and tea added from the second and
final steps.

(b)  Find the original amount of tea in the pot.

Ans: (a) 1]

(b) [3]




12.

Triangle T is drawn by joining dots on the square grid below.

(a) Draw a right-angled triangle with the same area as Triangle T.

Label the triangle R.

(b) Draw a parallelogram with twice the perimeter as Triangle T.

Label the parallelogram P.

(1

[2]

(c) [1]
The following statement is either true, false or not possible fo tell Not possible
True False fo tell

Puta v inthe correct column,

The area of P is twice the area of T

10




13.  Study the following figure.

A

ABCD is a square and the area of the circle-is 200.96 cm?. (Take = 3.14)

(a) Find theradius of the circle.
{b) Find the length of the arc AB.
(¢) Find the area of the shaded triangle BCD.

Ans: (a) f2]
(b) ‘ [1]
(c) [1]

11



14.

The line graph below shows the number of residents in Town A and Town B
who are involved in a recycling project from Year 2000 to Year 2020.

Town A Town B

70 70
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Number of Residents (Thousand)
N
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- o )
1995 2000 2005 2010 2015 2620 2025 18985 2000 2005 2010 2013 2020 2025

Year Year

o

(@) Inwhich year(s), were there more residents involved in the recycling project
i Town B than in Town A?

(b) For Year 2025, the number of residents in Town A who are to be involved in
the recycling project are expected to increase by 25%. Find the number of
residents in Town A who are expected to be involved in Year 2025.

(c) What is the percentage increase in the number of residents in Town B who
are involved in the recycling project from Year 2000 to Year 20207

Ans: (a) {1
(b) [1]
{c) [2]

12



15.

The total age of workers in a restaurant is 256 years.

The average age of the oldest worker and youngest worker is 41 years.
The average age of the rest of the workers is 29 years.

Find the total number of workers in the restaurant.

Ans:

{27

13



16.  Aaron uses circles and triangles to form figures that follow a pattern.
The first four figures are shown below.

A OA® OABA  OADAOD
AO AGA ABAOG  AOAOA
OAO OAOA OAOAO

AGA®  AOAOA

OAOAD

Figure 1 Figure 2 Figure 3 Figure 4

(@) Complete the table for Figure 5 and Figure 20. [2]

Figuré Number 1 2 3 4 5

Number of triangles 2 4 8 12

Number of circles 2 5 8 13

Total number of

triangles and circles 4 g | 16 25 38

(b)  Find the Figure Number of the pattern that has a total of 729 triangles
and circles.

(c)  Find the Figure Number of the pattern with 840 triangles.

Ans: (b) Figure {1]

{oFigure 2]

14



17.

The following solid figure was formed using ten 2-cm cubes.
The exterior of the solid figure (including the base of the solid) was painted.

{a) Find the total painted surface area of the solid figure.

{b) If the 2-cm cubes were taken apart, how many faces of the cubes
were not painted ?

{(c) More cubes were added to form a big cube.
What is the least number of 2-cm cubes added ?

Ans: (a) 12
{b) 1
{c) 12]
End of Paper 2
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Q28) (4+3=7
2x7=14
1
~2—x4x3=6
6x2=12
5x5=25
25+12 +14 =51
Q29) | 5000
Q30) | 5
PAPER 2
Q1) | 58+19=77
77 +7 =11
11 x4 =%44
Q2) |5-1=4
5+1=86
4units = 16
1units = 16

1unit=16+-4=4
S5units=5x4=20

Q3) | 3500+ 45 =300
300+60=5

Q4) |46 —n=46-n
4-n+46+6
=46+46+6-n
= (98-n)

Q5) | .DEA=180°-44"-60°
=76°

<DEB =180°-76°
=104°

«BDE =180°-104°-21°
= 55°

Q6) | LAFC=180°-128° = 52°
+CBD=52°~-39°=13°

£BCD = 180° - (13°+13°) = 154°
£FCD =154°-128° = 26°

a) 52°
b) 26°
Q7) | 190 + 360 = 550
120 + 40 = 160
40 20 2 1
160 80 8 4
a) 550

Pg2




b1
)4

Q8)

Boys
6:4

9-4=5
5u = 50
1u=10
10 x 15 = 150

150

Girls
6:9

Q9)

£PTS=180°-121°
= 59°
2TRP =180° - 59° - 9Q°
=31°
£TPR= £TRP
=31°
2QPT=60°-30°
=29°

a) 31°
b) 29°

Q10)

5 units = 35
1unit=7
7 units = 49

49 strawberries

Q1)

3 X ( 1unit + 70 ml) = 4units — 50 ml
3units + 210 ml = 4 units — 50 ml

1 unit = 260
5 units = 1300 ml

a) 70 mi
b) 1300 ml

Pg3




Q12)

a) b) \ N

c) False

Q13)

a) 8cm
b) ;x3.14x 16 = 12.56

c)%x8x16=64»cm2

Q14)

a) 2020

b) 1o x 60000 = 75000
5200
¢) T 2 100% = 520%

Q15)

41x2=82
256 - 82 =174
174 +29=6
6+2=8

Q16)

a) 18 220

18

441

b) 26
c) 729 = 27 x 27
27 —1=26
840 + 841 = 1681
1681 = 41 x 41
41-1=40

Q17)

a)4x42=168
b) 18 faces
c) 17

Pga
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